IVR I y Report No.:2105TW0602-U5

Radar Type 4 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5490.4 1 16 5504 0
2 5496 1 17 5496 1
3 5499 1 18 5504 1
4 5492 1 19 5508 1
5 5494 0 20 5500 1
6 5508 1 21 5494 1
7 5509 1 22 5491 1
8 5500 0 23 5491 0
9 5501 1 24 5493 1
10 5508 1 25 5492 1
11 5499 1 26 5508 1
12 5492 1 27 5503 1
13 5507 1 28 5504 1
14 5495 1 29 5502 1
15 5505 1 30 5509.6 1
Detection Percentage (%) 86.7%

Note: In addition an average minimum percentage of successful detection across all four Short pulse radar test

P1+P2+P3+P4 _
4

waveforms is as follows: (100%+66.7%+73.3%+86.7%)/4 = 81.7 % (>80%)
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‘ Report No.:2105TW0602-U5

Type 1 Radar Statistical Performance

Triam xa el %EE?E ERET  Coa=xX Heho= ofF T
e o T = 1 1.0 TSsSs. O =) S3S0o0s0. O
R ey 1 Toe = 1 1.0 ==, O == SSzo=. O
T owad o aa = T = 1 1o e==. o == S=o=a_o
D owal o=l = Tope= 1 1.0 = =] == S=T34. O
D owrxl o= e T = 1 1.0 STsS. O == SS1Ta. O
e = T = 1 1.0 255 0O = SSaEss. O
IO el = o= = T = 1 1.0 S1=. O 10= s=sss. O
T owad o aa - T = 1 1o T==. o = ==1=e_o
D owal o=l = Tope= 1 1.0 == ss S=S=aa. o
D owrxl o= = T = 1 1.0 SS5. O =s SSsa=. O
e 10 T = 1 1.0 sSsSs. 0O B= S3=19a. O
P e 11 T = i 1.0 =1=. O == S=1iTo. o
T ownd o aa 1= Ter= 1 1o o= o e S=oa=_o
D owral o=l 1= Txp = 1 1. O Tas. O =T SSass. O
D owrxl o= 1= T = 1 1.0 BSs. O S SSsas. O
e 1= T = 1 1.0 1s39. 0O =9 1. O
P e 1= T = i 1.0 === O 19 s=FeTs. 0
T ownd o aa P Ter= 1 1o isi=. o BT S=vo=_o
D owral o=l 1= Txp = 1 1. O 1o=a. O s= SSase. O
D owrxl o= 1= T = 1 1.0 1=s7T. O “S= S=S=14. O
e =0 T = 1 1.0 1v==_ 0O =1 - o
P e =1 T = i 1.0 =721 . O 19 s=0o=9. O
T ownd o aa == Ter= 1 1o ceos. o =0 S=ooo. o
D owral o=l == Txp = 1 1. O Els == =] 1= Sassa. O
D owrxl o= == T = 1 1.0 1170 O S SSss=0. O
e =5 T = 1 1.0 =5as . O == Saal1s. O
P e = T = i 1.0 ==ss. O =1 sEsss. O
T ownd o aa = Ter= 1 1o ===0. o =a Sar=o_ o
e e e == Txr= 1 1.0 1ass. o = =Ssas. o
D owrxl o= = T o = 1 1.0 P e =] =7 SasS=4. O

Type 2 Radar Statistical Performance

5 Radar gl =e Humber of | Naveform
Traial Id Tope tld;h FPREEL C(u=) Poloe= Length
o= o=
Download [u} Trpe= = 1.1 193. 0 =] 4439, 0
Download 1 Tepe = 1.1 1990 23 ASTT. O
Download = Trpe = =0 209, 0 == SaE4. 0
Download = Tyvpe = 4.4 20z. 0 28 SE5E. 0O
Download E Trpe = z. 68 Z07. 0 25 S1TS. O
Download = Trpe= = 3.1 225, 0 =1=3 S=50. 0
Download e Tepe = 1.6 187.0 ==} 4S45. O
Download T Trpe = Z.1 180. 0 =1 F=40. 0
Download a Tyvpe = 2.3 1868, 0 25 4150. 0
Download a Tepe = z. 4 4.0 25 SEO0. 0O
Download 10 Trpe = 1.3 17T1.0 28 ATSE. O
Download 11 Tope = 3.4 180. 0 27 4g6e0. O
Download 1z Trpe = 1.6 226, O j=3=} BS54, 0O
Download 13 Trpe= = .4 17T4.0 27 4895, O
Download 14 Tepe = 5.7 ZES. 0 2T B1SE. O
Download 15 Trpe = 4.4 Z0s. 0O 28 ST40. 0O
Download 15 Tyvpe = 2.7 157.0 ==} 4052, O
Download 17 Tepe = E] 2035, 0O 28 SESd. 0O
Download 15 Trpe = 1.5 182. 0 23 43Fz4. 0O
Download 19 Tepe = 5.9 159. 0 2T S103. 0
Download =0 Trpe = 5.0 Z18. 0 j=3=} BE3Z=. 0
Download =21 Trpe= = z.0 223, 0 =1 s352. 0
Download 2z Tape = 1.5 1870 25 4301 . 0O
Download 23 Trpe = .4 182. 0 27 4914, 0O
Download =1 Tyvpe = 1.7 198. 0 =1 4TSE2. O
Download 25 Tepe = 4.9 1830 za SI0T. 0O
Download 26 Trpe= = z.9 215. 0 =1=3 sS590. 0O
Download =T Tepe = .= Z1z. 0 =8 S51z2.0
Download ==} Trpe = 1.5 185. 0O =1 F9E0. O
Download 29 Trvpe = 5.0 194. 0 =29 SEZE. O
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Type 3 Radar Statistical Performance
Trial Td ¥;_‘;:r Eﬁf; PRT C(a=s) Huomber of :::;f]‘:r-
= [ X0
Downdl oad [m] Terpe S [ = 4030 156 ES44 0O
Downd oad 1 Twpe= = E.1 4470 1E TiSZ. 0O
Downdload = Trpe = T. T =41 . 0 17T 4097 . 0O
Deownd oad = Tewpe = L= A Z11. 0 1= ZTa=. 0
Downdload £ 3 Tepe = T.6 =ZS51.0 17T SQ=T. 0O
Downlaoad = Terpe= = =01 4=0. 0 17T T=Z10. 0
Downd oad [=] Trpe = 9.6 =Z27T9.0 1 SOozZ=z. 0O
Downlaoad T Terpe= = T. 1 Z=g99. 0 156 a4TsE4. O
Downd oad = Twpe= = T.3 =240 17T S50 0O
Downdload k=1 Terpe S T. 4 SO0 O 17T S500. 0O
Deownd oad 10 Twpe= = b= 405 0 1= TZOO. O
Downdload 11 Tepe = S04 =56, 0 17T 401=_ 0O
Deownd oad 1= Tewpe = b= = 400, 0O 1= TZOO. O
Downd oad 1= Trpe = S04 ZZ0. 0 17T ST40. O
Downlaoad 1 Terpe= = =.T =a=.0 17T EE=Z1. 0
Downd oad 1= Trpe = 9.4 Z27TZ2.0 1 45395 O
Downdload 165 Terpe S T.T 4T6E. O 17T SO09=_ 0O
Downd oad 17T Twpe= = b= SO0, 0 1= QOO0 O
Download 15 Trpe = B S 45390 156 TSE4. 0O
Deownd oad = Tewpe = =.3 =10.0 1= SSsE0. 0
Downdload =0 Tepe = 10. 0 405, 0 15 TS44. O
Downlaoad =21 Terpe= = 7.0 ZEsS. 0 156 a4==s5. 0
Downd oad == Trpe = 5.5 4565, 0 1a TASE. O
Downlaoad == Terpe= = sS4 4=5. 0 1T TE=TE. O
Downd oad =4 Twpe= = BT Z5Z2.0 1E 40==2. 0O
Downdload =75 Terpe S 9.9 =54 0O 15 457T=. 0O
Deownd oad 265 Tewpe = T.Q 2540 17T =TS0
Downdload =T Tepe = S, = =95, 0 17T SOsE. O
Deownd oad =25 Tewpe = [= = Z98. 0 1E ATIE. O
Downd oad =9 Trpe = 10. 0 455, 0 1 TSSO, O
Type 4 Radar Statistical Performance
Trial Td %;::r vt FRT Ca=) pomber of :::;f]:r-
(as) [T
Downdl aad (] Trpe 4 11. 4 409, 0 1= 4905, O
Downlo=ad 1 Trp= 11. = 447 . O 1= 53540
Downd aad = Txp= <1 14. 9 =Z41. 0 14 ==ET4.0
Downl oad = Trxpe= -4 15. 5 =11. 0 158 SSTE. O
Downdlo=ad -1 Trpe= - 14. 5 =Z=1.0 1= SIoo=. 0
Downdl aad L= Trpe 4 15. 5 450, 0O 14 BE0zZ0. 0
Downdl aad (=] Trpe = 19 .0 =790 16 4454 0O
Downd aad ' Twp= -1 1= 5 Z99. 0 1= =FE=ET. 0
Downl oad E=1 Trxpe= -4 14. 1 S=4.0 15 4=1=.0
Downlo=ad k=1 Trp= 14. 1 Soo. O 1= [=1= mim e
Downd aad 10 Txp= <1 1=, 4 405 . 0O 18 E4=0. 0
Download 11 Trpe -4 16 4 =380 14 53304 0O
Downd aad 1= Twp= -1 19,0 400, O 18 E400. O
Downdl aad 1= Trpe 4 15, 4 ZZ0. 0 1= SSoo. O
Downdl aad 14 Trpe = 17T . O a5 0 15 55495 0
Downd aad 15 Txp= <1 1=5. B ZTZ.0 18 4=5=. 0
Downl oad 15 Trxpe= -4 14. 9 4TS, O 14 BEE54. O
Downlo=ad 17T Trp= 1=, 4 Soo. O 15 Sooo. O
Downd aad 1= Txp= <1 1=. 1 453 . 0 1= EEES. 0
Downdl aad 19 Trpe = 17T . 4 =100 15 45500
Downd aad =0 Twp= -1 1i9a. 49 A0s. 0O 18 EEZE. 0
Downdl aad =1 Trpe 4 1= = ZES. 0O 1= S4aS4. 0
Downlo=ad == Trp= = 1=. 1 a4sE. O 1= SS9z 0
Downd aad == Txp= <1 1. 4 450 14 [=e=1= =g
Downl oad =41 Trxpe= -4 1= 5 =5=z.0a 1= S0=4. 0
Downlo=ad 25 Trp= 19. 7T =Z==4. 0 15 40540
Downdl aad =56 Trpe 4 15. = =254, 0 14 SETE. O
Downdl aad =T Trpe = 16 0 =as. 0O 14 417T=_0O
Downd aad =5 Twp= -1 1= 7T Z9s. 0 1= =ESZ. 0
Downdl aad =9 Trpe -4 1i9a. 9 4550 15 Ego50. 0O
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Report No.:2105TW0602-U5

Radar Type 5 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5500 1 16 5497.6 1
2 5500 1 17 5494.8 1
3 5500 1 18 5497.6 1
4 5500 1 19 5493.2 1
5 5500 1 20 5496.8 1
6 5500 0 21 5501.6 1
7 5500 1 22 5506 0
8 5500 1 23 5506.8 0
9 5500 1 24 5504 1
10 5500 1 25 5506.8 1
11 5497.6 1 26 5501.6 1
12 5496 1 27 5504.8 1
13 5498 1 28 5504.4 0
14 5496 1 29 5506.4 1
15 5496.4 1 30 5501.6 1
Detection Percentage (%) 86.7%
Type 5 Radar Waveform_1
Bur=t Pulse El_:tirp Humber of
Dff=et ¥idth (as) ¥idth Fulses per |FRI-1 (us) (FRI-2 (us) [FRT-3 (us)
(=) (MHz) Burst
433493.0 52.3 5 1 1919.0 - -
T4T0L5.0 51.49 5 1 1565.0 - -
1159494 0 T1.5 5 g 1269.0 1505. 0 -
25364.0 82.0 5 3 1399.0 1144.0 1935.0
3554710 B9. & 5 2 1907. 0 1046. 0 -
T51773.0 Th. 4 5 2 1365.0 1147.0 -
1113644, 0 94.2 5 3 1332.0 1070.0 1330.0
1475952, 0 B4.0 5 1 1699. 0 - -
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Report No.:2105TW0602-U5

Type 5 Radar Waveform_2

Burst Chirp Humber of
T Pulse Wid _ _ _
et - idth Fulses per (FRI-1 (us) [FEI-Z (us) |FRI-3 (ux)
¥idth (u=)
(ux) (MHz) Burst
3437750 BT.0 5 2 1505, 0 1322.0 -
TOB301.0 BT.6 o i 1125.0 1671.0 -
1063131, 0 q1.2 5 3 1074, 0 1654.0 12534.0
14323420 79.9 o 2 1754, 0 1250.0 -
2987683.0 94 4 5 3 1241.0 1925. 0 1094.0
BEZ156. 0 a0, 1 o i 1440, 0 153935.0 -
1024730, 0 g3.3 5 Z 1786, 0 1834.0 -
15387597.0 Q2.3 9 3 1095, 0 1035.0 1542.0
Type 5 Radar Waveform_3
Burst Fal Chirp Homber of
Offset '.dfﬁ (a=) |Fidth Fulzexz per |[FREI—1 f(us) |[PRI—2 (u=s) |[PRI—3F (u=)
(o= * o (MHx) Bur=+t
1S6134. 0 TL.T 11 z 1971.0 1957.0 -
379092, 0 0. 9 11 3 1513.0 1155.0 1173.0
E03T41. 0 SE. S 11 1 1238.0 - -
G24529. 0 85.5 11 3 1z12.0 1226.0 19068, 0
128611, 0 991 11 3 1008, 0 1997.0 1381. 0
352542 0 BZ. 5 11 1 1459.0 - -
STE105. 0 S6. 3 11 1 1393. 0 - -
T95599. 0 3.9 11 z 1509. 0 1087.0 -
101520, 0 4.0 11 1 1175. 0 - -
323704, 0 7.9 11 3 17468, 0 1813, 0 1602, 0
S4T22T. 0O T3. 8 11 Z 1TEZ. 0O 1885, 0 -
TT1315. 0 T7.9 11 z 10640 1272.0 -
T3971.0 5a. 8 11 1 1264.0 - -
Type 5 Radar Waveform_4
Bor=1i Pol=a Cyirp Homber oif
?£:§et Width (o=l 1;&:? ;:1::5 e FRYT—1 o= PFPRYT—2 o= FRT—3 Ca=<2
213505, 0 99 4 15 =] 17T=9. 0 1050, 0 14950
ITEOLIG. O =25, T 15 1 15150 - -
SESE4ATE. O TO. S 15 = 15550 10493 0 -
FIZ4S=. 0 S5, T 1= 1 1=Z47. 0 — —
1394345 0 T, = 15 =2 1530 0 16140 —
55443520 aQT. T 15 =] 11540 16550 156540
S14655. 0O a6, S 15 =S 145, O 16550 199, 0
13515, 0 (=1 = 1S = 12550 11150 —
174387 0O eBz. 9 1= 1 145 O — —
335455, 0 S51.1 15 = 1956&. 0 11540 -
497555, 0 [=1 = 15 1 15540 - -
BEST491. 0O TT. < 15 = 15110 15410 -
1550770 BE. & 1= 1 1540 0O — —
Fl4a9==. 0O Q7. T 1= = 1es=. 0 1TE=2. 0 10==. 0
ATTASZ. 0 B30 15 1 153950 - -
BITETS. O TS, 6B 15 = 14340 1445 0 -
1535S2Z7TS. 0 Bl1.5 15 1 115, 0 - -
ZaSliez. 0 Qz. = 1= = 1Ti9. 0O 1=Z91. 0 14750
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Report No.:2105TW0602-U5

Type 5 Radar Waveform_5

Bur=st Pal Chirp Homber of
Off=set 'idf; (as) |Fidth Fulzex per [PRI—1 (ux) |[PRI-2 (us) |[PRI—3 C(u=)
(as) (MHxz) Buarst
BES1491.0 936 11 b 1945, 0 1789, 0 1931.0
S54949. 0 S4.7 11 b 1781, 0 1TET. O 1092, 0
153516 0O TT. 6 11 = 1791, 0 1380, 0 -
EEEE1E. 0 541 11 1 1740, 0 - -
BOS419. 0 a5, T 11 b 155T. 0 1065, O 1017.0
SEOEET. 0 T5. 4 11 = 1404, 0 12685, 0 -
1319558, 0 53,6 11 b 1549, 0 1195, 0 1157. 0
E5SEE4. 0 Ti.& 11 = 119z. 0 1TE4. 0 -
STT449. 0 89. 8 11 | 1159. 0 1750. 0 1531.0
S00S515. 0 a5, T 11 | 1104. 0 1756. 0 1270. 0
104374, O Q1.7 11 | 1511.0 1495. 0 1741.0
F2TEQL. 0 s2.49 11 = 1520. 0 1562, 0 -
550799, 0 T1.T 11 = 1326. 0 17390. 0 -
Type 5 Radar Waveform_6
Buor=t Pal Chirp Haomber of
Off=et 'idf; (as) |Hidth Ful=e=s per |[FET—1 (u=) ([PRT-2? (u=) |PRIT—3 (u=)
(o= (MH=x] Buarst
T1OBGE. O 5= 5 13 1 1672, 0 - -
TigQo. O BE. S 13 1 1472, 0 - -
STO1TS. O 54 = 13 1 100, 0 - -
ARSSOS. 0 BT.T 15 = 1505, 0 11680 0 -
Bod49l. 0 Bl.5 13 1 1z01.0 - -
4B091 . O TO. = 15 = 1051. 0 1076, O -
ZEE1SE. 0 T4, 2 13 = 1730, 0 1436, 0 -
AB1Z16. 0 BS. 1 15 1 1405, 0 - -
BETSOS. 0 Sz, 4 13 = 1774. 0 1234. 0 -
Z04a0. 0 6. 6 13 b 1559, 0 1457, 0 1630, 0
ZEE1TO. 0 Bl.5 13 1 1151.0 - -
AFSE05. O S5, T 15 1 1503, 0 - -
BASO0E. 0 o=l 13 1 1BE3. 0 - -
S4TE95. 0 a0, = 15 i 1591. 0 1998, 0 1z50. 0
Type 5 Radar Waveform_7
Bor=+t FPol = Chirp Homber oif @ 7 . 7 @ 7
Off=e+t = Wadith Fol se= -1 FRT—1 o= FRIL—Z=2 o= FRYT—3 o=
Ca=2) Widrh Co=) |y Bar=t
14904=. 0O S5S.0 19 1 1554, 0O - —
FIO10=1. 0 S22 hR=] = 159=. 0 1515, 0 —
4551135 0O B4 S 19 1 1015 0O — —
BEO4535 . O 3. 4 hR=] = 150=. 0 1710, 0 107=. 0
1=Z0254. 0 =1. = 19 1 17250 — —
251945, O ST. B 19 = 1174. 0 1145. 0 151=. 0
AZSSA0. O (== = hR=] 1 184=. 0 - —
SS5TS=4. 0O S0, = 19 = 1604 0O 1=11. 0 —
11095=. 0 = b =] hR=] = 152=. 0 17TOZ. 0 12510
ZESTS4. O Sz, = 19 = 1=27T9. 0 1S=7. 0 —
414512, 0O as. = 19 = 1325, 0 1a5S9. 0 199=_0
STOa1=s=. 0 =9, 1 =] 1 1=Zzz0. 0 — —
9Q==47. 0O a5 0O 19 =S 1=Zz/a1. 0 11=5. 0 1951 . 0O
244535, O T2, 1 hR=] = 1809, O 1Qz=7T. 0 —
ZasSsS=d4d. O =7T. 4 19 1 1154, O — —
S51014. O 5T.S 19 1 150G, O - —
TZE=09. 0 =1.1 =] 1 17T 0 — —
ZZS45S. O SS. 5 19 = 1=27T&S. 0 1505, O 19150
FITES0O9. O S0, 1 hR=] = 1=Z=1. 0 1275. 0 —
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Type 5 Radar Waveform_8

Buorst Ful=e Eyirp Homber of
Dffzet Width (as) Width Fulze=z per |[FPRTI-1 (ux) |[FRI-Z2 (u=z) (FRI-3 (u=s)
(a=) (MH=z) Bur=t
Q2OT26. 0 =1= pC] = 1 10z0. 0 - -
95020. 0 B3 T =l 1 19z0.0 - -
359254, 0 B61.1 =l 1 167TT.0 - -
B23330.0 B2 4 = 1 1399. 0 - -
SE6345. 0 g0.0 =l 2 1535.0 1419.0 -
BZ55T. 0 51.2 =l 1 1911. 0 - -
I2E931.0 Ea. z = 1 1053. 0 - -
559294, 0 87.3 =l 3 1635. 0 1312. 0 17T22.0
§55353615.0 T7. 1 =l b 1954. 0 1605. 0 -
Z00Z6. O Bl1.Z2 = 1 1851. 0 - -
2934320 95, 1 =l 3 1522.0 15585. 0 1129.0
Type 5 Radar Waveform_9
Buorst Ful=e [:l_lirp Homber of
Dffset Width Cus) Width FPulsexs per (FRI—1 (us) [PRI-Z2 (uxs) [PRI—3 (uxs)
(a=] (MH=z) Bur=t
S12080. 0 BS. 8 10 1 1119.0 - -
TS2135. 0 g5. 5 10 3 15020 1353593. 0 1117.0
QIZTZE. O 86. 5 10 ! 158558.0 158685. 0 1259.0
235883, 0 85. 6 10 3 1620.0 1934. 0 1932.0
4531182, 0 T5.5 10 2 1427.0 15839.0 -
TZ1905. 0 59. 4 10 3 1337.0 1545. 0 17T85. 0
4800, O T4. 9 10 b= 1953.0 13TE. 0 -
209953, O gz z 10 1 1524.0 - -
4506835, 0 0.5 10 i 1536.0 1526. 0 1256.0
EQ2135. 0 85. 3 10 3 1569. 0 1455. 0 1630. 0
936219. 0 BG. 2 10 1 1544.0 - -
150020, 0 TZ. 3 10 2 1415.0 1127.0 -
Type 5 Radar Waveform_10
Buorst Pul=e Cyirp Hamber of
Off=set Width (us) Width Ful=e=z per |[FRI-1 (u=) |[FRT-Z (u=s) |FET-3 (u=s)
(u=) (MH=z) Burs=st
421951. 0 T3, 1 10 b= 1471.0 1033. 0 -
BE3465. 0 T2 1 10 2 1816.0 1239.0 -
Q0S0TS. O TZ. B 10 2 16T3.0 1629.0 -
150405, 0 526 10 1 1306. 0 - -
91925, 0 TS 4 10 2 1334.0 1739.0 -
ES44T4. O 52,0 10 1 187T8.0 - -
8771740 5T 7 10 1 1165.0 - -
120384, 0 T4. 5 10 2 17358.0 1233. 0 -
361793, 0 85 4 10 3 1599. 0 1421.0 1023.0
BO3914. 0 T3. 0 10 2 1575.0 1526. 0 -
S45223. 0 TR T 10 2 1855.0 1501.0 -
07549, 0 S0, 4 10 1 1066. 0 - -
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Type 5 Radar Waveform_11

Bor s+ Pal=a Chairp Hombexr oif
Off=s=+% Width G 3 Waidth Fol=se=s per FRT—1 Loa=s) FREIT—2 = PFPRYT—3F Ca=x)
(o= * = (AH= ) Buar=1t
2211350 TE. & 1= = 1506, 0O 157T1.0 -
fei=h RE==i= ] a7T. 0 1= = 10710 10z9. 0 157TE. O
S4==40. 0 TO. O 1= = 16=21. 0 1504, 0 -
A04=5. 0 S, 3 15 = 1058, 0 17ToT. O 1000, O
ZOoOoge4. 0O = 15 = 17TT1.0 10z4. 0O 1745 0O
S&E147T0O. 0 Q5.0 15 = 15165, 0 14010 19T7=. 0
SZ4416. 0 B0, = 1= 1 1e50. 0 - —
ZOes4. 0 TS, 4 1= = 16T&. O 1041. 0 -
1S16850. 0 B3, 0 15 = 1557T. 0 14510 -
41486 0O a5 1 15 = 1595 0 13995 0 1236 0
S04=512. 0 BE. 5 15 1 196=. 0 - -
S1e. 0 9. = 1= = 1=00. 0O 1807 O 152, 0
1617T7T1. 0 T™=. 3 1= = 17T37T. 0 1=95. 0 -
IZ2TSeI. 0 59,3 1S 1 1=Z05. 0 - —
ASESE6. O a5 . T 1= = 1416. 0 1=27T&. 0O 1451. 0
B44450. 0O BS. 1 15 = 1=50=. 0 14=4. 0 -
14z000. 0O S3.0 1= = 1=Z57T.0 15180 —
SIO=45<4. 0 Q5.9 1= = 11T&. O 1=254. 0 1551. 0
Type 5 Radar Waveform_12
Baor=s+t r Chirp Homber ofF
Off=et '?ﬁf; Ca=) |Hidih Pulze=x per (PRT—1 (u=) [PRT—2 (u=) [PRT—3 (ux)
(o< b A (MH=z) Buor=+t
SSEZO03Z. O aG. 4 14 3 1550. 0 1z10.0 1475. 0
T4S164. O 4. 5 14 b 1EET. O 1531.0 1788, 0
148291. 0 a3,z 14 b 1435. 0 17a7. 0 17T25.0
SEOBREE. O Q1.4 14 I} 1407. 0 1100, 0 1177.0
S3Z4ATE. 0 5.0 14 b 1ZaT. 0 1731, 0 1153, 0
TES2TS. O an. 4 14 b 155T.0 iiai. o 15654, 0
123141.0 5T.3 14 1 11158. 0 - -
I15596. 0 =) 14 3 1354. 0 1445. 0 1594. 0
S0SE50. 0 g8z. 8 14 b4 1942. 0 1991.0 -
TOOS36. O 85. 3 14 3 1669. 0 1952. 0 1G@33. 0
QSg44. 0 B9, 4 14 b4 1909. 0 187T2.0 -
Z91945. O = 14 b 182z.0 1Z82.0 1029, 0
ABEBSE. O BZ. T 14 1 1383, 0 - -
BTTT4S. O az. @ 14 b 10S7.0 15T1.0 1970, 0
TSEZS. 0O BE. T 14 = izas. 0 1TSS, 0 -
Type 5 Radar Waveform_13
Bor=1 Fol=c Chirp Hombexr oif
DfFf=s=+4 Width » Waidith Pol=s=e= per FRET—1 Ca=s]) PFPRT—2 o= PRET—3F o=
Cax) * i (A= Bor=+it
11500, O S6. 5 19 S 1=17T. 0 1445 0O ia7To. O
IeESle=. 0 [=T==| 13 1 1z=7T.0 — —
S1aSS3a. 0O TS. & 19 = 1=7TsS. 0 1=7T=. 0 —
40552, 0 Ba. 3 13 = 15230 15==. 0 —
139z=53a. 0 Qo. 1 13 = 141=. 0 1TZE. 0O 1=Z15. 0
S4A=S55. 0 B0, 1 19 1 1490, O — —
4gdEI3ZE. O aT. =5 13 = 15=7T.0 15=4. 0 19z21. 0
Z1TA45. 0O TS. O 19 = 19=s. 0 1944 O —
174057, 0O ST. 9 13 =] 10s1. 0 104=_ 0 1515, 0
==2T=Z11.0 533 19 1 17T=0o. 0 — —
4TaS4S. 0O TS, O 13 = 105z 0 15700 -
ZIOos. O =S5, T 13 1 1z 0 — —
1S5S305. 0 T=. 9 19 = 1S7T5. O 1535, 0O —
SIOTS45. 0 S0, 3 13 = 13520 17TsT. O —
AE1BSS. 0O BE. 1 19 1 1=Z=1=. 0 — —
Bl4l109. 0O 55,35 13 1 1658 0 - -
1ZeZ93. 0 [=2=1ar 13 = 1290 12050 17T=s=. 0
=556193. 0 91. 6 19 S 11sS7T. 0 13550 15493 0O
433g94=. O ga. 5 13 =] 1915 0 190=. 0 149a. O

FCC ID: Q9DAPIN0655

Page Number: 52 of 184




1
AN
W

Report No.:2105TW0602-U5

Type 5 Radar Waveform_14

Baor=s+t Pol=e Cyirp Homber ofF
Offset Width C(as) Width Ful=z=exs per |[FRI—1 f(ms) |[FRATI—Z (u=s) |[FRI—3 (uxs)
(a=) (MH=) Bur=t
TSESE2. 0 T4 6 14 = 1Te0. 0 157T5. 0 -
149126. 0 53.9 14 =] 1554. 0 1504, 0 1544. 0
FASEEE. O 5T. = 14 1 1632.0 - -
SIES04z2. 0 85, = 14 = 137TS.0 1ST1.0 1=z90.0
TIO=T. 0 S59.0 14 1 15010 - -
1=56894. 0 T, T 14 = 1405, 0 144=. 0 -
Fl1a0s=z. 0 TT. S 14 = 1497. 0 1=z1i6. 0 -
S511527T.0 9353, 6 14 3 1T35. 0 1ia6. 0 1245 0
TOBSZ6. O B0, 1 14 1 15720 - -
101527T. 0 T™4. 9 14 = 1T51.0 1504, 0 -
295755, 0 55.9 14 1 1379.0 - -
455251 . 0 8523 14 = 15617.0 1TIGE. O -
BS1407T. 0 SZ. 1 14 = l46z. 0 1943, 0 -
TSOS1. 0 T, 4 14 = 1S5S, 0 1=314.0 -
ET1232.0 §53.0 14 = 1979. 0 15600 -
Type 5 Radar Waveform_15
Buoarst Pul=e Cyirp Haomber of
Off=ct Hedail (um=) |Hidth Pul=z=e= per |[PET-1 (us) |[PET—2 (u=s) |[PET—3 C(a=)
(a=] (MH=) Bur=st
4544=4. 0 SE. O 15 = 155T. 0 1TsT. 0O 14850
B15203. 0 S0. 3 15 1 1139. 0 - -
SO0535. 0 B5. 1 15 = 1950, 0 11070 -
2315585, 0 a5, 5 15 = 1400 10580 1591 0
412732, 0 Qz.9 15 =] 1455 0 1250 11450
Soz2332.0 85,8 15 = 19490 15330 1Ts5. 0
ZSoDao. 0 S0.S 15 1 1z07. 0 - -
ZOg9e3as5. 0 B9. T 15 = 1TsE. 0 123490 -
3915510 55.3 15 1 1250 - -
STOSSZ. 0 S50 15 =] 125310 19aT.0 19a0. 0
BZ215. 0 59,9 15 1 1440 - -
155959, 0 S, 6 15 =] 19150 106490 1a7T9. 0
SETITE. O 545 15 = 1i10=. 0 1555 0 1487T.0
S497T04. 0O BS5. 2 15 = 1050 1934. 0 -
TI1T3=Z.0 BE. T 15 = 10=7T.0 1111. 0O -
185135, 0 S0, 0 15 = 14z 0 1z2=. 0 -
Type 5 Radar Waveform_16
Bar=t Al Chirp Homber ok
Dffset Width Ca=s) Waidtih Polsesxs per FPRET 1 L= | FRIT 2 LT | FREEL 3 o=
Ca=) (MH ) Bor=st
FOTETZ. 0 TR, S 15 = 1=00. 0 1550 -
ABET4SIT. O a5, 1 15 = 1Tez. 0 1za0. 0 1S0e. 0
BEZ29325. 0 TG = 15 = 16390 104=. 0 -
125941 .0 [ST=Jec 15 = 13550 101=. 0 -
ZSTaS6. 0 S2.5 15 = 15355, 0 12510 -
44551 T. O T30 15 = 1s49. 0 1==3=. 0 -
B097TI=E. 0 TS. T 15 = 117o. 0 17Tas. 0 -
1059510 [S 1= 15 = 1414. 0 1SS0, 0 -
ZETEE3. O E= 1= = 15 = 1==25. 0 104, 0 1=z9s. 0
AZQE33. 0 [ 15 1 1=7T7T. 0 - -
Sa0ss1 .0 BE_ 5 15 1 1580 - -
SBasT. O ST. 4 15 ] 1457T. 0 11590 19410
Z45556. 0 SO, 0 15 1 155=. 0 - -
409603, 0O TS, 3 15 = 110z 0 10a0. 0 -
STO140. 0 T1. 0 15 = 1T4=. 0 l1149. 0 -
BT17TI3. 0 a5, T 15 b= 1674, 0 1&5=1. 0 1145, 0
Z25336. 0 =23 15 = 11=Z0. 0 1Tes. O -
FES1Z21.0 E= 1= =] 15 = 190z, 0 1s5&e. 0 117, 0
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Type 5 Radar Waveform_17

Bur=st Pal Chirp Homber of
Offset '.dfﬁ (us) |Hidth Fulsex per |[PRI—1 f(u=s) [PRI—2 (u=s) [PRI—-3F (a=)
[ ] * — (MH=x) Barst
TEREEE4. O a4, 4 11 3 1055. 0 11&82. 0 1457. 00
BEOOZ. O BS. T 11 1 1154. 0 - -
FESATS. O ST. 5 11 3 1244 0 1749, 0 17360
S10TS5. O a0, q 11 3 1955 0 1695, 0 1794. 0
TEESTE. O 95T 11 3 1519. 0 1704, 0 1946 0
FEEES. 0 aT. & 11 3 1659, 0 ZOo00. 0 1351. 0
ZR1G641. 0 T3 T 11 = 1410. 0 1204, 0 -
455261 0 B, = 11 1 1595. 0 - -
TOS934. O 52.0 11 1 1560, 0 - -
10530, 0 aT. 3 11 3 1031. 0 1924. 0 1449. 0
Z3EEE9. 0 Q9.1 11 3 1206 0 1660, 0 1492. 0
45RZ23T. O a5, 2 11 3 1962. 0 1297.0 16620
BTIS99. O 931 11 3 1062, 0 1030. 0 1910.0
Type 5 Radar Waveform_18
Bor=1 Pal=a C]_:l.irp Homber oif
IIE‘iii?et Width C(as) 'I'(;]d[;? gi::s e FRT—1 Cas) PRET 2 Cax] PREYT 3 oax)
BES17T3s. 0 TS, 4 15 = 105490 1542 0 -
145497T. 0 b= h I Y 15 = 1479, 0 1964 0 1TES. O
SIOogzZ1s. 0 95,0 15 = 11732. 0 1TOE. O 1910
4T1a0zZ. 0O Ta. = 15 = 1oz5. 0 1005 0 -
BEIOO0OZE. O ST. =2 1= = 1710 1=14. 0 1409, 0
129452 0 568 =2 15 1 15350 - -
=90s03. 0 =551 15 1 1454, 0 - -
4SZ00S. O S0, 1 15 1 1645 0 - -
B1347TT. O ST.0 15 1 1450, 0 - -
109268, O TE. & 1= = 197T=. 0 14=1. 0 -
ZEQS15. 0 Q5. & 15 = 1=235. 0 17T=Z0. 0 1974. 0
4S237T1.0 [=1= - 15 1 1=9z2. 0 - -
Sg1g949. O SO, <4 15 = 1568 0 135390 -
S9390=. 0 T2, = 1= = 1910 157T7T.0 -
ZE09=T. O B3. =S 1= 1 140, 0O - -
4115355. 0 [=1=1 = 15 = 1194. 0 11==. 0 —
ST3IO01S. 0 TE. 4 15 = 12z 0 10150 -
BaBS=. 0 BT. 0 15 = 1594 0 165z 0 -
Type 5 Radar Waveform_19
Burst Pulse Chirp Homber of
Offset Width (as) Width Fulses per |[FRI-1 (us) |[FRI-2 (us) (FRI-3 (us)
(=) (MHz) Burst
4RZTSE. 1 B 3 T 1 1793.0 - -
TSB145. 0 522 T 1 1034, 0 - -
1108235, 0 94 B T 3 1930, 0 1439. 10 1309, 0
Qu9Ee. 0 T3.4 T by 1825, 0 1478, 0 -
422915, 0 51.0 T 1 1990, 0 - -
T44495. 0 92T T 3 163610 1240.10 145210
10BBROE. O 89.0 T b 1T05. 0 1B27T.0 1271.0
BO1SS. 0O 96, 5 T ] 1579, 0 1258.0 1228.0
S0E9R4. 10 To. 4 T ? 1547.10 1200. 10 -
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Type 5 Radar Waveform_20

Bor=t Pual=ea Chirp Homber of
Dffzet Width ] Width Fulses per |[FET—1 (uox) (FET—2 (ox=) |[FRET—3 (ax)
o=l * o= (MH=) Bor st
IT1604. 0O =E-) 16 ] 1489, 0 177T2.0 19230
SASEES. O BS. & 16 = 1011. 0 1412. 0 -
107T9S. 0 TE. Q9 16 = 1953, 0 183T. 0 -
151336, 0 TE. S 16 = 1624, 0 1167.0 -
FS1TIO. 0 TO. S 16 = 1509, 0 1219.0 -
sSzOTs5.0 94, 4 ie = 1985, 0 ia44. 0 13450
BOZ496. O [=C=T 16 = 1713 0 1459, 0 -
159930, 0 1.1 16 ] 1652, 0 185T. 0 10140
FS011s5. 0 94,0 16 =] 155=. 0 1z4=. 0 15590
SOZ351. 0 551 16 1 1422, 0 - -
BTO4ZZ. O =1=Tr 16 ] 1544, 0 1859, 0 113520
13594z 0 3.5 16 ] 1744, 0 1651. 0 1340, 0
SIOD04SE. O 9. 4 16 ] 1535, 0 13TT.0 1697.0
AS0ZES. 0 TT. = 16 = 192z, 0 1026, 0 -
B4A9S05. O =9, 5 16 ] 1417. 0 18690 12220
115167. 0 ST, 5 16 ] 1083, 0 1365, 0 1255, 0
ZES1=E. 0 9.1 16 ] 1959, 0 10035, 0 1543 0
Type 5 Radar Waveform_21
Bar=t e Chiryp Huomber ok
gff=<x CETES aew Wideh Pul=e= per |PRI-1 (u=) |PRT—2 C(as) ([PRT-3 Ca=)
FEES13E. 0 =5, T =0 = 1511.0 11500 1904, 0
5353515, 0 S51. 56 =0 = 1256 0 1155 0 —
EEI ea. = =0 = 1305, 0 1830, 0 —
z=TIa9. 0 Ts. 5 =a = 1917. 0 1151. 0 —
ETI=Z=S. 0 &0, = =0 1 1ZS=. 0 — —
S15=52.0 g4 B =0 = 15=1._0 19=9._0 1=77T. 0
BaasE . 0 TS, 6 =0 = 1az0. 0 10910 —
09515, O =0, = =0 = 1825, 0 1Z90. 0 —
FSIS03. 0 S, 5 =0 = 16TS. O 117=. 0 11z4. 0
agT4ss. 0 az. 0 =0 = 1354, 0 1914. 0 17S=. 0
ABS4n. 0 an. 5 =0 = 1956 0 1am0. 0 1z08. 0
19z115. 0 1.5 =0 1 1E8S. 0 — —
FEIST=0. 0 az. 4 =a = 1545, 0 116=. 0 1959, 0
AaSZETL. O sz = =0 1 134z, 0 — —
=a04T . 0 an. = =0 = 1649 0 10s0. 0 19400
1TS447. 0O Q0. = =0 = 16815, 0 16ST. O 1Z19. 0
Z1ess5. 0 TT. S =a = 1947, 0 1661 0 —
aB4assT. O BO. & =0 1 1Z17.0 — —
1i1zan. o 1.5 =0 = 1499 0 1e@z. 0 —
1Se0sz. 0 =0, 1 =0 = 1598, 0 1415 0 —
Type 5 Radar Waveform_22

Burst Chirp Homber of

Fuolxse 5
Dffset . Hidth Fulses per |FRI-1 (u=s) |[FRI-Z (us) |[FRI-3 (u=)

Width f(a=s)
(as) (MHz) Burst
S49211.0 5001 =] 1161.0 - -
S1z801.0 TS, 1 =] 2 1112. 0 1Z66. 0 -
107TI65. 0 B4, 5 =] 1 1004, 0 - -
252207.0 B0. 9 =] 1 1510, 0 - -
515953T.0 g§l1.2 =] 2 1140.0 1432.0 -
TTI9ZE. 0 Bd. 5 a 2 1583. 0 10100 -
104510z, 0 B4 .5 =] 1 1315. 0 - -
219385, 0 TB. T a 2 1653, 0 1655, 0 -
45365T. 0 83,2 =] 2 103T.0 1122.0 -
T4ES06. O T4.49 =] 2 1TEG. O 1T14.0 -
101158352, 0 TS, 1 =] 2 1044, 0 1045. 0 -
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Type 5 Radar Waveform_23

Burst Pulze Chirp Homber of
Dffset Ridth (as) fidth Fuolze=z per ([FRI-1 (us) |[FRI-2 (us) |PRI-3 (us)
ns T nrzt
(us) (MHz) B
2PEEE5.0 o4, 8 T 1 1237.0 - -
550856, 0 g6. 6 T 3 1590.0 1245.0 10010
oT437TZ.0 B1.9 T 1 1491.0 - -
1197582.0 24,0 T 1 1829.0 - -
159106, 0 aT. 3 T 1 1141.0 - -
5113230 T8. 1 T z2 1T36.0 1635.0 -
§35299.0 02,49 T 1 1145.0 - -
1155330.0 g4. 3 T 3 1512.0 1425.0 17340
149135.0 T4.1 T z2 1346.0 1335.0 -
Type 5 Radar Waveform_24
OFFoet Eullee Wraih Podoer ofr |PRTI-1 (u=) |PRT-2 (u=) |[PRT-3 (u=)
23093, 0 51.3 14 1 1675, 0 - -
474951, 0 =T 14 = 1661. 0 1TE1. 0 1202. 0
EES029. O 85,7 14 = 1356. 0 1665, 0 1308. 0
ESE3S. 0 51,4 14 1 1545, 0 - -
2EET14. 0 Ti.0 14 = 18410 1665, 0 -
451353, 0 59,6 14 ) 1249, 0 1392, 0 1695, 0
B4BS04. O 516 14 1 1845, 0 - -
41789, 0 528 14 1 1400. 0 - -
SAGSER. O 59,4 14 1 1090, 0 - -
427130, 0 a3 0 14 = 1721.0 1879, 0 1580, 0
B2ET11.0 B1.6 14 1 1573, 0 - -
17935, 0 EE. 5 14 1 1115. 0 - -
£11429.0 55, 2 14 1 1546, 0 - -
A0S35E. O ST.Z 14 1 1z31.0 - -
SORTOE. O 9.0 14 ) 121&. 0 17120 1510, 0
Type 5 Radar Waveform_25
Burst Pal Chirp Hamber of
Offset ¥idih (as) |Width Pulses per [PRI-1 (us) |PRI-2 (us) [PRI-3 (as)
(as) * i (MHz) Bur=st
11532178.0 B0. & T 1 1933.0 - -
281332.0 BE. 5 T 2 1703, 0 1701.0 -
STZ388.0 5T. 4 T 1 1681.0 - -
g61050. 0 94. 4 T 3 1311.0 17T35.0 1343.0
1150651. 0 90. 5 T 3 1631.0 1745.0 1364.0
245780, 0 g0.0 T 2 1283.0 1268.0 -
535333.0 95.9 T 3 1233.0 1555.0 1655.0
825562. 0 aT7.1 T 3 1126.0 1339.0 1152.0
1117583.0 2.9 T 1 1945.0 - -
209549. 0 BT. 5 T 2 1570.0 17700 -

FCC ID: Q9DAPIN0655 Page Number: 56 of 184




AN

VT4

Report No.:2105TW0602-U5

Type 5 Radar Waveform_26

Bar =t rale— Chirp Humber of
?ﬁgﬁet WEidih Ca=) 1;::? ﬁ:iiis per |[PRT—1 (u=) |PRT—2 C(u=x) |[PEAT—3F Ca=s)
ZASSE85. O EERk =0 = 1525, O 1525, O 107TS. O
SO49SE. 0 55. 0 =0 1 1azs. O = =
S3S54T. O S0, 4 =z0 =4 1473, 0 17TE9. 0 =
S8E94. 0 93. 3 =z0 = 1137.0 1574. 0 1105. 0
25317Ta5S. 0 82.a =0 = 1355 0 1267T. 0 —
STTEZ4. O Bz, T =0 1 11z0. 0 — —
SZOTSS. O Ta. S =0 S 1598, O 18168, 0O —
ES994. O TE. S =0 =3 1435, O 1507, O =
2144135, 0O 5T. 4 =0 1 1325, O = =
S58T3I4. 0 TS. 8 =z0 =4 1532, 0 1252, 0 =
SO4B59. 0O S3. a8 =0 1 1501 0O — —
S1053. 0 az. s =0 a 1095, O 191=. 0 1SSE. O
198416, O B3. 3 =0 1 1BEE. O — —
SZO9S51. 0 Sa9. 9 =0 = 1S00. O 100, O 15935, 0
AS5A4541. 0O a1. 6 =0 = 1015, O 1595, O 153T. O
33EE1.0 57.9 =z0 =4 1999. 0 1374. 0 =
17TESEL. O 517 =0 1 159v. 0O — —
Az2558. O BT. 3 =0 = [= == 1986 0 —
ABE41S. O El=RE= =0 = 1485, O 1559, 0 1815. 0
15584, O B83. =2 =0 1 11950 — —
Type 5 Radar Waveform_27
Bur=t Fal Chirp Hamber of
Off=ct S St (ax) |Hidth Pul=e= per |[PREI—1 (u=) |[PRI-2Z (u=) [PET-3 (us)
(a=s) * = (MH=z) Bur=t
ZZ953T. 0 55. 5 12 1 1955.0 - -
43535954, 0 a6. & 12 = 1567T.0 1055, 0 1465, 0
B436ST. 0 3. 4 1z b= 1561.0 1155.0 -
S513554. 0 T3.0 1= = 1395, 0 1045 0 -
203424, 0 935, 4 12 = 157Ts. 0 12730 1s90. 0
4103552, 0 an. 5 12 <] 19260 10220 1327.0
513501, 0 TO. B 12 = 1347.0 1171.0 -
SZBIS0. 0 55. 6 1= 1 139z, 0 - -
1TE136. 0 93. 6 12 <] 1T1iT.0 10730 1097T.0
I55021.0 94 = 1= <] 190z 0 11060 100&. 0
593435, 0 524 12 1 15450 - -
TaSgg1l. 0 99. 3 12 <] 114=. 0 1460. 0 1253. 0
152554, 0 TH. G 12 = l4z9.0 113=.0 -
359530, 0 53. B 1z 3 1507. 0 100z, 0 1517.0
Type 5 Radar Waveform_28
Baor=s+t Pol=e Chirp Homber ofF
Dffset Width O 2 Width Pulses per |[FRT—1 (ms]) |[PRT-2 (u=s]) |[PRTI—3 (as)
(a=s) * o (MH=) Bur=+t
SZ2859T5. 0 ™. 3 135 = 17TTE. 0 153560 -
TZ23124. 0 ™. B 13 = 1224 10 1061. 0 -
1157T=0. 0 T1. 2 15 2 1517.0 1470, 0 -
SF1z5z25.0 51,5 13 1 1545, 0 - -
S05350. 0 TE. B 13 =2 1546. 0 1454. 0 -
B9g9139. 0 50,3 13 = 1195. 0 1i1a7T.0 -
4T3, 0 S6. 5 13 <] 1T47T. 0 13535, 0 15E6. 0
2587542, 0 b= 10 = 13 = 1650, 0 13500 1955. 0
452840, 0 s0.7T 13 1 1209, 0 - -
BET4917T. 0 TS, 4 15 2 14470 145=2. 0 -
Toggg. o 551 13 S 1732, 0 1=10.0 1635, 0
ZE435T. 0 BS. 2 13 =2 1759. 0 1554. 0 -
455705, 0 53. 5 13 1 1329. 0 - -
BS1096. 0 BT.S 13 = 1553, 0 1056, 0 -
4T452. 0 52T 13 1 1165. 0 - -
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Type 5 Radar Waveform_29

Bur=st Pol=e Chirp Hamber of
Dffset Width (us) Width Fulses per |[FRI-1 (us) |[PRI-2 (u=) |PREI-3 (us)
(us]) (MHz) Burst
FB142T.0 TZ. 5§ g z 1550. 0 107T.0 -
BS1556. 0 B3 3 g z2 1453.0 15827.0 -
94z0351. 0 51. 6 =] z 1754.0 12z1.0 -
3537T9.0 S6. 5 g 1 1515.0 - -
24976, 0 95T g 3 1976.0 1724.0 1792.0
16554, 0 993 g 1 1z15.0 - -
Q054682 0 aT.1 g 3 143535.0 1019.0 1619.0
1195245, 0 g85. B g 3 1021.0 1779.0 1541.0
2905235, 0 ST 4 g 1 12532.0 - -
551102, 0 24. 5 g 1 1150.0 - -
Type 5 Radar Waveform_30
Bor=1i Pl = e l.—.]_:l.irp Huomber oif _ _ _
4S5S4l . 0 2= 4 =0 = 1551, 0 105S. 0 1411. 0
STT=ZZ=ZS. 0 a=. 1 =0 = 1TTT. O 1110, 0O 1saT. 0
126893 0 (=1 == =0 1 1559 0 — —
2T1SsST. 0 =225 =0 = 1=Ss9=2. 0O 1=37T=. 0 —
A41TIS0OS. O BS5. 5 =0 1 1501 . O — —
SE1SEZS. 0 TG. 5 =0 = 1547T. O 11=S. 0 —
109==7T. 0 L= T = ] =0 1 1=5=. 0 — —
254200, O BE. B =0 1 1835 0O — —
S9S41S. 0 T, T =0 = 19==. 0 1155, 0 —
SadadaT. O BE=Z. 6 =0 1 1T=T. 0O — —
9115s7.0 &ET. 0 =0 = 1=Z65. 0 1==9. 0 —
2351854 0 g6, T =0 = 1574 0O =000, O 11630
SS149=. 0 ST. 1 =0 1 15395, O — —
S=Z45<41 . 0 a0, T =0 = 1===. 0 14==. 0 1=3=1. 0
T34=Z=. 0 S9.9a =0 1 14=4_0 — —
215055, 0 TG, S =0 = 1836 0 10=5. 0 —
SEZ9SE. 0O BS5. 5 =0 = 1=94. 0O 1444 . 0 —
SOsT11. 0 25. a9 =0 = 1901 . O 105=. 0 11140
SsssOo4. 0 So. g =0 1 1977T. 0 — —
199527 0 [= A= =0 = 16150 1116._ 0 15356 0
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Radar Type 6 - Radar Statistical Performance

Trail #

1=Detection

0=No Detection

Trail #

1=Detection

0=No Detection

—_

0

16

1

1

17

1

18

19

20

21

22

23

O | | N |BdlW|DN

24

-
o

25

—_
—_

26

—_
N

27

-
w

28

—
o

1

29

—_
(&)

1

30

Detection Percentage (%)

96.7%

Type 6 Radar Waveform_1

Fr egmenocy

Li==®x {(MIH=x} o * = = -

o s51s sS=50 ssTS sE11 SEO1
= sSE=s sSesO SaEE SaG= S=T0O
1 s=0= sSE9= ==11 SasS SESE
1= [=f=1=1-1 S=04 S=7T1 SE15 [=1=1=3=]
=0 STOS S=as S4TS Sa41= Sa415S
=5 S5 sSs58S S54T S416 SEa5
=0 SSa0 S49T s=saT Saa1 S
3= Sass SaSs s=sss =s=31 S=a
ETe S==1 SESS Saae s=91 sSsES
as Sass [=Sct=1-1 (=== S45T S=a1
=0 SETS S48S [=1=T=ke] S5 SSal
== Sa49 sS555 sSso0s sSE14 SZa5
S0 s=o9 sSal1s Sa4as Sa59 SEE1
=== s=9 sSs5= s=91 sSES1 S=TA
o SE4T sEea Sasz= S=TT [=1=1
= SA0c SSG SeG-1 SS0O= [=teirg=]
a0 sae09 sS=5T sSse5a SSEA SETS
8= sSs10 = sSEs= ST1S [=1=1=1-
=T s=T= sSEES S=T1 S1S=1 S=s0
[=T= se== S353= s=s3 =490 SSsa
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Type 6 Radar

Waveform_23
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Report No.:2105TW0602-U5

Product

ACCESS POINT

Test Site

SR2

Test Engineer

Eric Lin

Test Date

2022/02/25

Test Item

Radar Statistical Performance Check (802.11ax-HE40 — 5510MHz)

Radar Type 1 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
1 5491 1 16 5518 1
2 5508 1 17 5518 1
3 5516 1 18 5515 1
4 5507 1 19 5502 1
5 5494 1 20 5511 1
6 5522 1 21 5525 1
7 5511 1 22 5492 1
8 5528 1 23 5500 1
9 5506 1 24 5501 1
10 5507 1 25 5516 1
11 5504 1 26 5502 1
12 5506 1 27 5491 1
13 5517 1 28 5517 1
14 5501 1 29 5512 1
15 5510 1 30 5529 1

Detection Percentage (%)

100.0%
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Radar Type 2 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5529 0 16 5504 1
2 5495 1 17 5510 1
3 5526 1 18 5511 1
4 5504 1 19 5515 0
5 5526 1 20 5494 1
6 5524 1 21 5516 1
7 5517 0 22 5511 1
8 5511 1 23 5522 0
9 5500 1 24 5492 1
10 5512 0 25 5502 1
11 5526 1 26 5496 1
12 5506 1 27 5501 1
13 5499 1 28 5503 1
14 5528 0 29 5500 1
15 5520 1 30 5491 1
Detection Percentage (%) 80.0%
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Radar Type 3 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5510 1 16 5503 1
2 5511 1 17 5491 1
3 5522 0 18 5524 1
4 5499 1 19 5503 1
5 5521 0 20 5501 1
6 5522 0 21 5494 1
7 5520 1 22 5519 0
8 5523 0 23 5492 0
9 5519 0 24 5503 1
10 5520 1 25 5516 1
11 5500 0 26 5498 1
12 5525 1 27 5507 1
13 5529 0 28 5498 0
14 5507 1 29 5501 1
15 5496 1 30 5491 1
Detection Percentage (%) 66.7%
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Radar Type 4 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5510 0 16 5508 1
2 5509 1 17 5524 0
3 5523 1 18 5497 1
4 5525 1 19 5511 1
5 5513 0 20 5506 1
6 5503 1 21 5496 1
7 5520 1 22 5514 1
8 5511 1 23 5513 1
9 5491 1 24 5503 1
10 5517 1 25 5503 1
11 5522 1 26 5524 1
12 5504 1 27 5525 1
13 5525 1 28 5497 1
14 5491 0 29 5492 1
15 5493 1 30 5529 1
Detection Percentage (%) 86.7%

Note: In addition an average minimum percentage of successful detection across all four Short pulse radar test

P1+P2+P3+P4 _
4

waveforms is as follows: (100%+80.0%+66.7%+86.7%)/4 = 83.3% (>80%)
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Type 1 Radar Statistical Performance

5 Badar gl =l Humber of | Baveform
Trial Id Tope Width FET C(a=) Poloe= Length
Ca=s) Cax
Download =] Type= 1 1.0 =3, 0 B3 SzTod4. O
Download 1 Tzpe 1 1.0 S15. 0 BS S317T0. 0
Downlaoad = Txp= 1 1.0 S1s. 0 10z SEEZE. O
Download = Type= 1 1.0 B3S. O =3 SzaS4. O
Download 4 Tzpe 1 1.0 Ss55. 0 as S3010. 0
Downlaoad = Txp= 1 1.0 SS9, 0 =9 SE=Z=2=.0
Download = Type= 1 1.0 BTS. 0O TE SrEsd. O
Download T Tzpe 1 1.0 Tis. 0O Ta S3132. 0
Downlaoad = Txp= 1 1.0 TTS. 0 [=1= S=Zg0a. 0O
Download a Type= 1 1.0 =55, 0 Bz =3198. O
Download 10 Tzpe 1 1.0 S35, 0 aq SEEEEZ. O
Downlaoad 11 Txp= 1 1.0 S95. 0 =g S=Zgs=. 0
Download 1= Type= 1 1.0 =TS, 0 51 S3EsE. O
Download 15 Tzpe 1 1.0 a1s. 0 =5 SEzd44. O
Downlaoad 14 Txp= 1 1.0 TSSO BT SE4AEE. O
Download 15 Type= 1 1.0 Boz. 0O T SEzs4. O
Download 16 Type 1 1.0 11=4. 0 47 Szaza. 0
Download 1T Txpe= 1 1.0 S0z0. a 15 S4560. 0
Download 1= Type 1 1.0 1770, 0 =0 =3100. 0
Download 13 Type 1 1.0 1473. 0 =6 Sazdd. O
Download =0 Txpe= 1 1.0 =T40. 0 =0 S4500. 0O
Download =1 Type 1 1.0 Ti4. 0 T Sraze. O
Download == Type 1 1.0 TOT. 0 TS Sanzs. O
Download =35 Txpe= 1 1.0 =555. 0 =1 532350
Download = Type 1 1.0 =s0. 0 as =3z00. 0
Download =5 Type 1 1.0 1357, 0 =9 S4093. O
Download =5 Txpe= 1 1.0 S001. 0 15 S4015. 0
Download =7 Type 1 1.0 15=7. 0 =5 S3445. O
Download =5 Type 1 1.0 =434, 0 == Sas4as. O
Download =3 Txpe= 1 1.0 655, 0 =1 S55=95. 0
Type 2 Radar Statistical Performance
Trial Ta g:::r E?ﬁf; FRT C(a=l popber of :::;f;r-
= (tax=x)
Download =] Tsxpe = = z=T.0 =B saoz. 0
Download 1 Tspe = 4.z =00. 0 == =Ss00. O
Downl oad = Twpe = 4.7 182. 0 =a s2Ta. 0
Downdload = Trpe = 4. = 1560 =5 4565, 0
Downl oad 4 Tspe = =. = 130, 0 == 4500, O
Download = Tspe = 4.3 179. 0 =5 s01z. 0O
Download B Trpe= = 4. T 1=1. 0 =g SzZ4a9. 0
Downl oad T Tspe = 4.4 ==z, 0 == EZ16. O
Downdload = Trpe = 4.5 17Ta. o =5 4TEO. O
Download a Tspe = 1.5 =z4. 0 =a E4QE. O
Downl oad 10 Twpe = ENE 167.0 =7 4509, O
Download 11 Trp= = 1.4 Z01. 0 =35 45=Z=. 0
Downl oad 1= Tspe = =.0 =16. 0 =1 Sima. 0O
Download 15 Tspe = EN 159, 0 ) 4914, 0O
Download 14 Trpe= = 1.1 1=4. 0 =3 4=3Z=.0
Downl oad 15 Twpe = 4.6 =12. 0 =a B14a. 0O
Downdload 156 Trpe = .1 165 0 =5 4704 O
Download 17 Tspe = = = =11.0 == =E27Ts. 0O
Downl oad 15 Twpe = ENE 161.0 =7 4347, O
Download =] Trpe= = 4. T 205, 0 =g Sgo4S. 0O
Downl oad =0 Tspe = =. = =07. 0 == =175, 0O
Download =1 Tspe = 1.3 190. 0 =3 A4FTO. O
Downdl oad == Trpe= = =SB 17T=. 0 =T 45ET1. 0O
Downl oad =3 Twpe = 4.5 193. 0 =a ssav. 0O
Downdload = Trpe = =4 157T. 0 =5 45TS. 0O
Download == Tspe = =7 =z5. 0 =5 sss0. 0
Download s Tspe = =.4 zzE. 0 =8 BIZE. O
Download =T Trpe= = 1.= Z20=. 0 =3 4553, 0O
Downl oad == Tspe = 4.0 135, 0 == SZE4. O
Download =43 Trpe = S.4 =Z=1.0 =T SgaT. O
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Type 3 Radar Statistical Performance

5 Badar gl =l Humber of | Baveform
Trial Id Tope Width FET C(a=) Poloe= Length

Ca=s) Cax
Download o Type = 8.z 419. 0 17 T123. 0
Download 1 Twpe 3 a.z Zz1.0 15 FATS. 0
Download = Type = a. T Z7a. 0 15 s0zZz. 0
Download = Type = a.z 213, 0 15 FEE4. 0
Download ES Twpe 3 T.Z 4TE. O 16 TER16. O
Download = Type = Q.3 asz. 0 15 S136. 0
Download = Type = a.T F00. 0 15 S400. 0O
Download T Twpe 3 a. 4 Za5. 0 15 4410. 0
Download = Type = Q.3 as4. 0 15 s17T=2. 0
Download =} Type = a.s 289, 0O 15 4542, 0
Download 10 Twpe 3 5.5 555, 0 17 BOSE. O
Download 11 Type = B, 4 Sz4. 0 16 s154. 0
Download 1z Type = T.0O s00. 0 16 S000. 0
Download 15 Twpe 3 T.S 411.0 17 BAST. O
Download 14 Type = .1 aT=. 0 16 TSSZ. 0
Download 1= Type = Q.8 45T. 0O 15 SEZE. O
Download 15 Type 3 9.1 229, 0 15 4122, 0
Download 17 Type = T. = AB6. O 16 TASE. 0O
Download 1= Type = 8.6 485. 0 17 SE45. 0
Download 19 Type 3 a.T 391.0 15 TOIS. O
Download =0 Type = T. = 4z 0 16 BQl1z. 0O
Download =1 Type = B, 3 434, 0 16 5944, 0
Download == Type 3 8.6 232. 0 17 S9d4. 0O
Download ==} Type = 9.5 4Ta. 0 15 SEZZ. 0
Download =X Type = T. 4 497, 0 17 S449. 0
Download =5 Type 3 T.T 285. 0 17 4545, 0
Download =223 Type = 5.9 Za4. 0O 15 SEaz. 0
Download =7 Type = == Zag. 0O 16 FQES. 0O
Download =5 Type 3 a.a 2zz. 0 15 995, 0
Download =a Type = S S81. 0 17 B4TT. 0O

Type 4 Radar Statistical Performance

Badar gt Sle Humber of | Baveform
Trial T4 e widin PRT Cax) e Length
= =
Download o Tsxpe 4 15.9 413. 0 14 Ss5586. 0
Download 1 Tsp= 4 15. 3 zz1.0 ig 536, O
Download = Tsxpe 4 19.3 z73. 0 ig 4454, O
Download = Tsp= 4 1s. 1 Z13. 0 15 s195. 0
Download - Twp= 4 13.8 476. O 13 5155, 0
Download s Tsp= 4 15. 4 45z. O 15 T=3=. O
Download =) Tsp= 4 19.3 300. 0 ig 4500, O
Downlaoad ke Tspe 4 15. 6 z45. O 15 s920. 0
Download = Tsp= 4 15.5 454. 0 ig T=54. O
Download a Tsxpe 4 15. 8 z63. 0 ig 43504, O
Download 10 Tspe 4 16. 7 358. 0 15 S370. O
Download 11 Typ= 4 11.9 3z4.0 iz s555. 0
Download 1= Tspe 4 13. 3 Soo. o 13 ES00. O
Download 13 Tspe 4 15. 2 411.0 14 5754, 0
Downlaoad 14 Tspe 4 11. 3 47Tz O 1z SE54. O
Download 15 Tspe= 4 19.1 457. 0 ig TI1z=. O
Download 15 Tsxpe 4 15.0 zz3. 0 is 155, 0
Download 17 Tspe 4 13. 8 4B6. O 13 E0SS. O
Download 15 Tsp= 4 16. 9 485. 0 is TETS. O
Download 19 Tspe 4 19.3 391. 0 15 EZSE. O
Download =0 Typ= 4 13.8 432. 0 13 S516. 0
Downlaoad =1 Tspe 4 118 434. O iz Sz0s. 0
Download == Tspe= 4 16. 9 z32. 0 is F450. 0
Download =3 Tspe 4 15. 9 47a. o 18 TES4. O
Download =4 Tspe 4 14. 2 497. 0 13 451, 0
Download =5 Tsxpe 4 14.9 z85. 0 14 =990, 0
Download =5 Tspe 4 17.5 z94. 0 15 44100
Download =7 Typ= 4 11.4 z48. 0 iz =975, O
Download == Tspe 4 17. 7 zzz. O 15 =330 0
Download =a Tspe= 4 16. 4 3810 is STiS. 0
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Radar Type 5 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5510 1 16 5498.6 1
2 5510 1 17 5497.8 1
3 5510 1 18 5494.6 0
4 5510 1 19 5497 1
5 5510 1 20 5498.6 1
6 5510 1 21 5525.4 1
7 5510 1 22 5526.6 0
8 5510 1 23 5523 1
9 5510 1 24 5521.8 1
10 5510 1 25 5525 0
11 5497 1 26 5524.6 1
12 5493.4 0 27 5522.6 1
13 5494.6 1 28 5527 1
14 5495.8 0 29 5522.6 1
15 5493 0 30 5523.4 1
Detection Percentage (%) 80.0%
Type 5 Radar Waveform_1
Bor=st Pol=e C]_lirp Homber of
l:'ltii-)_:et Width Ca=) 'l'(;]d{;? gzzis per |FPRT—1 (oa<) PRT—Z (a=) PRT—3F f(u=<)
BZZ545. 0 TE. 3 1= = 1551, 0 1685, 0 -
1a0z3. 0 Q0. =2 1= =S 17aT. 0 16z1.0 13398, 0
212015, 0 a5, 1 135 5 1155. 0 1445 . 0 1705, 0
405354, 0 59,35 135 5 11535, 0 14135 0 1094, 0
BOOZ15. 0 BS.T 135 1 13268. 0 - -
TAOSS5. 0O a0, T 13 b} 1541. 0 16890 1702, 0
155195, 0 95,9 13 b} 1177T. 0 1415 .0 1914. 0
351056, 0 Q2.1 13 =S 14290 1359.0 1544. 0
573939, 0 Q91,5 13 =S 17320 13920 1555, 0
TEESTO. O 95,4 1= =S 1447T. 0 1517T.0 1953, 0
1864725, 0 S51.9 1= = 1545, 0 1z23=z.0 -
F5S59T. 0 55,14 1= 1 1TEE. O - -
S52054. 0 B3 =2 135 1 1967T. 0 - -
T45SO52. O T3.1 135 b 15394 .0 11530 -
141155. 0 S52.0 13 1 175T. 0 - -
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Type 5 Radar Waveform_2

Bor=1t Pal=a C]_lirp Homber of
Offset Width Ca=) Width Fulses per (FET—1 (oa=s]) [FET—Z (as) |[FET—3F (as)
[ ] (MH ) Bor=st
=Z2TTS00. 0 p=L T = 17T ] 156650 15950 11910
4SSTTO. 0O S5.T 17T ] 13740 11500 1z635.0
BO01325. 0 [SES =] 17T 1 1S00. 0 - -
aQTs3Is. 0 =525 17T = 1TaT. O 11520 -
Z5S5005. 0 95,9 17T ] 14510 1z59. 0 15=9. 0
4Z054T. 0O [SE= 17T 1 1SS35. 0 - -
SS17Te1. 0 543 17T 1 14S7T. 0 - -
TTEZS. O S22 6 17T = 17150 19590 -
=3Tas0. 0 5.6 17T I 1547. 0 1617T. 0 1Tas. 0
A000SS. O BT. S 17T = 1=zal1. 0 10z4. 0 -
SE10TI. 0 T1. S 17T = 11490 127>, 0 -
STSE0. 0 S5, 1 17T 3 l1=44.0 1174. 0 11=2. 0
=19299. 0 526 17T 1 18020 - -
SITSST9. 0 ST. 3 17T ] 147>, 0 1Tol. 0 19550
Sa054=. 0 S0, = 17T = l4zZ6. 0 1s5=9. 0 -
ZT9SS. 0 a5, 4 17T b= 105a. 0 1052, 0 19SS, 0
1957140 a0 0O 17T = 1041 0 17540 11680
SBOTIS. 0O 5435 17T 1 15910 - -

Type 5 Radar Waveform_3
Buor =+t Fol =a C!l.irp Huomber oif
Offset Width Coa=) Wadth Folzses per FRT—1 o= FRT—2 Coaxs] FRIT—3F CGoa=]
Cax) (A= Baor=+t
Ag917Taeo. 0O L= 1= =] 19 = 1=3=0. 0 1s0=. 0 194=. 0
1T27TE. 0O oS24 19 = 1=z94. 0 117T1. 0 -
16941, 0 9=, 4 19 = 11=7. 0 1S5=Z6. 0 13=3=.0
ZEZ045. 0 =a. 0 19 1 1=27Ts.0 - -
4TAS55. O BE. T 19 = 147=_0 1605 0 -
B=s45=. 0 e0. = 19 1 1800, 0 - -
151195, 0 1.1 19 1 1594, 0 - -
peimbci=l=L ] Bl.S ig 1 1T=3=.0 - -
454175, 0 a7, 3 19 b= 1Ti7T. 0 1az0. 0 1949. 0
BO0TZT4. O Q== i9 = 145=. 0 1=Zz51. 0 1=3=9. 0
1=2194. 0 TS = 19 = 15100 100=. 0 -
ZEESS=. 0 S5 35 19 =] 15590 15560 1746 O
AZES3Z3a. 0 =33 19 = 1654 0 18560 -
SSSOST. O S, 1 19 IS 1=2=4. 0 1505 0O 1555, 0
11==2=0.0 TS, 4 19 = 158530 19=5. 0 -
EGE3ITS. 0 52, 4 19 1 159, 0 - -
41957TE. O B0O. 9 19 1 1545 0 - -
STOOo=. O =40 19 = 1=3=2. 0 1Z0=. 0 1=25&8. 0
a4ZSE. 0 a5, 8 19 IS 1947T. 0 1905 0O 1=19. 0

Type 5 Radar Waveform_4
Boar=s+t Pol=ea C]_:Lirp Homber oif
Dffset Width Ca=) Waidth FPoulzsex per FREXT 1 L ] PFPRYT 2 L= | PREYT 3 L e |
(ax) (MH= ) Bor=t
ZE158=. 0 21. & 1T 1 11s5. 0 - -
AZZ2S4AE. O Bz =5 1T 1 1=51. 0 - -
Ss2s5Aa. 0 TT. O 1T = 13550 15540 -
SO0045 . 0 TZ. 1 17T = 13590 15370 -
=Z417T=24. 0 5T.5 17T 1 10590 - -
A40Z6TI. 0 SE. S 1T 1 154=5. 0 - -
SEI045. 0 L. 4 1T = 1TSE. 0O 1050, 0 -
B0154. O a9=. 9 1T = 1140, 0 1=259. 0 1=z45. 0
2215220 S4. 5 1T 1 1990, 0 - -
FE1TTa. 0 Q= = 1T = 10es. 0 144=. 0 1125. 0
S44145. 0 54T 1T 1 17T=9. 0 - -
40517T. 0 B51. 2 17T 1 10510 - -
20053568, 0 Q5.0 17T =] 1965, 0 17T7To. 0 197T=.0
FE19TG. O g91. & 1T = 1===2.0 10=7.0 1=89. 0
SZz109. 0 a91. 1 1T = 1=SS. 0 1999, 0 1197.0
Z05z4. 0 B35 & 1T 1 1508, 0 - -
150933, 0 ao. s 1T = 1ess. 0 1545, 0 1ess. 0
SFAZ0SE. O [=1=1ard 1T 1 1907, 0 - -
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Type 5 Radar Waveform_5

Buar=ct Pul=e Chirp Hamber of
Dffset Width (u=) Width Fulses per [FRI-1 (u=]) (FET-Z (us) |FRT-3 (u=)
(=) (MHzx) Buorst
TSSOSO, O 55. 6 10 3 1204, 0 18324.0 1840, 0
11Z0.0 T1.9 10 =2 15313. 0 1212.0 -
243304. 0 55.3 10 1 1435. 0 - -
45347435, 0 G51.3 10 2 1915. 0 1043, 0 -
TZ5435. 0O G4.1 10 3 1054, 0 1T85. 0 18E0.0
gESEE3. O BS. 2 10 2 1215. 0 1441.0 -
213399.0 BZ2.T 10 1 1T7T81. 0 - -
455515, 0 5T.1 10 1 1T45. 0 - -
EITEES. O 55.2 10 1 1400, 0 - -
93ITZ40. 0O G4. 6 10 3 1442, 0 1833.0 131Z2.0
1529935. 0 87T.8 10 3 1322. 0 1974. 0 166Z2. 0
425992, 0 5T.T 10 1 10420 - -

Type 5 Radar Waveform_6
Bar =t Chirp Homber of

Foal =

?ﬁ:iet 'idiﬁ Ca=) 1;::? ﬁ:i:is per |[PRT—1 (o=s) ([PRET—2 (ua=]) |[FRT—3 C(a=s1
442 TSE. O a0, = 18 <] 1846, 0O 14E0. 0 1847. 0
BEO0SZ91. 0 TE. 4 15 -3 1161. 0 1446, 0O -
101985, O Q8. = 1= = 1593, 0 1ZEE . 0O 1214, 0
ZE2435. 0 EER] 18 <] 18685, O 1303, 0 17TE1.0
4z4100. 0 TS, 4 15 = 1439, 0 1632, 0 -
SEEEZ4. O s0. = 1= 1 1Z687. 0 - -
SZ407. 0 T2, 5 18 2 1896, O 1035, 0 -
z44059. O B0, = 18 1 1009, 0 - -
40297E. 0 B84. 8 18 3 18904, 0 1909, 0 1459, 0O
SEBISE. 0 SE. 4 15 1 189S 0 - -
BEZ4Z0. 0 as. 3 18 <] 1486, O 1STT. 0O 1SES. 0O
ZE3945. O BE. 4 15 1 1TES. O - -
SETADE. O a8, T 1= = 1=1s. 0 1594, 0O 1205, 0O
S45T1S. 0O ES. T 18 2 1272, 0 1409, 0 -
4ZBEE. O az. S 15 <] 187TT. O 1Z14. 0 1TE4. O
ZOEEAT. O s0. 9 1= = 1102, 0 1431, 0 -
SE4A5TE. O TT. S 18 2 1195. 0 19689, 0 -
SZ4159. 0 as. 8 15 ] 1228, 0 1864, 0 1TEz. 0

Type 5 Radar Waveform_7
Bar =t ol Chirp Homber of cas? o Cas
Offse o Width Pulse=s per |[PRT—1 C(u= PRI 2 C(u= PRI 3 C(us=
o= * Width C(a=x) (.][;) Bor=+t *
Z1Bz0. 0 EERE 19 = 127S. 0 1945, 0 1707, 0
1T41S0. 0 TO. 4 19 z 1TES. O 1ZE0. 0 -
SZEs40. 0 =ST. 68 19 = 1BET. 0O 1BTS. 0O 1740, 0
AS00BS. O E=NE 19 1 1874, 0 — —
Zamz 0 TS 3 19 = 1001 .0 13E0. 0 -
1S5E835. O Bz, 1 19 1 1954, 0O — —
FOTO0T. 0 Qo = 19 = 1471.0 1as3. 0 17zs. 0
ABOETA O s0. = 19 = 103510 11500 -
B1Z1685. 0 Ta.s 19 = 1TE2. 0 1917, 0 —
1EEE45. O s=. = 19 1 1412, 0 — —
FEATIE. O sa. = 19 1 1505 0 — —
44Z302. 0 SO, 4 19 1 1859, 0 — —
Soz193E. 0 EERE] 19 = 12168, 0 1103, 0 194z, 0
11TRS1. 0O =6 a 19 = 1514 0 1164 0O 1074 0
=TOS25. 0 S&. 0 19 1 17T1S. 0 — —
421103, 0 EERE] 19 = 1Eaz. 0 18ZS. 0O 1259, 0
STESET. 0 sz a 19 1 1146 0 — —
ao9sd. 0 TE. 4 19 = 194, 0 1456, 0 —
ZS1@09. 0 BS. 0O 19 1 198z, 0 — —
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Type 5 Radar Waveform_8

Bor=1t Pol=e C:!lirp Homber of
Dffset Width Co=J Width Fol=s=ex per |[FRT—1 (o= FRT—Z (=] FRT—3F (o=
[a=s) (MH=] Bor st
425445, 0O as. = 15 = 1749, 0 1518, 0 1SE1. 0
SSO03s. 0O S = 15 1 1=1=. 0 - -
S54551. 0 Q0. 3 15 = 1311.0 1527.0 1455. 0
Z44377.0 a1.1 15 = 195=. 0 1325. 0 11800
A0BSSS. O s0.5 15 = 1502, 0 1825, 0 -
SETEEZ. O TS. 0O 15 = 1548, 0O 111=2. 0 -
BASED. 0 a1 15 = 15586 0 1950, 0 -
ZEEO1S. O TE. B 15 = 1559. 0 1004. 0 —
Ss859T. O s9.0 15 = 1091. 0 1=Z05. 0 1121.0
S48235. 0 sS4, 7T 15 = 1595, 0 1599, 0 1102, 0
AS16S. O BS54 15 1 1S9l 0 - -
ZO0STTT. O TS. T 15 = ZO00. O 1385, 0 —
S8TO43. 0 s1.9 15 = 1551. 0 1354. 0 —
S=TaTe. O Ta. & 15 = 1EST. O 1510, 0 —
ZESz1. 0 1. = 15 1 1STS. 0 - -
155952, 0 az. 4 15 = 11=4. 0 1=a8. 0 18Z9. 0
S4T36R0.0 BT 4 15 = 1331, 0 1337T.0 —
SO0S33T. 0 TO. 1 15 = 1163. 0 1585. 0 —
Type 5 Radar Waveform_9
Bar =1t e Chirp Humber of
Dff=et Width Co=) Waideth FPulses per |[PET—1 (o=]) |[FRET—2 (os]) |[FRET—3F (o=s)
(o=l (AH=] Boar st
S4268. 0 ST.T 15 = 1475, 0 1Z15. 0 1963, 0
168507, O s1.0 15 1 157TS. O — —
SIEETTS. 0 Sd4. 1 15 = 1354, 0 1O0ST. 0O 1759, 0
459101. 0 sa. & 15 1 1939. 0 — —
E4T4ATS. O as5. 1 15 = 1E07T. O 1TST. 0O 1s01. 0
148516, 0O T1.4 15 = fE=]=1-u' 1285, 0O —
S05105. 0 ES.T 15 1 1TEO. O — —
489TAS. O s0. 5 15 1 115=. 0 — —
BEETIAS. O S, = 15 = 1575, 0 15568, 0 1858, 0O
1=ZTOET. 0O BE = 15 1 1==0. 0 — —
Z35546. 0 S5 4 15 1 1085 O — —
44945T. O 0.5 15 1 1551, 0 — —
BEOTZ234. 0O oo, = 15 = 179z 0 199s. 0O 1515, 0
107T115. 0 ES. T 15 1 17390 — —
ERSSTS. O B4 0 15 1 1=55. 0 — —
AZOSEE. O BS. = 15 1 1552, 0 — —
S39TeZ. 0 Ta. 3 15 = 17TS0. 0 1295, 0 —
STOT4. O s0. 6 15 = 15150 1651, 0 —
Type 5 Radar Waveform_10
Bar=1t e Chirp Humber of
Off=et Wi dih C(a=) |Fidth Pul=e= per |[FPRI—1 C(a=) |([PRI—Z (a=) (PRL—3F (o=}
(a=2 (AH=) Borst
ZEESE0. O =1.5 15 1 1255, O — —
SSTESO. 0 Ta. = 15 = 1555 0 1==5. 0 —
S41Z80. 0 =T7.1 15 1 1=za. 0 — —
BESTIE. O TT. 6B 15 = 1095 0 1656 0 —
Zi1SSSE. O == 15 = 1519, 0 1154, 0 1145, 0
SETSES. O EERE 15 = 1995, 0 15851, 0 1109, 0
Sozzed. O =1.2 15 1 1507, 0 — —
44TS1. 0O o5, T 15 = 1=64. O 1970, 0O 1574, 0O
197544, 0O B4 1 15 1 15300 — —
Sd49o9oT0. O EERE] 15 = 1405, O 1544, 0O —
SoOZ13E. 0 TT. S 15 = 1524, 0 1557T. 0 —
ZELISE. O To. o 15 = 1451. 0O 1479, 0O —
178453, 0O Ta. s 15 = 17TE8. 0O 1501, 0 —
SE0ESs. 0 o4, = 15 = 1850, 0 18=7. 0 1050, 0
452874, 0 S5, T 15 = 1705, O 1154, 0 11920
TET9. 0 TE. T 15 = 1385, O 1355, 0 —
180132, 0 B5. = 15 1 1794, O — —
S1=E1s. 0 TT. 4 15 = 1511. 0 1104. 0 —
454B3S. O S1.0 15 = 17590 1554, 0 —
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Type 5 Radar Waveform_11

Baor=+it FPul=e Chirp Huoumber of c 3 c 3 c 3
DOff=et 5 Waidth Fulsex er |FRT—1 = FRT—2 = FRT—3 =
(a=] Width Cus) (MH=x) Bor=st ®
TIZESO. 0 56. 6 15 = 1543. 0 1145, 0 11=2. 0
1BTAE4. 0 B5. 1 15 1 1465, 0O - -
315993, 0 BS. 9 15 = 1320, 0 1247. 0 -
SEOGEE. 0 TT. 4 15 = 1900, 0 1Z07. 0 -
TIOSTT. 0O T9. 6 15 = 1509, 0 1954, 0 -
144397. 0 a0, & 15 = 1960, 0 1305, 0 1308, 0
SEESSS. 0 BE. O is = 1598, 0 1143, 0 -
SOTESE. O BE. = 15 = 1Z43. 0 1771.0 -
BSSo0l. 0 T5. 6 is = 1342, 0 1588, 0 -
1ZZRES. 0 g1, 9 15 = 1505, 0O 1502, 0 1849, 0
I0OSEAT. 0 o9, 7 15 = 1157. 0 1852, 0 1323, 0
ASEZE4. 0 B1.6 15 1 1377.0 - -
BESZTZ. 0 BE. O 15 1 1014. 0 - -
100S7TS. 0 so. 2 15 1 1467. 0 - -
ZE1020. 0 S4.0 15 = 1653, 0 1539, 0 1987. 0
ABZZE0. 0 o0, 5 15 3 1355, 0 1556. 0 1238, 0
Type 5 Radar Waveform_12
Bur=st Pulse Chirp Homber of
Offset Width (us) Width Fulses per |[PRI-1 (us) |[PRI-2 (us) |[FRI-3 (us)
(=) MHz) Bur=st
1145723, 0 848z 5] 3 1329, 0 1670, 0 1747.0
139725.0 B3.0 2] 1 1253. 0 - -
4628582, 0 Bo. 1 ] 1 1585.0 - -
TER4R5. 0O 048 ] 1 1937.0 - -
1108542, 10 95T 2] 3 1187.0 1199. 0 1407.0
999240 55,3 B 1 1345. 0 - -
422815.0 R ] 1 1842, 0 - -
T4B136. 0 ST, 3 2] 1 1141.0 - -
1067455, 0 0. 6 B z 1489. 0 1590. 0 -
Type 5 Radar Waveform_13
Buorst Pul Chirp Homber of
Dff=et ¥ dfﬁ (as) |Width Pulses per [PERI-1 fus) [FRT-Z (us) |[FRI-3 (u=)
(=) 1 . (MH=x) Buorst
43052, 0 T3. 4 =] 2 1751.0 19335.0 -
313373.0 BE3. 3 = 1 15320 - -
ETREZ3. 0 g2 4 a 2 12660 17230 -
S41T4T. 0 B3.9 =] 1 1606, 0O - -
16820, 0 TL.T = 2 14300 10350 -
250311.0 T3 1 a 2 18T1.0 1T2B. 0 -
S45111.0 S04 =] 1 1412.0 - -
SOTsnE. 0 OB T = 3 106T. 0 1641.0 1115. 0
107ToRz29. 0 g4 8 a 3 1454 0 1385. 0 157T4. 0
24TT43. 0 an. S =] 3 1545. 0 1022.10 1395.0
S12584.0 BES. 4 = 1 136T.0 - -
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Type 5 Radar Waveform_14

Buorst Pal Chirp Homber of
Offseat '.df; Ca=) |Hidth Fulses per [FRI—1 (us) [PRT—2 (u=s) |[FET-3 (u=)
(o= * — (MH=z ) Buarst
BOSO0Z . O &3.0 1z = 1404, 0 158T. 0 -
S1TIE0. 0 51,58 1z 1 1735, 0 - -
189221, 0 TT.S 1z = 1295, 0 1421.0 -
ETSEST. 0 S5 S 1z = 1119. 0 1352, 0 1935, 0
SEEEAE. 0 TE. S 1z = 1713, 0 1047. 0 -
TOOSSS. O BT.Z 1z = 1402, 0 1z49. 0 -
143736, O T2, T 1z = 1417.0 1083, 0 -
E51505. 0 BO.T 1z 1 1295, 0 - -
S5o09z. 0 B, 4 1z 1 1Z689. 0 - -
TEAQS4. 0 T1.5 1z = 1474. 0 1709, 0 -
115596, 0 Bl.5 1z 1 1055, 0 - -
EESET4. 0 TO. B 1z = 1625, 0 1147. 0 -
SEE045. 0 a5, & 1z ] 147T7. 0 1085, 0 1075, 0
TAOS44. 0 53. 49 1z 1 1564, 0 - -
Type 5 Radar Waveform_15
Burst Pulse Chirp Homhber of
Offset . ¥idth Fulszes per (FRI-1 (us) [FRI-Z (us) [FRI-3 (us)
¥idth (u=)
(us) (MHz) Burst
162437, 0 505 5 1 19038, 0 - -
o25a84. 0 63T 5 1 1590, 0 - -
339057, 0 | 5 1 1991. 0 - -
1251544. 0 TZ. B 5 P 1114.0 18BT.0 -
117576 0 gz, 4 5 Z 1371.0 139T7.0 -
430580. 0 a0, 3 5 b 1378, 0 1292.0 -
g444350. 0 BE. T 5 1 17T69. 0 - -
1208334, 0 Bl.B 5 1 11050 - -
Type 5 Radar Waveform_16
Bor=+t FPol = C!:.irp Homber oif
l:'l:‘f:’?et Width Ca=2 };ﬁ:? gz::s e FRT—1 o= FRET —=> o= FRIT—3 o=
FI0Ss4=. 0 b= == hR=] = 133=. 0 1495, 0 12=93. 0
1554390 0O 565 = 19 1 1455 0O — —
FEETTE. O TTr. S hR=] = 110E. 0 1=Z7Ts. 0 —
456561 . 0O a4 5 19 S 135=_ 0O 17T35. 0 1314 0O
11s5=. 0 54, = hR=] 1 1=4=. 0 - —
164595 0O L= S =] 19 1 1351. 0 — —
F1TETT. O Bl.= hR=] 1 17oo. O - —
AESE0O=. O 9. = 19 = 10z2=. 0 10=0. 0 1T1i9. O
BZ=549. O TS. 0O 19 = 1255, 0 1007, O —
145590 0O S1. = 19 = 17TS=. 0 1&94. O —
Z2aS51S. O [=3= =1 19 1 1785, 0O - —
AS0OS16. O ES. 5 19 = 13=27T. 0 1S0=. 0 —
BO4T4S. O 5T.5 19 1 101=. 0 - —
1Z6e513=. 0 =26, = 19 = 1095, 0 1019. 0 1555 0
Z2TS404. O S5, 5 19 = 1551. 0 1554. 0 159&. 0
4=14=68. O T3, = 19 = 1595, 0 1666, O —
S54101. 0O TS. B 19 = 1az24. 0 1335, 0 —
1079150 =1. 4 19 = 1559, 0 1=2=7.0 —
259536, O S5, T 19 = 1455, 0 1236, 0 150E. O
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Type 5 Radar Waveform_17

Bor=s+t Pol=ea Cyirp Homber oif
%Ei?et Width Ca=) {;;;? ;:1;:5 per |[FET—1 (os) |PRT—2 (o=s) |[PRET—3 (a=s)
454515, 0 91. 7T 17T =] 1250, 0 1S19. 0 19s56E. 0
S95z41 .0 9z.9 17T =] 154=. 10 1=309. 0 1g9z9. 0
45739, 0 E=1= . § 1T 1 1254, 0 - -
=E5TEAE. O Bl 5 1T 1 12540 - -
41465T. O oz, T 17T =] 195=. 0 1945 0 12510
STEO11.0 S5, & 1T = 11=1. 0 105, 0 197T1.0
TASZ9. 0O [=1= =] 1T 1 i10z9. 0 - -
235270, 0 TL. 2 17T = 10520 19440 -
F959=T. 0 [=1= ] 1T 1 1&=0. 0 - -
SS599T. 0 5. = 1T = 1012, 0 166410 1744, 0O
S457TO. 0O 541 17T 1 19320 - -
Z1607T=. 0 E=T= 1T 1 10a1. 0 - -
=FTT11=.0 e0. = 1T 1 174, 0 - -
S53535545. 0 SZ. 6 17T 1 11590 - -
Fa63S6. 0 TL. 4 1T = 17O, 0O 16SS. 0 -
195zZ00. 0 =501 1T 1 1017T. 0 - -
54590 TL. S 1T = 15910 15=a._ 0 -
S15TSE. 0 [=3= = 17T 1 1440, 0 - -
Type 5 Radar Waveform_18
Buar=st Pul=e Chirp Hamber of
Dff=et Width (us) Hidth Fulses per |[FRT-1 (u=s) |[FRT-2 (us) (FRI-3 (u=s)
(u=] (MHz) Bur=st
222460 94. 5 = 3 1495. 0 1495. 0 1350.0
284440, 0 B5.0 =] 1 164210 - -
S085356. 0 BS. 5 =] 1 1125. 0 - -
T4B00Z2. 0 95 49 9 3 1T37T.0 1917T.0 1544 0
991144. 0 BS. 2 =] 1 1335. 0 - -
23353640. 0 g8 5 = 3 1961.0 1910.0 1920.0
4Te043. 0 S0, 3 =] = 1691.0 14270 -
T155535.0 B1.1 =] 1 1651.0 - -
9599356, 0 TT.3 9 =2 1456. 0 12760 -
204097.0 a8, 5 =] 5 19280 1175.0 1915. 0
447055, 0 4.2 = 1 1346, 0 - -
BS5153. 0 TS. 3 =] = 1397T.0 1509. 0 -
Type 5 Radar Waveform_19
Baor=*%t Pul=e Cbirp Homber of
l:'lzii-)jet Width Co=) };ﬁ;? ;ﬁzis per |[PRT—1 Coa=s) FRT—2 (ma=s) FRT—3 (m=]
B9ETTO. O 51.5 15 = 1911. 0 10800 -
1507Ta0. 0 aT.a 15 S 126z 0 105390 15==. 0
I12Tos. 0O s0.9 15 1 15120 - -
492956, 0O 94. 7T 15 =] 11550 1235, 0 109z, 0
BET4STT. O T1.0 15 = 14==_0 1411. 0O -
10sa0s. O BS.T 15 = 15410 10510 -
Z593397T. 0 ST.T 15 =] 11750 1117. 0O 1665 0
4TOOE3. 0 94,4 15 3 14=1. 0 14010 147TE. 0O
B4991z. 0 SG4. 5 15 S 19z=. 0 16610 19350
SE1=1.0 aTr.a 15 S 15150 135T.0 10900
Zz&TOa1. 0 94, 3 15 =] 14=4. 0 1554, 0 1zz1.0
447445, 0 G5. T 15 =] 1T4=_ 0 15600 15600
BZ1=17T.0 5=2.4 15 1 11940 - -
B415=. 0 55.5 15 1 10450 - -
Z2456537T. 0 [=1n = 15 1 12900 - -
4Z5T49. 0 TS. T 15 = 11650 1055 0 -
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Type 5 Radar Waveform_20

Bor=+%t Pal=e Cyirp Homber oif
?ﬁ:SEt Width C(o=) };ﬁ;? g:i::s e PFPRT 1 o< PRET 2 Cas) RT3 Cax
S10107. O 9.0 19 = 115s9. 0 1=47. 0 1507, O
ISs107T. 0 BS.9 19 1 191=. 0 - —
1s6e90=. 0 =25, 1 =] = 1734, 0 1376, O 1s=s0. 0
SS994T. O S1. = 19 = 19549, 0 1011, 0 -
4OZEEE. O B4, 1 hR=] 1 1507. 0 - —
16=05. O 4. 1 19 1 145, 0O — —
156S51=. 0 So. 9 19 = 1562 0 10E58. O —
FZ0OTeg9. O BES. = =] = 1S7T=. 0 190=. 0 —
4TS0S, O Ba. 5 19 = 1505, 0O 1941 . 0 -
[=h=3==t= i | p= = =] hR=] = 1zs=. 0 1497. 0 100=. 0
14939319 0O TT. B 19 = 1155 0O 1904 0O —
IO=Z9ST. O BZ. 5 19 1 1Sz=2. 0 - —
A4SS0O0eT. O =21. 6 19 = 1071, 0 15616. 0 —
BOGSSE. O S1.6 19 = 1T41. 0 1554, 0O -
1Z1481 .0 sa. = hR=] 1 158=. 0 - —
254406 0O BES. S 19 1 1=Z40. 0O — —
A4SITZEE. O (=1~ =] hR=] 1 127493, 0 - —
SSEsE1eT. 0 =1.1 19 = 15=1. 0 1=5=7. 0 —
l11zazS. 0 B3, 4 19 1 1545, O - -
Type 5 Radar Waveform_21
Buor=t Pul Chirp Homber of
Dffset '.diﬁ (as) |Hidth Fulses per |[PRI-1 (us) ([PRI-Z (us) (PRI-3 (us)
(=] r o (MH=x) Buarst
420386, O BT. 1 a z 1083. 0 1181. 0 -
BEZEEZ. O 51.5 a 1 1490. 0 - -
04514, O 5.9 a 1 1731.0 - -
145451, 0 51,7 a z 1010, 0 1902. 0 -
390729, 0 52.6 a 1 15832, 0 - -
B3IZ015. O BT. 4 a z 1599. 0 1491.0 -
GT3423.0 TE. 9 a z 1965. 0 1555. 0 -
115865, O T1.5 a z 1916. 0 1233. 0 -
359970, 0 98, 3 a 3 1875. 0 170E. 0 1045. 0
BOZZ89. O BE. T a z 1533. 0 1504. 0 -
G43606. O 0.1 a z 1934. 0 1643. 0 -
G5T31.0 98, 5 a 3 1515. 0 1&21.0 1535. 0
Type 5 Radar Waveform_22
Burst Pulse Chirp Huomber of
Offset Width (as) Width Fulses per (FRT-1 f(u=) |[FRT-2 (us) |[FRI-3 (ux)
(=) (MHz) Burst
441831.0 B1.3 B 1 1301.0 - -
TE3I3ET. 0 856 B 3 1077.0 1044.0 1852.0
10537490, 0 1.5 B 1 1865, 0 - -
TE945. 0 BZ.1 B 1 1813.0 - -
402124, 0 B1.4 B 1 10160 - -
TEG111.0 B0 4 B 1 1277.0 - -
1048435, 0 83.1 B 2 1693, 0 1793.0 -
F0166. 0 E4.1 B 1 19130 - -
3R1TE4.0 BT.T B z 1316.0 167TE. 0 -
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Type 5 Radar Waveform_23
Baor=+it FPul=e Chirp Huoumber of
Dff<et Width [ 3 Waidith Pulse= per |[PRT—1 f(u=) |[PRT—2 (uas) (PET-—3 (a=)
(a=x] * — (MH=] Burst
258495 T. 0 BE_1 15 1 17550 — —
SESZ49. 0 SZ. 6 15 = 16050 17100 -
T4EOED. O T4 5 15 = 1935 0 1614 0 —
1507010 TS, 2 15 = 16670 15620 -
ZE1443. 0 91._1 15 = 1142 0 14=7T.0 15720
S45055. 0 TS. O 15 = 1245 0 19450 -
TZES1S. 0 B2 T 15 1 1475 0O — —
1557420 553 .2 15 1 1925 0 - -
SISSEE4. O 85 68 15 ] 15370 15230 1533 0
SzOTS0. 0 s0.5 15 = 14850 186550 -
TOL7T3aZ. 0 TS, T 15 = 1555, 0 1330, 0 -
1E8=Z07T. 0 T1. 3 15 = 1=15. 0 105=Z_ 0 -
516950 0 ao. 5 15 S 10730 1547T. 0 10590
4974940 93 =8 15 = 1T1i6_ 0O 14370 12630
BTS00, 0O TT. 2 15 = 10540 16730 -
11=7T52. 0 831 15 = 1855 0 1952 0 —

Type 5 Radar Waveform_24
Boar =+t Pol = Cyirp Homber oif
?£:§et Width Ca=s) };ﬁ;? g:i::s e FRT—1 Coa=s] FRT—> (o= FRT—3 o=
Z24T7TTIS. O S, = 1 = 1=40. O 1499. 0O 103565, O
A4A000=7T . O =5, 4 1= = 1551. 0 11565, 0 1Z26=. 0
SS4=Z11. 0O B3, T 1 1 1=S27. 0 — —
TESSS. O =T. = 1= = 1755, 0O 10=5. 0 1TT7TE. O
Z29zZ0S. O SS9, 6B 1 = 1S0o0. O 11s0. 0 11=z6. 0
SES0908 . O =4, 0 1= = 1559, 0 1=95. 0 1754, 0
S3IZ1=Z=. 0 99, B 1 = 14=2=. 0 1095, O 1951, 0O
S=E17T=s.0 =29. = 1= = 1107. 0 140=. 0 14941, O
Z10zZ05. O a5, 4 1 = 1S40, 0O 1565, 0 14==. O
SE4zZ10. 0 [ =1 - 1= 1 1zZ0z=. 0 — —
S1a=Z65. O TT.1 15 = 1155, 0 1050, O —
=Zg94sE. O =0, 1 1= = 1206, 0 1905, 0 —
191954, 0O B9, 4 15 = 1TTS. O 1190. O —
Z4=Z514. 0O 9=, 0 1= = 11Z27. 0 1088 . O 188=. 0
49TT1I=. 0 S55.0 15 1 1901. 43 - —
ZOT1i1. 0 T=. 93 1= = 1=04. 0 1735, 0O —
1TS3151. 0 BT.0 15 = 1554, 0 1=79. 0 —
EZEIZ0O. 0 5. = 1= = 10Z6. O 11=5. 0 1406, O
4T3aS49. O S1.0 15 1 1045, O - —

Type 5 Radar Waveform_25
Bur=t Pul Chirp Homber of
Dffset '.d:; (as) |Hidth Fulses per |[FRT—-1 f(ux) ([FRI-2 (u=) |[FRT-3 (us)
(axs) r o (MH=x) Barst
307T1.0 E5. 19 10 = 1410.0 1349.0 -
244775, 0 a1.1 10 3 1120.0 1257.0 1027.0
457359. 0 53. 4 10 1 1804, 0 - -
TZAZ32. 0 Bl.6 10 1 1973. 0 - -
QEASZE. O 9z. 5 10 3 16815, 0 1125. 0 1040. 0
Z15411.0 4.1 10 1 1510. 0 - -
456534, O T1.2 10 z 1511. 0 1619.0 -
899940, O 55.3 10 1 1227.0 - -
QIVETE. O 5.0 10 3 1436. 0 1137.0 1302. 0
185510, 0 51.3 10 1 1595, 0 - -
427014, 0 TE. 1 10 z 1506, O 1414.0 -
BESIZ0. O TO. 9 10 z 1976. 0 1013. 0 -
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Type 5 Radar Waveform_26

Bur=st Fal Chirp Homber of
Off=set 'idfﬁ (ax) |Hidth Fulzexz per |[FREI—1 f(us) |[PRI—2 (u=s) |[PRI—3F (u=)
(as) (MHxz) Burst
SE0495. 0 a1. 5 11 ! 1015. 0 1492, 0 1536, 0
143535, 0 T4 3 11 = 1919, 0 1002, 0 -
EEEETS. O Ta.0 11 = 15T&. 0 1405. 0O -
SEOOSS. 0 TT. 2 11 = 1230. 0 1550, 0 -
Gilzd4s5. 0 TT.0 11 = 1995, 0 1615. 0 -
11807, 0 Ba. 3 11 = 1175. 0 1525. 0 -
EE0E49. 0 TE. @ 11 = 1460, 0 1357. 0 -
SEETO0. 0 TS, 2 11 = 1176. 0O 1217.0 -
TEST19. 0 gz.1 11 z 1133. 0 1554. 0 -
88522, 0 83.0 11 z 1287. 0 1930, 0 -
F11299.0 85.0 11 3 1099. 0 1425. 0 1645, 0
534925, 0 g81.8 11 z 17T75. 0 1054. 0 -
TSTT31.0 T4. 8 11 z 1650 0 1B35. 0 -
Type 5 Radar Waveform_27
Bor=1%t Pal=e C]_:Lirp Homber of
l:z‘fi-)_:et Width Co=) 'I'(;]d{;?. gz;:s prer |FRT—1 (o= FRTI—Z f(uas) FRT—3F C(m=s]
48533, 0 aT. 9 16 = 14350 1307. 0 15568 0
217209, 0 [=F=r 16 = 1274. 0 14520 -
SIEE9ET. O 835 16 = 16==.0 1055 0 14520
SSEES30. 0 an. & 16 = 15=1. 0 14150 15500
ZEEE9. 0 T™r. 7T 16 = 1=241. 0 1=z00. 0 -
l198E85S. 0O S4. 5 16 1 1046 0O - -
FET1I3a. 0 S4. 5 16 1 1956 0 - -
S35353. 0 4. T 16 = 1TS=. 0 1450, 0 196&. 0
4545, 0 Q=5 16 = 1195, 0 17TTT. 0 1154. 0
17TS4=25. 0 5535 16 1 1TT=Z.0 - -
F44554. 0 aQ=_0 16 = 1<-td. 0 1950. 0 1659. 0
S15631.0 a0 5 16 = 1579, 0 1Ti1. 0 -
BESE3ITT. O TL. S 16 = 1954. 0 1205, 0 -
154150, 0O TL. 2 16 = 103=. 0 1Tiz. 0 -
3244750 T=. 1 16 = 1940, 0O 1325. 0 -
495055, 0O [=T= ] 16 = 167TT. 0O 1=299.0 -
BES454. 0O TS, T 16 = 1665, 0 13930 -
Type 5 Radar Waveform_28
Bur=st Pulse Chirp Humber of
Dff=set . ¥i1dth Fulses per [FRI-1 (u=s) (FRI-Z2 (us) |[FRI-3 (us)
¥1dth (us)
(us) (MHz) Burst
2837540 GBl.6 5 1 1820.0 - -
E45959. 0 a4 5 3 1592. 0 1524. 0 1365. 0
1010319.0 T1.3 9 2 1006. 0 1032. 0 -
13T1575.0 a5 4 5 3 1Te3.0 13T2.0 1135.0
238593, 0 g5, 3 S 3 1736.0 1101.0 1482. 0
BOZ310.0 5.8 5 1 1927.0 - -
AR42TE. 0 0. 4 9 3 1270.0 15TG. 0 1196.0
1327T2T.0 TO. 3 5 2 1T52.0 1575.0 -
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Type 5 Radar Waveform_29

Bor=1%t Pal=e C]_:Lirp Homber of
NDffset Width Co=) Width Fulses per |[FPET—1 (o=x) |[FRET—2 (oaxs) |[FET—3 (oxs)
(a=) (MH=x) Buor=st
g111=.0 TGO 16 = 19=1.0 12160 -
ZERZZO&. 0 S4. 5 16 1 13T, 0 - -
A4514=Z65. 0 (=10 -y 16 =] 1110 15440 12910
BOZTS9. 0O BT. 6 16 = 135650 1356=.0 -
TO1Z=. 0O B5. 9 16 = 1245 0 1554 0 -
239599, 0 s5.93 ie 3 17T4=. 0 18230 1ez9. 0
411575, 0 SE.1 16 1 156350 - -
SSZO0SS. 0 T1. G 16 = 109z 0 12520 -
4539750 GB. S 16 =] 14700 ZO0oo. 0 15250
2191140 g4 5 16 =] 15510 14590 12500
359945, 0 51.5 16 = 199&._ 0 1=24=_ 10 -
S5S9005. 0 5T.5 16 =] 17550 15550 1861=._ 0
2513535, 0 BT.T 16 = 185Z. 0 12510 -
1959565, 0 =1 = 16 1 17300 - -
SBES5S1.0 [=1= = 16 =] 186550 1054 0 13=1. 0
S39562. 0 TO.T 16 = 13700 1561350 -
T1S4. 0O TG, 2 16 = 1TTa. 0 1454 0 -
Type 5 Radar Waveform_30
Bor=st Pol=e l:]_lirp Homber of
Dff=set Width C(as) Width Ful=ses per |[FEI—1 (us) |PERI-Z C(us) |[FEI-3F (uxs)
(a=s) (MH=z) Buorst
200925, 0 99. 1 14 = 197, 0 10e9. 0 1Ts0. 0
395430, 0 B5. 9 14 1 1399.0 - -
SS6560. 0 5T.1 14 = 1549. 0 15120 157T0.0
TTIZ8Z. 0 6. 4 14 = 1933, 0 1025, 0 1997T.0
1TTIZ6. 0 55. = 14 1 1445. 0 - -
SIBQSEE. 0 95,1 14 = 1523, 0 1T=4. 0 189=. 0
S85054. 0 53. 7T 14 1 1TSS, 0 - -
TSS93Z. 0 5a.5 14 1 1484 0 - -
153995. 0 S56. 3 14 1 15368, 0 - -
34TZ2035. 0 T1. 4 14 = 1419.0 1271.0 -
539981 .0 96, T 14 = 1340. 0 1144 0 111=. 0
T34STO. 0 BO. 5 14 1 1690. 0 - -
130009, 0 Ta. 5 14 = 16&4. 0 10z21.0 -
SIZ2EEZE.0 BZ. & 14 1 1&01. 0 - -
S164S4. 0 TE. 9 14 = 1515. 0 1639, 0 -
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Radar Type 6 - Radar Statistical Performance

Trail #

1=Detection

0=No Detection

Trail #

1=Detection

0=No Detection

—_

1

16

1

17

18

19

20

21

22

23

O | | N ||l W|DN

24

-
o

25

—_
—_

26

RN
N

27

—_
w

28

—
o

1

29

[N
(&)

1

30

Detection Percentage (%)

100%

Type 6 Radar Waveform_1

rioe tmnzy |O 1 = = *

(8] [=t=4rgm} S=45 S=es S=E1 =5=0
= SS6T Sa451 S491 S5=11 SESS
A [ =0 = (=g ] = R=1=] =551 ST15S
1= SasT =10 Sas= =551 ==0a
= =STO= S==9a =471 SEES =55=
=0 Sa407 S=55 S4=1 S=Ea9T S5=Ta
= n | [=ped=1=1 SE19 S=E5S =555 SEal
== [=t=ar g =1 ==51 SEAS ==1= =T=0
RN SSTS SSoE S=Z91 S=T1 =450
b 1= S535= [=1= =] ST14 SESS Sa1S
L= n | =sTo3a STOS SS&e0 S455 S==-a
== SESS Sa44= S=Z=20 =45 S554
50 SE5S1 SEAaS S4135 S=T1 SESE
5G5S =T1T S==9 SS33= SE5S- S==0
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85 S47T= ST=1 SE5S S450 SE1T
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Type 6 Radar Waveform_2

Iioe Ganzy |O = = = =
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Type 6 Radar Waveform_3
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Type 6 Radar Waveform_4
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Type 6 Radar Waveform_5
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Type 6 Radar Waveform_6
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Type 6 Radar Waveform_7
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8 = R S5=1 SE=T S555 SToOl1
b= 10 | S&EOS (=1 == =470 =445 SBT3
L= L= STES 5255 5554 S3635 S4=5
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Type 6 Radar

Waveform_26

L tanzy | i = = =

(5 ] S385S 5T15S 5SS S=595 5544
= ==T1 S=1= S=59 =739 S=53=T
A =440 SEE0 S=90 S1E5E S=Z5s
1Y ==t =] L= Sh=d oy EETZ2 S=0z (=1 S Ao
= SE0O1 =S5S== S=5T S45S S45S
=D S54565 55=T 5=TS 55TS S5=5S0
=D ==TT S=T4 =14 =1 =1 =121 SaST
== S5=T SEE1 S0 =s==9a1 E=t=1m =~
Ak Sa== S5l S=0E =1 = = = =357
e 1= SE0O= =E=03= =T7ToO1 S5=0 EEEE
L= 1§ | S445 =559 SEES S4=S0 =475
== S=94 5453 5455 S451 S04
[=1n ] ==1= S=5S SE4T =1 S h= =g SE==
[ =1=1 =S=1= SESE =517 s=== S53=5=
T S5=45 =E==T =E=T1 S5=45 =409
Trs S40= ==11 =ara i =1=h=1= | =595
(s1m] S5555 5355 5Sa5S 5454 S504
85 =4=9 S54aT Sa4aT =ST1E 14
h=1n ] S==1 I=t=t=1. 8 Sa=1 === = = =
h= =1 =STOE S=0T == =34 =s=1= SZ51

Type 6 Radar Waveform_27

Liot  tanss | i = = -

(0 ] SE15 SEq4== SEEO1 === | EEEE
= SE16 5T7T1= S44d 53587 5541
A ==T-1 S S4=1 =1 =1 = L=pcimi=]
1Y SET1 EEES ==00 S5=47T E=EE=
=1 =1 = mi=] 5SS S5TOsS 55T 5455
=25 ==T1 =S=Ta ==t =11 S==5= Sa13
=0 SZEE =ETOE =E=E05 5273 EESS
5= sS=51 S5=5S0 S5=9a5 S=59 5544
Ak =1 =4 1= L=1=ari=] S=5= =S=0= S53=55T
1= SS55S4a SBEST =551 S=TO =S5SS0
== | sSe== S&10 S=TT =1 = SZa=
=11 =s5=1 SEEE Sa0g9 s=e5d S35
(=1 n ] S47T5S SESS =445 S=gz =T=E=
[ = 1= ==49 SS=5 S5 =1 = S=T=
o =471 === S=55 ==T= S35
Tre S5=99 S5a411 5354 5517 535435
f=im] =1 =g =1=] SS54a= S=55 =S=0T Sa4=5=
84 S=== S3=3=52 S=Ze0 =719 Sa45=
L=1n ]| =1=d = Sl 55855 541656 S550=
b= =1 SE=-1 Saa= Sa=9 =47TT Sa=0

Type 6 Radar Waveform_28

LI tanzy |o o = = =

(5 ] 53595 =ST=1 55357 S0 SE05
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=2 SS=0 sS==5= S5 SS5EE =411
=25 S50 sS=== =T A== Sa55 S515
=0 =451 S=5= EEES E5== [=1=1m =y
== 1= 5390 53=7T1 S54=-= 52855 5545
<Ak Sa=0 L= =14 S=a0 S5168 ===
A S=Zgs =193 =710 =257 Sa455
= =525 SEE1l SESEG S4q4=4 SEBEgO5
== 53TEB =1 =L=1 1 S5=99 5455 S355S0
[=1n ] S51= ==9T =1 == 8 S5AT =ST1E
[ =1 =1 S=Z25= == =] =1 == | =4 S513= S5=T
T =559 =S4T =4=1 =551 SEBT1
= =719 ===1 =414 S55581 ===1
E=1m ] I=t=t=]m] S405 S4=5 S5a= SE0=
S 1= =470 SEZ=S =ET=E= (=g = Y == m =
L=1n ]| S5aa4= S55=5 5257 5475 5435
b= =1 S5S5S sSE== S==41 SETS =1
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Type 6 Radar Waveform_29

rioe tmnzy |O = = = =

(m ] =1 = L] == = S4T= SE01 = A A
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L 1= SZ5S sS5=22 SSES= S499 ST1lE
=i S455 sST=E== SE40 S55654 SE45
== S=ga= S=0- S=51 == =1 S Sa=-1
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= S&T1 =1=1—hr} =1 = =] STOE SE=1
=50 ==T1 =S=ZT3E =R =] S4z25 S&51+4
{5 L= S554= S5350 S=6= 5515 S41=
=18 | sS=55 =SS=T =415 S4TS == —hr
b= L= =a4=0 S=03= S=50 S=g9= =47

Type 6 Radar Waveform_30
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Report No.:2105TW0602-U5

Product

ACCESS POINT

Test Site

SR2

Test Engineer

Eric Lin

Test Date

2022/02/25

Test Item

Radar Statistical Performance Check (802.11ax-HE80 — 5530MHz)

Radar Type 1 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
1 5491 1 16 5491 1
2 5504 1 17 5506 1
3 5511 1 18 5543 1
4 5498 1 19 5512 1
5 5564 1 20 5548 1
6 5535 1 21 5498 1
7 5564 1 22 5541 1
8 5540 1 23 5552 1
9 5538 1 24 5501 1
10 5532 1 25 5503 1
11 5529 1 26 5519 1
12 5530 1 27 5513 1
13 5535 1 28 5552 1
14 5492 1 29 5542 1
15 5499 1 30 5569 1

Detection Percentage (%)

100%
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I ‘ Report No.:2105TW0602-U5

Radar Type 2 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5569 1 16 5530 1
2 5568 0 17 5534 1
3 5549 1 18 5544 1
4 5537 1 19 5518 1
5 5500 1 20 5514 1
6 5568 0 21 5501 1
7 5554 1 22 5534 1
8 5501 1 23 5532 1
9 5515 1 24 5522 1
10 5526 1 25 5541 1
11 5524 1 26 5563 0
12 5501 1 27 5554 1
13 5527 1 28 5514 1
14 5553 0 29 5537 1
15 5496 1 30 5491 1
Detection Percentage (%) 86.7%
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Radar Type 3 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5491 0 16 5547 1
2 5548 1 17 5509 1
3 5491 1 18 5511 1
4 5566 1 19 5547 1
5 5538 1 20 5504 1
6 5542 1 21 5511 1
7 5544 1 22 5502 1
8 5546 1 23 5552 1
9 5534 1 24 5500 1
10 5522 0 25 5509 1
11 5541 1 26 5563 0
12 5548 1 27 5534 1
13 5553 1 28 5538 1
14 5508 0 29 5555 1
15 5530 1 30 5569 0
Detection Percentage (%) 83.3%
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Radar Type 4 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5530 1 16 5564 1
2 5550 1 17 5569 0
3 5509 1 18 5561 1
4 5550 1 19 5509 1
5 5547 0 20 5526 1
6 5506 1 21 5510 1
7 5518 1 22 5547 1
8 5569 0 23 5511 0
9 5566 0 24 5529 1
10 5491 0 25 5568 0
11 5552 1 26 5549 0
12 5566 0 27 5556 1
13 5532 1 28 5520 0
14 5530 1 29 5532 1
15 5541 1 30 5491 0
Detection Percentage (%) 63.3%

Note: In addition an average minimum percentage of successful detection across all four Short pulse radar test

P1+P2+P3+P4 _
4

waveforms is as follows: (100%+86.7%+83.3%+63.3%)/4 = 83.3% (>80%)
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Type 1 Radar Statistical Performance

3 Radar Loilem Aamber of | ¥aveform
Trial T4 Tope tld;h FRY Cas) Pol=e= %::%th
=
Download o Type 1 1.0 TTS. 0 B SzZg04. 0
Download 1 Trpe= 1 1.0 S0BE. O 15 S5156. 0
Download = Type 1 1.0 535. 0 55 SzT94. 0
Download = Type 1 1.0 Ti5.0 T4 S31=2.0
Download E Tspe= 1 1.0 595, 0 TE SE045. 0
Download s Type 1 1.0 B55. 0 s1 S3zE5. 0
Download & Trpe 1 1.0 B1E. 0 B SS514E. 0
Download T Trpe 1 1.0 o955, 0 =T SS486. 0
Download 5 Trpe= 1 1.0 TEE. 0 i SSAe6. 0
Download 9 Type 1 1.0 915. 0 S5 Ssza4. 0
Download 10 Tspe 1 1.0 S5TE. 0 as S5S31TE. 0
Download 11 Tspe= 1 1.0 s595. 0 s9 szasz. 0
Download 1z Tsp= 1 1.0 515.0 102 SZEE6. 0
Download 15 Tspe= 1 1.0 BS5. 0 55 szas4. 0
Download 14 Tzpe= 1 1.0 S35.0 a9 S3ZE2. 0
Download 15 Tspe 1 1.0 z198. 0 =5 S4900. 0
Download 16 Tzp= 1 1.0 955. 0 SE SSas0.0
Download 17 Tspe 1 1.0 2551. 0 =1 SSE5d. 0
Download 15 Tzp= 1 1.0 1115. 0 a5 S3S5=0.0
Download 19 Tsp= 1 1.0 2z04. 0 =4 SZE98. 0
Download =0 Tspe= 1 1.0 =700, 0 =0 S4000. 0
Download =1 Tzpe= 1 1.0 5T1.0 T S3009. 0
Download =z Tspe 1 1.0 ZEE1. 0 =0 SSEE0. 0
Download =3 Tspe 1 1.0 1190. 0 15 S3550.0
Download =4 Tspe 1 1.0 1194. 0 15 SITS0. 0
Download es Tzp= 1 1.0 g8z, 0 S5 Ss=910.0
Download =) Tsp= 1 1.0 2053, O ) S4155. 0
Download =T Tspe= 1 1.0 1079, 0 a9 S25T1.0
Download za Tsp= 1 1.0 957. 0 58 sS3592. 0
Download =9 Tspe 1 1.0 2=TT.0 =4 S464E. 0
Type 2 Radar Statistical Performance
Trial Id %;::r Aty FPRL C(a=) Pomber of :::;f;f-
Cas) Ca=)
Download o Type = 1.9 Z03. 0 =g SS57T. 0
Download 1 Type = 1.9 17T9.0 =4 4z9E. O
Download = Type = 1.5 175. 0 =R AZT=E. 0
Download = Type = ERE) 17TE. O =8 ASTE. O
Download 4 Type = 1.7 Z15.0 =g E32=. 0
Download s Type = 1.5 ZO0. 0 =g SE00. 0
Download = Type = 5.5 150.0 =7 ASE0. O
Download T Type = = =2 1s9.0 =5 FETS. 0
Download = Type = 1.4 190.0 e ASTO. O
Download E Type = Rk 159. 0 =T S105. 0
Download 10 Tspe = =5 1e2. 0 L 4z1=. 0
Download 11 Tspe = 1.2 z19.0 =5 SOST. 0
Download 1z Tspe = 5.3 z=9.0 L S954. 0
Download 13 Tspe = 1.5 195. 0 =g SS9T. 0
Download 14 Tspe = 5.7 1s0.0 =7 4050, O
Download 15 Tspe = =. 9 =50, 0 =8 SoS0. 0
Download 18 Type = 4.9 z10.0 =g s090. O
Download 1T Tspe = =N 195.0 =5 ASTS. O
Download 15 Type = 4.7 z17.0 =g BzZ9E. 0
Download 19 Trpe = 1.5 226, 0 25 Szdad. 0
Download =0 Type = 1.1 z11.0 == 4555, 0
Download =1 Trpe = 4.9 216.0 =9 B26d. O
Download =z Typ= = =z 171.0 == 4275, 0
Download =3 Trpe = 1.8 186, 0 =9 4514, O
Download =4 Typ= = =. 3 180.0 == 4000, O
Download =5 Trpe = 4.4 2E6. 0 == BIS2E. O
Download =6 Typ= = 4.1 199.0 == ssT=. 0
Download =7 Tspe = 1.2 2z4.0 25 5152, 0
Download ) Typ= = =z 175.0 == 4575, 0
Download =9 Tspe = 4.9 1s2. 0 =9 4405, O
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Type 3 Radar Statistical Performance
Trial T4 %;::r At PRT (o= Pomber of r.::;fl‘:r-
=D Coa=)
Downlao=ad (m} Trxp= = a.9 =e9. 0 1= eG4z 0O
Downdl aad 1 Twpe I B.9 454, 0O 15 TT44. 0O
Downlao=ad = Trxp= = (= =] =270, 0 16 43zZ0. 0
Downdl aad 3 Twpe I S5. 3 SSE. 0 17T ST1i=.0
Downlao=ad 1 Trxp= = L= ard =Z9a.0 1= El10=. 0
Downdl aad =1 Twpe I 9.5 451 .0 15 SESS. 0
Downlao=ad = Trxp= = =.5 =T=.0 1= EG95. O
Downdl aad il Twpe I T. 2 454, 0O 15 5944, 0O
Downlao=ad = Trxp= = E. 4 Zz59. 0 16 4144. 0
Downdl aad k=) Twpe I [= =211. 0 15 SIT9S. 0
Downlao=ad i0 Trxp= = = =T1.0 17T EZO7T. 0
Downdl aad 11 Twpe I B, 2 S49. 0 15 S554. 0
Downlao=ad 1z Trxp= = =.3 41S. 0 17T TosSs. a
Downdl aad 1= Twpe I 9.5 Z244. 0 15 459z, 0
Downlao=ad 14 Txp= = =S, T =TE. O 15 ETGS. O
Downdl aad 15 Twpe I T.93 47T1. 0 17T SOooT. 0O
Downlao=ad 15 Txp= = f= =] =255, 0 15 =154, 0
Downdl aad 17T Twpe I T. 6 455, 0 17T TTSEG. O
Downlao=ad 15 Txp= = b= ZZ0. 0 15 ZF9a0. 0O
Downd aad 13 Twpe= = B.5 454 0O 18 T4AZ4. 0O
Downlao=ad =Z0 Txp= = E. 1 4=5. 0 16 [=3=1=Tun]
Downd aad =1 Twpe= = == ZEs. 0 15 S1=0. 0
Downdl aad =z Txpe S T. = 35T7T.0 16 ST1=_ 0O
Downd aad =23 Twpe= = b= = Z2Ts.0 15 SO0t O
Downdl aad = Txpe S T.3 453 0O 16 TSEZ4 0O
Downd aad =25 Tx=p= = L= 3 =ZT.0 15 SEEE. 0O
Downdl aad 6 Txpe S a1 =55 0 15 4590 0O
Downd aad =27 Tx=p= = [=-= 2530 18 4EZ4. O
Downdl aad =5 Txpe S T. = =4=_ 0O 16 F5T=.0
Downd aad =29 Tx=p= = == 4Z=. 0 15 TE14. O
Type 4 Radar Statistical Performance
Trial ITd ¥;::r ratay PRL C(a=) Pomber of {ZZEfiZ"
o= [T ]
Downdl aoad () Tep= =1 19. 5 =EEQ. 0O 1E S904. 0O
Download 1 Txp= =i 15,1 454 0 1= EZ9=_. 0
Download = Twpe= -4 1=. 7T =Z7To. 0 1= S=40. 0
Download = Trxp= -1 156. 1 3360 14 4704, O
Download <1 Txpe= -4 19. =2 SS90 1a S424. 0
Download = Trp= -1 19. 1 451 .0 156 TEYE. O
TNownlo=ad (=) Txpe= -4 17T. 4 ST=.0 15 S5S50. 0
Download T Twp= -1 1=. 5 A4=4 .0 1= SE4Z. 0O
TNownload f=1 Txpe= =4 11. 49 =590 1= 105 O
Downdload L= Txp= < 1T. =2 =Z11. 0 1= F1es. 0O
TNownload 10 Txpe= =4 151 3T1._ 0O 14 5194 0O
Download 11 Twpe= -4 11. 4 S49. 0 1= 4155, 0
Download 1= Trxp= -1 156. 1 410 14 Ss10. 0
Download 1= Twpe= -4 19. 5 =244 0 1a S904. O
Download 11 Trp= -1 17T.1 S3TE. O 1= SE40. O
TNownlo=ad 15 Txpe= -4 15, 4 4T1. 0 14 BSgo4. 0O
Download 1 Twp= -1 19. & ZES. 0 1E AEQE. O
TNownload 17T Txpe= -4 14 5 455 0 15 5954 0O
Download 1= Txp= < 19. = Zz0. 0 1E =200
TNownload 139 Txpe= =4 121 454 0 1= S565. 0
Downdload =20 Tep= =1 11. =2 4=5. 0 1= S=Z0. 0
Download =1 Txp= =i 192. 7T Z55.0 15 A4Ssse0. O
Download == Twpe= -4 1=, 7T =5T. 0O 1= 4541 .0
Download =3 Trxp= -1 19. 5 Z27Ts.0 156 a444=. O
Download =4 Txpe= -4 1=. 49 459, O 1= B3IST. O
Download =25 Trp= -1 15. 7T S27.0 156 S=2=3=.0
TNownlo=ad =6 Txpe= -4 1S. 0 =55. 0 15 SSES. 0
Download =T Twp= -1 11. 5 Z59. 0 1= Zd8E. 0
TNownload =5 Txpe= -4 153 7T Z4=_ 0O 15 S146_ 0O
Downdload =3 Txp= < 19. 5 4z==. 0 1E BTES. O
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Radar Type 5 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection

5530 1 16 5495.8 1

5530 1 17 5499 1

5530 1 18 5495.4 1

5530 1 19 5498.6 1

5530 0 20 5493.4

5530 1 21 5567

5530 1 22 5561 1

5530 1 23 5565.4 0

O | | N | |lwWw | DN|~

5530 1 24 5561 1

—_
o

5530 1 25 5565 1

—_
—_

5495.8 1 26 5561.8

—_
N

1
5493 1 27 5562.2 1
5496.6 1 28 5567 0

=
w

—
N

5499 1 29 5565.4 1

-
(@)]

5497 1 30 5561 1

Detection Percentage (%) 83.3%

Type 5 Radar Waveform_1

Bor =t Pol=a Chirp Huomber of

DOFfFfF=et Widah Coa=3 WadEti Pul==e=x per |[PHI—1 Coa=x] FPREL 2 C(as) PREL 3 Cax)
Coa= AH = Buoar <t

127S14. 0 5. & f={u] = 1S=27. O 1740, O 1SS56. O
ZTEEDT. O B51.7T =0 1 109=. 0 — —
4154853 O sa.a =0 1 17TE1. O — —
S51397T1. 0 TS, 3 =0 = 1557, O 15768 O —
109sST=Z. O as. 4 fdu] = 1900, O 1SS, O 1255, O
ESARST. O s . & =0 = 15135, O 1519, O 10135 O
SEPLIE. O S55. = =0 = 1=z5S. O 1=Z==. 0 1503 O
S4S5S5ST. O BS. & =0 1 15Es. O — —
ars4az. O 554 z0 1 1546, O — —
FIB355. O 541 =0 = 1524 O 1474 0O 1TiE. O
SFSEE01. 0 TE.S fdu] = 1545, O 1259, O —
SETSSS. O s5z. & =0 1 1TO=. O — —
TASSS. O TS, S =0 = 1151. 0 1501 . O —
Z15415S. 0O a7. 0 =0 = 1741. 0 18535, 0 1SES. O
FEIESZ. O S3.T =0 = 1433, 0O 11535, 0 1550, 0
S093541. 0 T4 = =0 = 1001 0 1454 0 —
SE489. O aT. & fdu] = 19395, O 1SS0S, O 1Se0. O
ZO01S9S. O 589, & fdu] = 1450, O 1Z168. O —
FAS4S. O as. a =0 = 173, O 104=. O 1501 O
4azSZ1. O SE. = f={u] 1 1zz0. O — —
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Type 5 Radar Waveform_2

Burst Ful=e Chirp Humber of
Offset Width C(us) Width Puolses per |[FRI-1 (us) ([PRT-2 f(uos) |FERT-3 (u=s)
(as) (MH=z) Bur=st
TOQ3S. 0 51.4 o 1059, 0 - -
2343530 a3 1 o 3 1729.0 1057.0 1223.0
599270, 0 B5. 0 o 1 1629.0 - -
gE143T.0 aT.o o 3 14860 13T&. 0 1333.0
3834T.0 BE.1 o 1 1974.0 - -
01748, 0 az. 5 o 3 1755. 0 1731.0 1003, 0
SR5031.0 a5. 5 a 3 1650.0 1850.0 1392. 0
309238, 0 £z g o 1 1610.0 - -
5E1T.0 B4. 8 g 1 1733, 0 - -
ZBI3TT. 0O Q3.8 o 3 1135.0 1047.0 1970.0
532913.0 a4, 4 = i 1105.0 1620.0 1492. 0
Type 5 Radar Waveform_3
Burst Polze Chirp Homber of
Offset - Width Fulses per ([FRI-1 (u=) [PRI-2 (ux) |PRI-3 (us)
(u=] Tidth (us) (MHz) Burst
aT7aTa0. 0 B0, 5 g 1 1012.0 - -
11857T4T. 0 a1.1 =1 3 17TE6. 0 1229.0 1950, 0
26032480 T7.2 = 2 1521.0 1396. 0 -
E51006. 0O TT. T = 2 1603, 0 1921.0 -
g42318.0 52.0 g 1 1927. 0 - -
1131265. 0 94.9 g 3 1315. 0 1123.0 1200.0
22496T.0 ga.1 g a3 1226.0 10940 1831.0
S516195. 0 59,1 g 1 1365, 0 - -
aos9s0. 0 T, 4 g 2 1640. 0 1100.0 -
1096125, 0 T4. 5 g 2 1464. 0 1525.0 -
Type 5 Radar Waveform_4
Buour=sti Pol=e Cyirp Huomber of
%£:§et Width Co=) 1;#:? ;:1::5 per |[PRT—1 Ca=s]) |PRET—2 (as]) |[FPELT—3 C(a=s)
12355, 0 g0, 0 14 1 1476, 0O - -
319199.0 T1. 4 14 2 1595 . 0 1980, 0 -
S13599.0 59,2 14 1 11650 - -
TOSTTE. O TS. 6 14 = 154z, 0 1430, 0 -
1az001. 0 Q0. & 14 = 1916 0 199T. 0 15330
ZaBez1s5. 0 BO. 5 14 1 13650 - -
4SS4T S. 0 aT7.0 14 S 14=1.0 123T.0 1045, 0
BSz104. 0 T3, 4 14 = 14890 1653, 0 -
TSEZG. O BES. 2 14 1 17710 - -
ZT1E0T. O Ba. T 14 = 1045, 0 1939, 0 -
468054, 0 B3, T 14 1 13660 - -
BESSZ30. 0 BE. S 14 =2 1077T. 0 1945, 0 -
S4TaE. O B3. 2 14 1 1S=7.0 - -
247535, 0 51.3 14 = 1903 0 1419. 0 -
441972, 0 s0.5 14 1 1789, 0 - -
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Type 5 Radar Waveform_5

Boar=+t Pol = C]_n.irp Homber oif
NDFfFfset Width Cos) Waidtih Polses per FPRET 1 L= | FRIT 2 LT | FREEL 3 o=
(o= (MM Bor =+t
4991739, 0 a5, T 19 b= 1=10. 0 17TTE.0 16520
=Z4436E. 0 (=== 19 1 100s. 0 - -
1TT113S. 0 Bz = 19 1 19=z0. 0 - -
=F=Zg9l1s. 0 S=2.5 19 1 174z 0 - -
4S5=ZTST. 0O 55. 0 19 1 1855 0 - -
S554. 0 =25 19 = 1=4=. 0 141=. 0 -
155594 0 S0, 5 19 1 15550 - -
ZF11338. 0 [=1 = 19 1 1=zaes. 0 - -
4514ST. 0O S99 5 19 = 195=_ 0 17TsST. O 1=4=_0O
E17T291. 0 Bl & 19 1 1049, 0 - -
1596150 51.5 19 1 136=_0 - -
=Z9z1s2. 0 =1.0 19 1 i1aavT. 0 - -
445350, 0O 59, = 19 = 15710 1444 0O -
SOTI04. 0O =17 19 = 11e=z. 0 109z, 0 -
1=0514. 0 TS, S 19 = 1465 0 15=4._ 0O -
=2T2322.0 L=t 19 = 1=10. 0 17Ts1.0 1=Z28. 0
4=EES0. O &0 4 19 1 1144 0O - -
STO3ssS. 0 [=1=g=] 19 1 1==5. 0 - -
101730 0O S1.5 19 = 1055 0 13650 -
Type 5 Radar Waveform_6
Bor =t FPol = I'_']_:-.irp Homber oif
DFFfFzeat Wadth Co=) Width Folcsexs par FRT—1 o= FRT—=F o= FRT—3 o=
o= aH= 3 Boar =t
2403916 0O 91. 5 19 = 1=65. 0 157T=. 0 1305 0O
SSaeESE1 . 0O TE. B 19 = 11549 03 10=0o. 0O —
SS=044. O S5, S = 1 1TS1. 0 - —
TST1S. 0O [ == ] 19 = 15=7T. 0 15635, 0O —
Z=ZS=4. 0 TS. B 19 = 115S. 03 1058=. 0 —
SESTTS. O =1.9 1ia = 11=27. 0 115=s. 0 —
S117T=9. 0 Q1.6 19 = 1s19. 0 1152 0 19730
Bl10O0=. O TS. S 19 = 1055 0 1044 0O —
ZOS3ITS. O a9, T = = 1=57T. 0 1095, 0O 1574, 0O
SSO9SE. O T=. 0O = = 1170, O 1000, O —
A4QSOSS. O SO, T 19 = 1=09. 0 19=5. 0 —
a=g=4. 0 o941 1ia = 1564, O 14==. 0 1=11. 0
1=795E1. 0 TTr. 43 1ia = 11=24. 0 1=s97. 0 —
S3313==. 0 g5 . 0 19 = 19585, 0 1847 0O 17590
A4TT1i=1. 0 TT. 1 = = 157T=. 03 1745, 0O —
Z2S5Z1=. 0 S5, 35 = 1 14=6. 0 - —
1TO0OSE. O S=.0 19 = 1947T. O 1050, O —
S1Z440. O S5, 9 1ia = 1TS=. 0 191=. 0 1941 . 0O
A4E0TO=. O L= - 1ia 1 1=94. 0 - —
TAOS. O T1. 4 19 = 1625 0 1s07T. 0O —
Type 5 Radar Waveform_7
Bor=1%t Pal=e C]_:Lirp Homber of
Offzet Width Co=) Width FPuolses per |[PET—1 (o) FRTI—Z f(uas) FRT—3F C(m=s]
(a=) (MH=]) Buor=t
1TsS94=. 0 9z 35 16 =] 137T=.0 1056 0 15440
SS0zZS0. 0 [=3= = 16 17T7To. 0 - -
SZ123534. 0 B4 T 16 1 15=1.0 - -
50515, 0 59 4 16 = 156950 140z 0 -
15535150 [=1== ] 16 = 10510 144=_ 10 -
SZS405. 0 T, O 16 = 17150 1545, 0 -
SO045=. 0 59,4 16 1 11550 - -
BE94S1. 0 Tr. T 16 = 12300 19400 -
135940 0 aQT. T 16 =] 1TSS 0 14=5. 0 11=5. 0
SOTOTE. O 55.9 16 =] 137TS. 0 17T&0. 0O 1z=T.0
ATSZSE. 0 T1.1 16 = 187TT. 0 11150 -
5495110 532 16 1 17050 - -
1168454, 0 s0. 5 ) 1 1480, 0 — —
Z25E5T9. 0 S51.5 16 = 13150 1917T. 0 -
ASEZ59. 0 59,9 16 =] 12510 18270 1504 0
BZTTSS. 0 T4 0O 16 = 17TST. 0O 1090, 0 -
QsO5S. O ao. 9 16 =] 11=5. 0 15410 1055 0
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Type 5 Radar Waveform_8

Bur=t Ful=e Chirp Hamber of
Dffset Width Cas) Width Fulsexs per |FRI-1 (u=s) |FEI-Z2 (ux) |FEI-3 (as)
(=] * = (MH=x) Bur=t
3TBBOZ. 0 94. 6 10 3 1053. 0 1215. 0 1373.0
B1TESt. O [=1= 0 =] 10 3 1319.0 1523. 0 17150
Sao0z49. 0 T1.0 10 2 1457. 0 1750. 0 -
105350, 0 BB, 4 10 1 1536, 0 - -
347451, 0 59.0 10 1 15320 - -
559644, 0 51.1 10 1 165Z2. 0 - -
S30615. 0 ™. T 10 2 12540 1511.0 -
TSEZ0. 0 59.1 10 1 1056, 0 - -
31T452. 0 BT. G 10 2 10&8T. 0 1351.0 -
5551585, 0 83.7T 10 3 1543. 0 15435. 0 1206.0
Soz465. 0 55.1 10 1 1029.0 - -
45656, 0 az. 2 10 3 1424 0 1065, 0 1209, 0
Type 5 Radar Waveform_9
Bur=t Pulse Chirp Homber of
Offset ¥idth (as) Hidth Fulzesz per (FRI-1 (us) |[FRI-Z2 (us) |[FRI-3 (ux)
(u=) (MHz) Burst
353534.0 TG. 3 & 2 1031.0 1136.0 -
TOS290. 0 a7. 4 & 3 12758.0 1644. 0 1902, 0
1029887.0 B1.T B 1 1T32.0 - -
21249.0 511 B 1 1213.0 - -
343350.0 94. 6 & 3 2000, 0 1490.0 1514. 0
BES406. 0 9.2 & 3 1531.0 1646. 0 1635, 0
959005, 0 823 B z 1235.0 1973.0 -
1313412, 0 Bl.5 B 1 1377.0 - -
303804, 0 6.4 & 3 142T7.0 17o1.0 1276, 0
Type 5 Radar Waveform_10
Buaor=+t Pal=e l:]_:ui:rp Huomber of
l:EEE;.set Width (o=} '(;]d[;:;l gzzts per |[FREI—1 a=s) FRIT—Z f(mas) FPRIT—3F f(as)
3I52531.0 1.4 15 1 1T49. 0 - -
SEZ097T. 0 98, T 15 = 159=.0 10s=. 0 1455, 0
Ti4950. 0 TZ2.5 15 = 117=.0 1099, 0 -
1457290 B3.9 15 1 1a17T.0 - -
Sz9590. 0 T™S. 8 15 = 14z==.0 1ia59. 0 -
S1i1512. 0 B3.T 15 1 195=. 0 - -
BOS0Z5. O 5T.8 15 1 1557T.0 - -
1261560 Tr. 4 15 = 1z91.0 1807. 0 -
SOsES9. 0 95,2 15 = 1=335=2.0 1z40. 0 1935, 0
45TEIZ. O a6, =2 15 IS 1=255.0 153=. 0 11z0.0
BTO937T. O S8.1 15 1 1510. 0 - -
1040170 535.1 15 1 1600, 0 - -
2854170 B4 5 15 1 190, 0 - -
454TSZ. O ST 15 IS 1599, 0 15=0. 0 1Taa. 0
B4SES1. 0O S0, = 15 1 1447T. 0 - -
Sl1E2355.0 553 15 = 197&. 0 154=. 0 1sez. 0
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Type 5 Radar Waveform_11

Barst Pul=e Chirp Homber of
DfEf=set Width 3 Width Ful=zex per ([FREI-1 (uxs) |[FRI-2 (u=s) |[FEI-3F (us)
(a=s) * — (MH=z ) Bur=+t
324055, 0 S4.4Q 12 1 15=1.0 - -
S48T20. 0 833 12 2 1T53.0 1035, 0 -
TT1ZE66. 0 55.0 12 1 1255. 0 - -
TE2T46. 0 8T.1 12 = 15250 1TES. O 1391.0
98B0, 0 EO. = 12 1 1271.0 - -
515307. 0 949. 3 12 <] 15020 16950 1054. 0
T41443. 0 95, 3 12 = 1197.0 18250 1295. 0
45507. 0 S4. 3 12 1 1157.0 - -
ZESOS6. 0 55. 6 12 <] 14450 17200 1577T.0
4917T4T. 0 T1. 4 12 = 1Z251.0 18550 -
T13445. 0O §55. 6 12 3 1654. 0 1596. 0 1267T.0
1763 0 59,4 12 1 153440 - -
240473, 0 99,1 12 = 1540. 0 1514, 0 1954. 0
Type 5 Radar Waveform_12
Burst Chirp Humber of
Ful=ze -
Offset ¥idth (us) Width Fulzez per (FRI-1 (us) [FRI-Z2 (u=) |[FERI-3 (ux)
(us) (MHz) Burst
ToE140.0 a6, 2 o 1 1561.0 - -
111T128.0 9z B 5 3 1441.0 1239.0 1999. 0
143323010 5T.5 5 1 1204.0 - -
347354, 0 Bz.1 o 1 1436.0 - -
TI1136.0 245 9 1 1852.0 - -
1072555, 0 93 2 5 3 1075.0 1709. 0 1T52.0
1434556, 0 0.0 5 3 1946.0 1416.0 1904. 0
J02546. 0 95.5 o 3 1570.0 1623.0 1260.0
Type 5 Radar Waveform_13
Buor=st Pul=e Cbirp Homber of
%££§et Width (m=) };ﬁ;?. g:izis prer |FRT—1 (a=s) FRI—Z2 (a=) PREI—3 (a=s]
355359, 0 525 14 1 1019. 0 - -
S4TS09. 0 83,35 14 b 1739. 0 12560 -
TIES35. 0 ST.4 14 5 1745, 0 16040 1a11. 0
137470, 0 B3, 9 14 b 1108 0 14560 -
3307240 S51.5 14 b 1214. 0 17230 -
S24=44. 0 T4. 4 14 b 1472, 0 115a. 0 -
TIESSS. O ST.5 14 be] 153=25. 0 1141. 0 15323, 0
113=30. 0 Q9.1 114 =S 1930, 0 14z=5. 0 11zz. 0
SFOE134. 0 59,0 114 =S 1957T. 0 1asg9. 0 10354, 0
sS0109=. 0 Bl.5 114 1 1555. 0 - -
Eg447T3. O 59,9 114 1 1555. 0 - -
SggzZg. 0 5l.5 114 1 1875, 0 - -
ZE3117T.0 55,9 114 = 119=. 0 1695, 0 -
4TS552. 0 59T 114 =S 1411. 0 1z45. 0 1T7zz.0
BETO9TO. O 55,5 114 1 1455, 0 - -
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Type 5 Radar Waveform_14

Bar =t gl Chixrp Humber of
?ii;et S Eam e 1;;;? ;:iE:S per [PRT—1 C(a=) [PRT—2 C(Ca=]) |[PRE-—3 Ca=2
4Q40E. O Ta. = f=u] =3 19568, O 1160. 0 =
194094, O Ta. 5 =0 =4 1B7TS. O 1E7TE. O =
SEE954. 0 TE. O =0 = 1559 0 1459 0O —
AG4BIS. 0O ET=RE] =0 1 1asa. 0 — —
S188S. O S51.3 =0 1 1584, O — —
1TESZE. O s5. = f=1=] ES 1547T. O 13035, 0 —
SZ1074. 0 TS. 3 f=tu] = 194z, O 1Zzz4. 0 =
ABTLIOS. O s54. 3 =0 1 1522. 0 = =
13755, 0O TS, = =0 = 11710 1432 0O —
15S7a57T. 0O ag. S =0 a 1502 0 19=1. 0 17TE4. 0O
SO54A15. 0 TS. 3 =0 S 1=54. O 1599, 0 —
AABTAS. O S5, 9 f=1=] = 17T9T. 0 107TE. O 1981, 0
SQ4TZ0. 0 53.5 f=ta] 1 1178, 0 = =
140333, 0O 95. & =0 = 1342, 0 17TOE. O 1515, 0
ZE4832. O 91.0 =0 = 1154. 0 18Z1. 0 1986, O
4516549 0O Sa.a =0 1 1108 0 — —
STSSZ1. 0 94. 3 =0 = === 1982, O 1z89. 0
123255, O B0, S =0 1 1z1=Z. 0 — —
ZETIEZT. O S6. 5 f=ta] = 1165, 0 1552, 0 1ozz. 0
41S264. O S2. 4 f=u] 1 1522, 0 = =
Type 5 Radar Waveform_15
Buoar=+t Pal Chirp Homber of
Off=ect E S Ca=) |Hidth Pul=ze= per (PET—1 (u=) [PRT—2 (u=) [PRT—3F (u=x)
(as) * = (MH=) Bur=+t
B959TZ. 0 so.0 15 1 1157T.0 - -
131409, 0 TO. T 15 = iaz1. 0O 1457T. 0 -
SlzSe9. 0 BT. 1 15 = 1445, 0 151=. 0 -
495905 . O TS. B 15 = 10750 1TaT. 0O -
BTSOTO. O T4. 5 15 = 150680 13450 -
1092561 . 0 ST. T 15 1 19=7T.0 - -
290595, O 85. =2 15 1 19=z=z.0 - -
4TOZ08. O gB. & 15 S 1Tas. o 11=0.0 1554. 0
BEITIT. 0 549. 8 15 1 1asz. 0 - -
SBESO4. 0 TS, T 15 = 15050 10740 -
ZETIO1. 0O Q5.0 15 S 1asT. 0O 14950 1B85E&. 0
445944, 0 s0. 2 15 = 1s0g9. 0 15040 -
BS13S0. 0 BE. & 15 1 1Tz4. 0 - -
Bd4419. 0 SGB. T 15 =] 1155. 0 15140 114=. 0
2455335 . 0 833 15 = 14050 10150 -
4zZSSE9. 0 ST. 4 15 =] 1S5S4, 0 150z, 0 1S41. 0
Type 5 Radar Waveform_16
Borst Pol=e Chirp Homber of
Dffset Width C(u=) Width Ful=es per |[FRT—1 (o=} |PRT—-Z (u=s) [PRT—3 (a=s)
(a=s) (MHz) Bur=t
BQ43968. 0 TS.5 1z = 1996 0 1951. 0 -
43115, 0 91.1 1z = 14=25. 0 1455, 0 1661.0
=z55114. 0 85. 6 1z <] 1z207.0 1340, 0 12850. 0
4BZT4=. 0 s50. 3 1= = 1046 0O 1539. 0 -
553544, O T4 Z 1z = 1263, 0 17T, 0 -
ZzE91 .0 TS. 9 1z = 1585. 0 1=254. 0 -
23024350 | 1z 1 1517. 0 - -
436653, 0 TL1. S 1z = 177TT.0 1544, 0 -
B449935. 0 55. 4 1= 1 15910 - -
S49549. 0 5T.6 1z = 1574, 0 1026, 0 1569. 0
203906 0 54.0 1z = 13560 1440. 0 19850
412440 0 50. 4 12 1 1014 .0 - -
B1TTZS. 0 95. 0 1z = 1096, 0 14z9. 0 1T34.0
SZES90. 0 51.8 1z 1 1589. 0 - -
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Type 5 Radar Waveform_17

Bar =t P Chirp Humber of
?Efiet EE S e 1;:1? ;uls:s per [FRT—1 C(a=) |[PRT—Z (u=) |PRT—3F C(a=)
1ZS=27T4. 0 BS. T =0 1 1S9z, 0 — —
FTOSa4. O =11 =0 1 117TE. O — —
414957, O EERE =0 = 1=04. 0O 1093, 0 —
SSa07S. N0 a7 = =0 = 17RO 1190 0 1438 0O
10TSSS. O === =0 1 1S=1. 0 — —
FSzEeaT. O =5 5 =0 1 1195, 0O — —
SOTO0E. O =T, 6B =0 1 125, 0 — —
SSasaT . 0 a7t = =0 = 1@9a 0 1412 0 1634 0O
Sozes. O TT. = =0 = 15z, 0 1541, 0 —
FE=EIE. 0 EERC =0 = 1za8. O 1T1s. 0O 1az6. O
SS0001. 0 R =0 1 1251, 0 — —
Szaz@l 0 1.8 =n = 119z 0 1115 0 —
TiZ1=. 0O o4, = =0 = 1S=s. 0 145z, 0O 1m=a. 0
ziseTa. O EENE =0 = zooo. O 1SS0, 0 1059, 0
SE1TTS. O S0 = =0 1 1S16. O — —
SOass0. 0 a5 1 =n = 1BT4 0O 1367 0 11370
Sa5sa. 0 o, = =0 = 1510, 0 1503, 0 —
1oszza. 0 BE. o =0 = 1To9. O 1S08. 0 —
SASESE. O ES. = =0 1 1597, 0 — —
4g0z4=. O EENS =0 1 1495, 0O — —
Type 5 Radar Waveform_18
Baor=t Pul=e Chirp Homber of
Dff=zet 5 Width Fulzex per ([FRT—-1 f(u=s) (FRT-2 f(us) |[FRTI—3 (us)
(a=) ¥idth C(us) (MH=z) Bur=st
55224.0 51.5 11 = 1110.0 1145. 0 -
2TERSZ. 0 531 11 1 1529.0 - -
S01515.0 TL.T 11 = 1875, 0 1252.0 -
TZ25916. 0 S6.5 11 1 1355. 0 - -
27TO1. 0 TS, 2 11 = 1030, 0 1Ti2. 0O -
250945, 0 T1.1 11 = 10350 157T3. 0 -
474545, 0 55,4 11 1 1919. 0 - -
BOBZE3SE. O 5. T 11 = 186835, 0 1195, 0 1194. 0
Z08. 0 TS. 1 11 2 1T27.0 1635. 0 -
223072.0 8T.3 11 3 1257T.0 1T26. 0 117T5.0
445262, 0 T3. 5 11 = 19240 1570, 0O -
BTOSG1. 0O 54.7T 11 1 1747.0 - -
590405, 0O 95. T 11 3 158730 1500, 0 1792, 0
Type 5 Radar Waveform_19
Bor =t —— Chirp Hoamber of
%ff§et et Ca=] E;Et? guls:s per (PRT—1 f(a=) ([FPRET—2 (a=) [FPRET—3 (a=l
134=18. 0O ST S 19 1 1097, 0 — —
sseazd. O Bz a 19 1 1545, 0 — —
ASSIEE. O as. = 19 = 1040, 0 104, 0 1084, 0O
S59155. 0 as. = 19 = 1554, 0 1559, 0 1S81. 0
1151=7. 0 To. 4 19 = 1zEz. 0 1zS5. 0 —
FERTIET. O S0 A 19 = 1554 0 1512 0 -
4z0z01. 0 T, = 19 = 1455, 0 1149, 0 —
STZITT. 0O Ta. T 19 = 1TTS. 0 1=58. 0 -
[ ==t=\r i n] 1.1 190 = 147S. 0 1Z681. 0 —
FAQEAS . 0O BI. T 19 1 15568 0 - -
400253, 0 as. 0 190 = 1745, 0 1071, 0 1549, 0
SS4110. 0 BT = 19 = 1401 0 1n=s. 0 -
TT215. 0 az. 5 190 = 1STS. 0O 1SEE. O 1800, 0
FzamaT. 0 ErE= 13 = 1056 0 1TS0. 0 16SS. 0
SES1S1.0 BES. B 190 1 1880, 0 — —
SS4a66 0 T1. 0 13 = 1455 0 1SS0, 0 -
S5510. 0 =55 = 190 1 1515, 0 — —
113110 BT = 13 = 11170 1403 0 -
SESEAZ. 0 ET. 0 190 = 1SST. 0O 1808 0O —
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Type 5 Radar Waveform_20

Burst Pul Chirp Homber of
Offset '.df; (as) |Fidth Fulses per |[PRI-1 (us) |[FRI-2 (us) |PRI-3 (us)
(=) ! =20 (M) Bur=st
1030808, 0 85. 3 B 3 17T89.0 1Ti1.0 1409.0
g4380. 0 94. 3 B K] 1708, 0 1395.0 1611.0
408955, 0 T0. 4 B z2 1615.0 1550, 0 -
T30S55. 0 BZ2. 5 B 1 1590. 0 - -
1052278, 0 T3. 5 B z2 1356.0 1509. 0 -
44736, 0 T5. B B z 1721.0 1576, 0 -
SBTIEL. 0 59.0 B 1 1073.0 - -
BSQZ2E. 0 54T B 3 1172.0 1524. 0 1872.0
1011733.0 a5, 1 B 3 1063.0 1T85.0 1421.0
Type 5 Radar Waveform_21
Burst Pulse Chirp Homber of
Dff=zet Width (as) ¥idth Fulses per |[FRI-1 (us) |FRI-2 (us) [FRI-3 (us)
(ns) (MHz) Burst
SB35, 0 B1.9 5 1 1TET. O - -
3BETR3. 0 T2.3 o 2 17T43.0 1029.0 -
7209340 0.0 o 3 1626. 0 14458.0 1513.0
1024197.0 B9. T o Z 1a01.0 19758.0 -
14553338, 0 5.1 o 1 189z. 0 - -
I2IETE.0 a3.1 5 2 168T.0 1Tez. 0 -
BoBOBS. O ae. g 5 3 1Ta0.0 1546, 0 1515.0
10457339.0 a3.B 5 3 1p3E. O 1BET. O 15260
Type 5 Radar Waveform_22
g(‘%rg;:t EETES e E:s]i.}z? EEEE; ;et_r FEIT—1 C(u=) |[FEI-—Z (as) |[FRI-—3F C(as)
SE499%. 0O S=3.7T =0 1 1495, O - —
111=05. 0 100. 0O =0 = 10=2=. 0 1=3sS=. 0 1468=. 0O
ESSTOS. O a0, 9 =0 = 1a=4. 0O 10=E0. O 1=ZSs0. 0O
400=39=. O S5. 0O =0 = 11=1. 0 1===. 0 1&19. 0O
S54457TS. 0O sS85 5 =0 = 17310 1=5=. 0 1=0=. 0O
5S04, 0O TS. 9 =0 = 1793, 0O 1497. 0 —
ZESSSas. 0O L= ] =0 1 1591 . 0 - —
e e == - Erw e o —
TS4S0O. O SS9 = =0 = 1535 0 1S=0. 0 1=74a. 0O
e o == - = EECa e
SOSSZE6E. 0O a=. 49 =0 = 19=9. 0 1=55. 0 1S5S 0
STS0=.0 TR T =0 = 1eZ2=. 0 i1ag9o. 0O —
ZO0ZETS. O [= 1= =] =0 = 194, 0O 104=. 0O —
SaTSES. O TO. 1 =0 = 1454, 0O 1405, 0O —
4-9=544. O S5, T =0 1 10s0. 0 - —
40021 . 0 B35 =0 = 1473 0O 1a093. 0O —
1SSSZa8. 0 S4. 35 =0 1 1=Z59. 0 - —
==Z9041 .0 =T, 1 =0 = 1==1.0 1=99. 0 1=g99. 0
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Type 5 Radar Waveform_23

Burst Fulse Chirp Homber of
Dffset ¥idth (us) Width Pulse=z per |[FRI-1 (u=) ([PREI-2 f(us) |FRI-3 (u=)
(n=) 1 . (MHz) Burst
SBEETT. O 50,3 a 1 12840 - -
40422 0 BT.3 =] 2 1561.0 1923.0 -
041090 TZ. B =] 2 157T&. 0 177TS.0 -
SES430. 0 TO. 4 =] 2 1159. 0 1295.0 -
g31100. 0 a6, 2 =] 3 167T1.0 1393.0 1109.0
TI32. 0 g4, T =] 3 1004, 0 1152.0 156T.0
27T1T5T. 0 BT.S =] 2 1754. 0 1355.0 -
53R313. 0 =t =] a 1 1841 .0 - -
TIIESL. O T3 T a 2 15EE. O 1180.0 -
1083445, 0 TS, 3 a 2 17250 1174.0 -
2398TT. 0 59,1 a 1 12458 0 - -
Type 5 Radar Waveform_24
Dfroee e wraih FPoreor ;efr FRET—1 C(a=) |[FRT—2 (ua=) |[FET—3F (u=)
o= Width Co=) | gamwey Bar=t
syEaaz. 0 EERE] =0 1 1105 0 — —
a19aE6. 0 aT. = =0 = 1825 0 1505 0 10S2. 0
sesSSs1. 0 ==. 0 =0 = 1TaS. 0 13510 —
113412, 0 eT. = =0 = 1944 0 1408 0 —
SE91s. O EERE] =0 1 1445, 0 — —
403139, O TE. = =a = 1TSS, 0 11z6. 0 —
SATSS6. O =11 =a = 1Z17.0 17TTa. 0 —
as413. 0 aga. = =a = 1615, 0 1691, 0 11za. 0
Za40ST1. 0 o, 4 =0 = 1601, 0 1S5S, 0 —
FE491=. 0 o, o =0 = 1710.0 17TE. 0 —
s30451. 0 TE. 1 =0 = 13570 1154. 0 —
TEOZE. O s=2.T =0 1 1==4_ 0 — —
sE21ST. 0O e a4 =0 = 1G4z 0 1017 0 1529 0
SETOTE. O T3, o =0 = 1825 0 1eET. 0 —
s111680. 0 aT. & =0 = 1085 0 1812 N0 1zaT. 0
eO0S=. O sz = =0 1 1915, 0 — —
=od41s0. 0 =T. = =0 = 1SSS. 0 1549, 0 1S1T. 0
FS0s09. 0 Sz, 4 =0 1 1ETS. 0 — —
4g4TaT. O ea. a9 =a = 11568 0 1Z01. 0 —
AZZ10. 0 &3, 0 =a 1 19910 — —
Type 5 Radar Waveform_25
Bur=t Pul Chirp Homber of
Dffzet ¥idth (as) |Hidth Fulses per [FRI-1 (us) (FET-Z (us) |[FRI-3 (us)
(as) (MHz) Burst
311624, 0 83T 10 ] 1410. 0 14585, 0 1865. 0
553524, 0 Ta. 8 10 2 13280 1951.0 -
TI43IES. 0O 93. 5 10 ] 183T.0 1221.0 1869, 0
40563, 0 83.3 10 2 1993. 0 1596, 0 -
2820T1. 0 gB8. 5 10 3 1744, 0 1304, 0 1051, 0
524219, 0 TT. 4 10 2 17350 1219.0 -
TEEO91. O TO.5 10 2 1009. 0 1870.0 -
10739, 0 89.9 10 ] 12150 1907, 0 1121.0
2529993, 0 508 10 1 1449 0 = -
495235, 0 5a. 1 10 1 133T.0 = -
TISOET. O 1.5 10 ] 1249, 0 1316.0 1955, 0
979415, 0 B5.T 10 1 15750 - -
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Type 5 Radar Waveform_26

Bor=14 Pol = C]_:l.irp Homber oif
l%ifset Width Cos) 'I'(;]d[:gl Ei::s e FRT—1 Cas) PRET 2 Cax] PREYT 3 oax)
140557, O S1. 4 15 1 1414. 0 - -
ZozZee0. O S0, 1 1= = 1=, 0 15180 -
444TSS. O TE. 4 15 = 1915. 0 19=5. 0 -
SaSssSTsS. 0O =9, T 1= = 11s=2. 0 139840 pR=lul=
11959 0 BO. S 15 1 1655 0 — —
Z2T4501. 0 5T.5 1= 1 15180 - -
4ZTS9aT. 0O [T S 15 1 1370 — —
STTIEd. O h= e = 1= = 1550 0 1=Z7T1.0 1914 0O
1025394 0 TS, T 15 = 1sO7. 0 16854 0 —
ZESS1E. O B3, T 1= = 1=Z48. 0 1Z0=. 0 -
407TOoO95. 0O S4.0 15 S 1=41._ 0O 16570 1===._ 0
SeE0l11z=. 0 BT. 4 1= = 15350 1549 0O -
S417TS. 0O TT. 3 15 = 11010 17ToO4_ 0O —
ZITIiIeQ. O B4 5 1= 1 14=1. 0 - -
355451 .0 [=1 = 15 S 10610 1161_ 0O 17740
S407T7Td. O aT. = 1= = 1zZe9. 0 12720 11990
BESZ01 .0 Q5.5 15 S 1110 138550 17T17T. 0O
Z150=1. 0 S22, 4 1= = 1070, 0 1175. 0 -
STOood4 0O S0 56 15 = 19750 1407 0O —
Type 5 Radar Waveform_27
Bor=1t Fol = l:]_nirp Homber oif
l:Ei;:_-)_:et Width Cos=) '(;]d[:?. gizfs per |[FPRT—1 C(oas] PRITI—Z2 (oa=] FRET—3F f(m=]
S532TZ. 0 SE. 3 17 1 1345. 0 — —
49303, O =37 17T 1 1494. 0 — —
Z10ST3E. 0 === 17T 1 1870, 0O — —
ST1IZET.O TO. S 17T = 1552, 0 1139. 0 —
SIZZ249=. 0 s0. & 17T = 1zs7T.0 10=7. 0 -
ZozeE. 0O aT. = 17T = 190z, 0O 1=Z5=. 0 19Tz, 0
159SsSS. 0O 5. 5 17T =] 1z9z. 0 14=z0. 0 1Sz20. 0
SS1az9. 0 SO, T 1T = 1oz=1. 0 15z49. 0 -
S1zZ07T4. O TS. O 1T = 1547T. 0 157TS. O -
aSsaeS. O S5. 5 1T 1 11140 - -
16937T=. 0 91. = 17T =S 14a7T. 0 17350 1545, 0
SIET0BS4. 0O g99. 0 17T =S 15970 156, 0 1556, 0
49353455, 0 B, 2 17T 1 1559. 0 - -
BES3T45. 0 TS, B 17T = 1330, 0 1300, 0 -
150901 . 0 57T. 4 17T 1 19530 — -
12316 0 51. = 17T 1 15420 — -
4TITSE. 0 (=1 =] 17T 1 1ZZ0. 0 — -
BIZZET. O ge. 9 17T = is9z. 0 180=. 0 10=1. 0
Type 5 Radar Waveform_28
Burst Pulse Chirp Humber of
Off=et . ¥idth Ful=zes per (PRI-1 (u=) |FRI-Z (us) |[ERI-3 (us)
¥idth (us)
(us) (MHz) Bur=st
295543, 0 3.0 5 1 1943, 0 - -
BSTYS5Z. 0 91.5 5 3 1024.0 11460 1415.0
102097T7.0 T 5 b 1532, 0 1311.0 -
1382416, 0 a1 5 3 1705. 0 15050 18TT.0
250594, 0 B2 5 b 1389.0 1754. 0 -
B1Z2TTE. O a7.3 5 3 1612.0 15535.0 1571.0
ITEES3. 0 B3.9 5 2 1851. 0 10z, 0 -
1338155, 0 94.9 5 3 16581.0 19660 1027.0

FCC ID: Q9DAPIN0655

Page Number: 113 of 184




\
AN i
Y\

IVR I y Report No.:2105TW0602-U5

Type 5 Radar Waveform_29

Buorst Pul Chirp Haomber of
Dff=et '.dfﬁ Cas) |Hidth Pulses per |[PRI-1 (us) |[PRI-2 (us) [PRI-3 (us)
(n=) 1 s (MHzx) Bur=t
143503, 0 g2.1 9 z 15ET. 0 12538.0 -
414077.0 55,9 9 1 1054. 0 - -
BTTTTS. 0 2.0 q z 1035, 0 1025. 0 -
940334, 0 q1. 2 9 3 1104.0 1437.0 1277.0
117057, 0 3.4 9 z 1041.0 1286, 0 -
380344, 0 a1, 4 q 3 1434. 0 1089, 0 1905, 0
E44743. 0 BS. 4 9 z 1247.0 1851.0 -
QOZET1. 0 5.5 9 z 1311.0 1534. 0 -
S4349.0 85.1 q 3 1451.0 14930 1790, 0
F4ETES. 0 £1.9 9 1 1860, 0 - -
EB111TE.0 ga.2 9 3 1993. 0 1162.0 1633.0
Type 5 Radar Waveform_30
Boar=+t Pol =« Cl_:uirp Homber oif
l:z‘f:?et Wideth Ca=2 };ﬁ:? gi::s e FRT—1 o= PR —=2 o= FRT—3 o=
ASZ0OSE. O L=4= =0 1 15354. O — —
Z54TS. 0O 5.9 =0 = 1S540, O 1188. 0 1010, O
17555 0 az.0 =0 S 156=. 0 1645. 0O 1zZz9d0. O
=F19097T. 0O ezZ.0 =0 1 114=. 0 — —
AEZ4==. O TE. 9 =0 = 1007. 0 1=12. 0 —
105871 0 a5 .5 =0 3 11160 1052 0 1955 0O
1S4941 . 0O SS. 0 =0 = 1S0oa. O 1845, O 1954, O
Zg99aS=. 0O sS4, 5 =0 = 1140, O 1977T. 0 1119. O
AdATES. O TO. S =0 = 1sS60. O 1s45. 0O —
Saoalea. O [=3=Tr =0 = 105s=. 0 16==2. 0 —
1372150 =25, 5 =0 = 1zZ01. 0 15=5. 0 15=9. 0
Pl = e ] S | [SE=T=] =0 =4 1547 0O 1=270. 0 —
485657 0O B33 =0 1 1006 O — —
ST1SSS. O T3, 3 =0 = 153=. 0 1=08. 0 —
1Z015s. 0 S0, = =0 1 1147. 0 — —
ZEESITSS. O Q0. =S =0 S 1724, 0O 1=95. 0 1T==S. O
AO0SETE. O 1.0 =0 = 1=17. 0 1=Z44. 0O 14=5=. 0
555861 . 0 sSOo. 49 =20 1 1196. O — —
1013959 0 B5S. 3 =0 =4 1274 0O 1655 0 —
Z4ags4=. O TT. & =0 = 1e99. 0 1805, 0 —
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Radar Type 6 - Radar Statistical Performance

Trail #

1=Detection

0=No Detection

Trail #

1=Detection

0=No Detection
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Detection Percentage (%)

80.0%
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Type 6 Radar Waveform_2
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Type 6 Radar Waveform_5
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Type 6 Radar Waveform_8
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Type 6 Radar Waveform_11
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Product

ACCESS POINT

Test Site

SR2

Test Engineer

Eric Lin

Test Date

2022/02/25

Test Item

Radar Statistical Performance Check (802.11ax-HE80+80 - 5210+5290MHz)

Radar Type 1 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
1 5250 1 16 5293 1
2 5278 1 17 5253 1
3 5258 1 18 5273 0
4 5258 1 19 5313 0
5 5302 1 20 5290 1
6 5294 1 21 5319 1
7 5309 1 22 5309 1
8 5269 0 23 5302 1
9 5261 1 24 5310 1
10 5299 1 25 5298 1
11 5259 1 26 5308 1
12 5316 1 27 5278 0
13 5316 1 28 5261 1
14 5311 1 29 5269 1
15 5290 1 30 5330 1
Detection Percentage (%) 86.7%
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Radar Type 2 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5290 1 16 5261 1
2 5306 1 17 5325 1
3 5277 1 18 5264 1
4 5328 0 19 5299 1
5 5255 1 20 5296 1
6 5264 1 21 5268 1
7 5278 0 22 5323 1
8 5298 1 23 5296 1
9 5304 1 24 5291 1
10 5263 1 25 5250 1
11 5277 1 26 5311 0
12 5298 1 27 5291 1
13 5250 1 28 5323 1
14 5301 1 29 5289 1
15 5258 1 30 5330 0
Detection Percentage (%) 86.7%
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Radar Type 3 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5330 0 16 5250 1
2 5274 1 17 5273 0
3 5269 0 18 5316 1
4 5266 1 19 5251 1
5 5276 1 20 5286 1
6 5250 1 21 5300 1
7 5299 1 22 5318 1
8 5313 0 23 5267 1
9 5312 0 24 5295 1
10 5261 1 25 5316 0
11 5317 1 26 5267 1
12 5299 1 27 5255 1
13 5283 1 28 5322 1
14 5260 1 29 5285 1
15 5313 0 30 5290 0
Detection Percentage (%) 73.3%
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Radar Type 4 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5290 0 16 5288 1
2 5315 1 17 5272 0
3 5306 1 18 5302 1
4 5275 0 19 5271 0
5 5282 1 20 5325 1
6 5284 1 21 5250 1
7 5306 1 22 5250 1
8 5319 1 23 5319 1
9 5305 1 24 5260 1
10 5286 1 25 5308 0
11 5312 0 26 5306 1
12 5273 0 27 5272 0
13 5257 1 28 5279 1
14 5330 1 29 5306 1
15 5306 1 30 5330 1
Detection Percentage (%) 73.3%

Note: In addition an average minimum percentage of successful detection across all four Short pulse radar test

P1+P2+P3+P4 _
4

waveforms is as follows: (86.7%+86.7%+73.3%+73.3%)/4 = 80.0% (>80%)
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Type 1 Radar Statistical Performance

5 Radar Lilse Hamber of | Faveform
ITrial T4 Tope '.uél d;-_h FPREY Cax) Pol=e= IE::%th
=
Downdload [m] Trpe 1 1.0 STS. 0 51 SES5E. 0
Downleoad 1 Typ= 1 1.0 azE. 0 ST SSEE. O
Downdload = Trpe= 1 1.0 SO05E. O 15 SS1S5. 0
Downleoad = Twp= 1 1.0 Tis. 0 T4 S=132. 0
Download 4 Tepe 1 1.0 535. 0 p=1=1 SEE6Z. 0
Downleoad = Tzp= 1 1.0 TS8O To SZ080. O
Download = Type= 1 1.0 S95. 0 EE Szasz. O
Downleoad ki Tzp= 1 1.0 S58. 0 = SZ196. O
Downleoad = Typ= 1 1.0 Sis.0 10z SZESe. O
Downdload = Trpe 1 1.0 BETS. 0 TS SESS4. 0
Downleoad 10 Type 1 1.0 TIE. 0 Tz 551568, 0
Download 11 Tepe 1 1.0 TS, O (=M SSEA66. 0O
Downleoad 1z Type 1 1.0 Si18. 0 BE S5Z170. 0
Download 135 Tepe 1 1.0 B15. 0 f=1=1 SSE145. 0
Downleoad 14 Type 1 1.0 sgs. 0 =9 SZzzz. 0
Download 15 Type 1 1.0 1Tas. 0 =0 S=940. O
Downdload 15 Trpe 1 1.0 1404, 0 =2 SEESZ2. 0
Downleoad 17 Type 1 1.0 =549, 0 =1 SS529. 0
Downdload 13 Trpe= 1 1.0 Z1S5. 0 =S Sa55S0. O
Downleoad 19 Type 1 1.0 =HOZ6. O 1= 54845, O
Download =0 Tepe 1 1.0 119=. 0 L 1=1 SE6SS. 0O
Downleoad =1 Type 1 1.0 =806, O =1 S4TZE. O
Download == Type 1 1.0 1125. 0 4T S=TS1. 0
Downdload =3 Trpe 1 1.0 SE4. 0O =13 SEO1E. O
Downleoad =4 Type 1 1.0 1454. 0 EE SSazd. O
Downdload =5 Trpe 1 1.0 SZ65. 0 101 SE1ZE. O
Downleoad =5 Tspe 1 1.0 17T27.0 =1 53I53T. 0
Download =T Tepe 1 1.0 1644 0 53 Sa4F5Z. 0
Downleoad =5 Type 1 1.0 S51.0 a8 SZE9s. O
Downleoad =9 Tspe 1 1.0 zBS6. O =0 SSTZ0. 0
Type 2 Radar Statistical Performance
Trial X4 o widinm FRT f(ux) Tapber of Lenmgen
Ca=x) Cax)
Download [=! Tzpe = 1.1 154. 0 25 5542, 0
Downleoad 1 Tzp= = 1.5 Z0s. 0 za 5945, O
Downleoad = Type = =8 185. 0 B 4995, O
Downdl cad =] Texpe = 1.5 195, 0 =25 4554 0
Downleoad A Tzp= = 4.7 z26. 0 za BS54, O
Download = Tyxpe = 1.3 199. 0 25 4STT. O
Downl oad (=] Terp= = 1.3 185, 0 2= AETS. O
Downleoad T Tzp= = 4.4 180. 0 e 4450, O
Downdl cad = Texpe = S.4 16=. 0 =T 45T4. 0O
Downleoad E Tzp= = 4.7 z19. 0 za 5351, 0
Downleoad 10 Type = =8 =25, 0 B BOTS. O
Downl oad 11 Trp= = 4. 1 1S=. 0 p=d =1 AESE. O
Downleoad 1z Type = = T 15=. 0 5 FE25. O
Download 15 Type = 1.z 150. 0 25 S450. 0
Downl oad 14 Terp= = 4. B Z2=z1.0 =29 E4a09. O
Downleoad 15 Type = 1.1 z24. 0 e 5152, 0
Downdl cad 16 Texpe = == =Z30. 0 =5 STSO. 0O
Downleoad 17 Type = =. 8 17a. 0 25 1475, O
Downleoad 15 Type = =4 185. 0 B 4452, 0
Downl oad 19 Terp= = 4. = 157T. 0 =25 ABETE. O
Downleoad ) Type = 1.2 177. 0 e 49568, O
Download =1 Type = z. 9 z07. 0 ze S552. 0
Downl oad == Typ= = =.T 19=. 0 =27 SEES. O
Downleoad =5 Type = 4.1 157. 0 B SZSe. O
Downdl cad = Texpe = 1.5 Z16. 0 =25 4955 0
Downleoad == Type = z. =z 170 25 4450, O
Download =6 Type = 5.0 z14. 0 ze S584. O
Downl oad =T Terp= = 4.9 154, 0 =29 SEEE. O
Downleoad =5 Type = z. 3 zz0. 0 5 S500. O
Downl o=ad =3 Tepe = == 159. 0 =5 ATES. 0O
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Type 3 Radar Statistical Performance

5 Radar Leilem Hoamber of | Heveform
Trial Id Tope Eld;h FPRYT C(ax) Pl == %::§th
=
Downl o=d [u] Tyxp= = B, 1 440. 0 165 TOAa0. O
Downleoad 1 Type= 3 Q.8 =32, 0 14 A41TE. O
Downlo=d = Typ= = S8 zo9. O 15 STEZ. O
Downleoad = Tyxp= = B, 3 353, 0 16 Bl1=S. O
Download e Txpe = a. T =50, 0 15 So40. O
Deownleoad = Txp= = B, 3 357.0 16 ST1Z. 0
Download a Type 5 6.5 EEcic ] 16 BOZ&S. O
Deownleoad T Txp= = Q.4 S49. 0 1= BZEZ. O
Downleoad = Type= 3 S, 4 497. 0 17 S443. 0O
Downlo=d =] Tyxp= = Q.7 458, 0O 1= SZOS. O
Downleoad 10 Type= 3 a6 47T1.0 17 SO0T. O
Download 11 Txpe = a1 s07. 0 15 S5Z6. 0
Downleoad 1= Tyxp= = T.T 488, 0O 17 TOz=. O
Download 15 Txpe 5 B = =TS0 16 4SS, 0O
Deownleoad 14 Txp= = Q.8 =55, 0 1= A, O
Download 15 Type 5 B, 1 S26. 0 16 SZ16. 0
Downlo=d 16 Tyxp= = T.= =35, 0 165 FS0S. O
Downleoad 17T Type= 3 T.6B ST, 0 17 BS=4. O
Downlo=d 15 Typ= = S, 445, O 17 TSSZ. O
Downleoad 19 Tyxp= = Q.3 =94, 0 1= S=Zoz. 0
Download =0 Txpe = a. = 5354, 0 15 &5391=. 0O
Deownleoad =1 Txp= = T.9 405, 0 17 5OSE. O
Download == Type 5 .7 =TS, 0 17 ATEE. O
Downleoad =3 Txp= = 9.1 3=0. 0 1= STEO. O
Downleoad = Type= 3 B, 3 495. 0 16 TR0, O
Downlo=d == Tyxp= = T.= 354. 0 165 SEEL. O
Downleoad =1=3 Typ= = 5.0 o0s. 0 17 4S5, O
Download =T Txpe = a.9 s359.0 15 S46Z. O
Downleoad =13 Tyxp= = T.3 351.0 16 BO9E. O
Download =9 Type 5 T.= =TS, 0 16 4400, O

Type 4 Radar Statistical Performance

5 Badar gl =l Humber of | Baveform
Trial Id e widih PRET Ca=) e el Length
L B =
Download o Type 4 11. 2 440. 0 1z S=zs0. 0
Download 1 Typ= 4 19.5 z3z. 0 16 =71z 0
Download = Type 4 17. 2 z09. 0 15 51355. 0
Download = Tsyp= 4 11.2 383. 0 1z 4595, O
Download a Tvp= 4 19. 2 =80. 0 15 4450, O
Download = Tsp= 4 11. 7T S5T. 0 1z 4z54. O
Download & Typ= 4 11. 7 433. 0 1z S195. 0
Download ks Type 4 18. T 349 0 16 SS554. 0
Download = Typ= 4 16. 4 497. 0 1s TASS. O
Download 2 Type 4 19. 4 456. 0 18 TEEE. O
Download 10 Type 4 16. 2 471.0 15 TOES. O
Download 11 Type 4 17.3 307. 0 15 4505, O
Download 1= Type 4 14. 2 4BE. O 14 ESza. O
Download 1= Type 4 11. 4 273. 0 1z Z=TE. O
Download 14 Type 4 130 z58. 0O 16 41=25. 0
Download 15 Type 4 11. 2 326. 0 1z Zoiz. 0
Download 18 Type 4 13. 8 235. 0 13 094, O
Download 17 Type 4 14. 8 37TZ. 0 13 4535, O
Download 1= Type 4 16. 3 446. 0 14 Bzdd. O
Download 19 Type 4 18. = z94. 0 15 4704, O
Download =0 Type 4 18. 1 384. 0 15 STE0. O
Download =1 Type 4 15. = 408. O 14 ST1z. 0O
Download == Type 4 17.0 275, 0 1s 4170. O
Download =3 Type 4 18. 0 320, 0 1s 4500, O
Download = Type 4 11.7 495. 0 1z So40. O
Download =s Type 4 13. 68 554. 0 13 480z, O
Download =& Type 4 15. 6 Z05. 0 14 ==sT0. O
Download =7 Type 4 19. 7 359. 0 15 ST44. O
Download == Type 4 13.9 381. 0 1= 4953, O
Download =a Type 4 13. 8 275. 0 13 F5TS. O
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Radar Type 5 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection

1 5290 1 16 5252 1

2 5290 1 17 5253.6 1

3 5290 1 18 5254 .4 1

4 5290 0 19 5255.6 1

5 5290 1 20 5256.8 1

6 5290 1 21 5323.2 1

7 5290 0 22 5325.2 1

8 5290 1 23 5324 1

9 5290 1 24 5323.2 1

10 5290 1 25 5327.6 1

11 5256 1 26 5326.4 1

12 5256.8 1 27 5324.8 1

13 5254 .4 1 28 5322 1

14 5252 0 29 5326 1

15 5257.6 1 30 5326 1

Detection Percentage (%) 90.0%
Type 5 Radar Waveform_1

Burst Palse E]_li:rp Humber of
Dffset ¥idth (us) |Tidth Fulses per [FRI-1 (us) (PRI-2 (us) |[PRI-3 (us)
(ux) (MHz) Burst
400306, 0 51.2 ] 1 1490.0 - -
TBZ2186. 0 96. 4 ] 3 1790.0 1695.0 10570
1124773.0 54. 3 5 3 1502. 0 1217.0 1989, 0
1430315, 0 54. 4 ] 1 1793.0 - -
354644.0 95. 6 ] 3 1397. 0 1366.0 1897.0
T18TEZ.0 54.3 ] 1 1933.0 - -
1052534. 0 54.3 5 1 1320.0 - -
1443019.0 892 4 5 3 1915.0 1282.0 1224 0
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Type 5 Radar Waveform_2

Bor =+t ol = e l_—.l_:n.irp Homber oif
l:.l:‘f:§et Widrih Ca=2 'l'(;]d{::;n gi::s e FRT—1 Goa=D FRYT—Z Goa=D FRT—3F =2
1ZEFES0. 0O S0, =z 19 = 1125, 0O 1S538, O —
ZES1ISS. O a5, = 19 = 1TS=. 0 1==S. 0 100=. 0O
413F41=. 0 52, 3 19 = 170, O 1264, O —
SSegOo. O [=1= Y 1ia = 145=. 0 1=Z7T&. 0 151=. 0
16055, O T1. 4 19 = 1019. 0 1=37T7T. 0O —
251555, O Sz. 4 19 1 1125, 0 — —
S94AEESS. O 94, 1 = = 1T=9. 0 1=0=. 0 1457T. O
S4195S. O =1. 41 19 1 1==6. 0 — —
S5E45. 0 54, T 19 1 1595. O — —
Z23=Td1. 0 (<%= =1 1ia = 15=4. 0 1T=27. 0 —
STTT41. 0 TA. 3 19 = 1000. O 1972, 0 —
S=20Ss=1. 0 a0, 5 = = 147=. 0 199, 0O 1S07. O
TO1=93. 0O S99, 4 = = 1455, O 1=35=. 0 1545, 0O
Z1S17T9. 0 T3. 5 19 = 11921. 0 1S5=. 0 —
SS9SsO=. O S5, = 19 = 1944, 0O 1594, 0 —
SOZ149. 0 =9, 0 1ia = 1954, 0 10=4. 0 1s==2. 0
SE5E5. 0 S4.0 13 1 1897. 0 — —
197TETS. O B4, T 19 1 17T51. 0 — —
SAZ010. O TS. S 19 = 19935, O 10S=. O —
A4SS11S. O 27. 9 = = 1554, 0 1STE. O 1SS7T. 0O
Type 5 Radar Waveform_3
Buar=s+t FPol=e C]_:ui:rp Huomber of
Dffset Width Ca=) Waiditdh Fuols=es per FRT—1 (o= PRYT—2 (o= FRYT—3 (o=
(axs) (MH=) Buour=t
4344z 0 BE. O 15 1 1z01. 0 - -
ZZABES. O B5. & 15 1 1415, 0 — —
40448z, O 95. 6 15 ] 1574. 0 159z, 0 1476. O
SSET4s. O S0, 3 15 1 1094, 0 - -
21082, O 552 15 1 1570, 0 — —
ZOZSSE. O 51.1 15 1 1850, O - -
355251, 0 51.6 15 = 1564, 0 1656, O —
SE4ABED. O 7.0 15 = 1759, 0 1033, 0 -
TABSST. O =) 15 1 1787. 0 — —
17TOB1S. O 94. 5 15 ] 1006, O 1195. 0 1554. O
ZEOSDE. O 250 15 = 1940, 0 1335, 0 1077.0
S40855. O 9z, 3 15 ] 1655. O 14z4. 0 1635. 0
ToEEDE. O TT. 3 15 =] 1013 0 1730, 0 -
157854, O B5. = 15 1 1607. O — —
IEFETIS. O TT. 2 15 = 1552 0 1454. 0 -
S1917TT. 0 55. 6 15 =] 1151. 0 17TTE&. O 11150
Type 5 Radar Waveform_4
Bur=t Pulse Chirp Homber of
Dff=zet Wid Hidth Fuol=ze=z per (FRI-1 (u=z) |FRI-Z (us) (FRI-3 (u=)
idth [(us)
(us) (MH=z) Burst
1250165.0 51.2 =] 1 1272.0 - -
Z41085. 0 537 =] 1 1835.0 - -
SB31TZ.0 5.6 =] 2 1935.0 1851.0 -
BEEE5T. 0 50.5 =] 1 194Z2.0 - -
1209325.0 2.7 & 2 1322.0 1097.0 -
2013576, 0 BZ.5 & 1 1285.0 - -
223375.0 33.4 & 3 1294. 0 1333.0 1295.0
g4T364. 0 54.5 & 1 1500, 0 - -
1170750, 0 BE.5 & 1 1040. 0 - -
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Type 5 Radar Waveform_5

Bor =1t Pol=e C]_l.irp Homber of
TEOZ9. O S = 13 = 1az=2. 0 1745 0 1048 0O
=2=2Ts5sd9. 0 a5, 4 19 = 1554, 0 1=0=. 0 15e=s. 0
SSlle9. 0 TT. S 13 = 11410 1S5z4. 0 -
SZ4ETd. O B3, & 13 1 17T==. 0 - -
ST3S=. 0 945, 4 19 = 17TOo=. 0 1197. 0 1=Z1=. 0
10455, 0 S0, 4 19 1 14650 - -
FIEZ2TZZEIT. 0 SO, 9 13 = iaes. 0 109 0 -
S1495=. 0 T=. 9 19 = 10=0. 0O 17s=S. 0 -
S5TST. O 55, 4 19 1 19=0. 0 - -
191055, 0O TG, 4 13 = 1745, O 14z 0 -
=14=4=. 0 [ =T 19 1 15=4. 0 - -
495147T. 0 aT. T 19 = 15710 1=41_0O 10=1_ 0
1990z, 0O S1.9 13 = 1TSS, 0 1555. 0 -
172549 0 S35.1 19 = 11=5. 0 119=. 0 -
S=4545. 0 TO. S 19 = 1595 0 15550 -
4TBEGSS. O TO. 9 13 = 1514 0 1945 0 -
11==. 0 TT. 1 13 = 15150 1z, 0 -
1S5545S=. 0 a5, S 19 = 1=9=. 0 114S. 0 110=_ 0O
SOSg9aT. O TO. 3 13 = 1455 0 15654, 0 -
Type 5 Radar Waveform_6
Burst Pulse Chirp Humber of
Offset Width (as) Width Fulses per [FRI-1 f(ux) (FRT-2 (usz) |[FRI-3 (us)
(ax]) ' =7 (M) Burst
Q895010 T3.9 & P 1382, 0 1861.0 -
1291303, 0 a7.1 & 3 19860 1302.0 1449.0
285614. 0 B3.1 & 1 1556. 0 - -
EOTS24. 0 T4. 2 & 2 1795. 0 1457.0 -
929509 0 Q6. 3 & 3 1122.0 1437.0 1572, 0
1252599, 0 94T & 3 1240.0 1111.0 1020, 0
245276, 0 87T & 3 190z, 0 1054. 0 15940
SBE550.0 o0 2 & 1 1431.0 - -
589515, 0 g6.1 & 3 157T.0 1255.0 1720.0
Type 5 Radar Waveform_7
Burst Pulse Chirp Homber of
Dffset ¥idth (us) i1dth Fulses per |[PRI-1 (u=s) |[PRI-2 (u=z) |[FRI-3 (us)
(us) (MHz) Burst
12137T23.0 4.9 & P 1380, 0 13581.0 -
Z0B0GE. O B5. 2 & 1 1404. 0 - -
5290330 53.5 & 1 1410, 0 - -
g5115Z2.0 82,3 & 2 1395. 0 1496, 0 -
11723940 941 & 3 1B27T.0 1800, 0 1324.0
165911.0 3.8 & 3 1782, 0 1223.0 1315.0
4889000 T1.0 & 2 10100 151000 -
g12152.0 24T & 1 1721. 0 - -
11352220 038 & 1 1589. 0 - -
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Type 5 Radar Waveform_8

Bar =t el e Chirmo Hamber of
Offset '?ﬁth Ca=3 |Hidth Puls=es per |[PRT—1 (us=) |[PRT-2 (as) |[PRT—3F C(ua=s)
(o= = (MH=D) Bor=st
SaTaT. O EERE 15 1 zooo. O — —
sizazE0. 0 0. = 15 1 15868, 0O — —
SEZ0a0. O o4, 1 15 = 1983, 0 17T=E. O 1901. 0
S1Ta30.0 B5. 0 15 1 1921, 0 — —
41042, 0 BS54 15 1 1051, 0 — —
19565, O To. = 15 = 1S=6. 0O 1495, O —
S44894. 0 S5, 8 15 = 1958, 0 1=59. 0 1s09. 0
4909116, 0 =N 15 1 19=8. 0 — —
FzOBE. O 1.0 15 = 19100 1852, 0 1415. 0
174402, 0O B0, 4 15 = 1754, 0 1805, O —
SzT1a0. 0 O T 15 = 1zaz 0 1411 0 —
480754, O s5. = 15 1 1=a9. 0 — —
SEST. 0 Ta. T 15 = 1380, 0 17Ts0. 0 —
158095, O s5.5 15 1 1559, 0 — —
SOSS0Z. O BE. T 15 = 1zd48. 0O 1z254. 0 —
AR1ATE. 0O BS 1 15 1 1=T0. 0 — —
ElZSs0. 0 S0, T 15 = 1049, 0 1285, 0 —
13E97TS. 0O Ta. = 15 = 1845, 0 1S58, 0 —
=597T39. 0 T1.1 15 = 1005, 0 1452, 0O —
Type 5 Radar Waveform_9
Baor=s+it Paul=e Chirp Homber of
Dffset Hidth (u=) |Fidth Fulses per (FRTI—1 (us) |[FRI—2Z (ms) |[FRI—3F f(uas)
(o= * = (MH=) Buor=t
SEO4ET. O TZ.1 14 = 1z44. 0 1547T. 0 -
TSSGBTS. 0O S1.5 14 = 1z47T.0 1T1S. 0 -
149919 0 B9, 0 14 = 13730 1709, 0 -
345547, 0 5T. B 14 1 1574. 0 - -
53TaTS. 0 sS0.1 14 1 1ao1l. 0 - -
TZ9OT1. 0 =L 14 = 1334, 0 1355, 0 1044, 0
1265335. 0 53.9 14 1 18653. 0 - -
3157960 Q1.3 14 5 1125. 0 15=1. 0 1Q07T. 0
S12465. 0 T2.9 14 = 1550. 0 154=. 0 -
TOGE116. O G235 14 = 1257T. 0 1803, 0 -
102446 0 53.5 14 1 1975, 0 - -
295329, 0 a5, 1 14 5 1aez. 0 187T=. 0 1030, 0
459717, 0 B2, 1 14 1 1656, 0 - -
BSE3595. 0 BS. S 14 1 10z5. 0 - -
TSAS6. 0 ET.0 14 z 1598, 0 1908, 0 -
Type 5 Radar Waveform_10

Dfros ilsc Eraih Feyear 2L FRET—1 C(u=) [FET—Z (u=) [FPRT—3F C(a=)

=it = n i+ - - — bR — bk — - E
(o= Waidth Co=2 | gawz) Bar=t
SOSans. 0 Ta & 14 = 1804 0 1747 0O —
SATIAT. O =55, = 1o = 1919, 0 1E5s. 0 14z1. 0
A9=4a04. O TE. = 1o = 114=. 0 1555, O —
41070, O S5, = 19 1 1551. 0 — —
1S55902. O TE. T 190 = 1=19. 0 1382, O —
SzaTe4d. O az. 4 190 = 1550, 0 1129. 0 1446. 0
ATARZE 0O 55 4 14 = 1149 0 1740 0 1nia 0
FI04S. O SS.T 1o = 1710, 0O 1591, 0 1asa. O
1BS223. 0 ==, T 1o 1 1948, O — —
S1zT4aT. O BS. = 19 = 1=71.0 18T=. 0O —
ASSEES. O Ta. & 19 = 104z, 0O 10z=. 0 —
Szos. 0 TS 190 = 1799, 0 1771. 0 —
149885 0O as = 14 = 1s00. 0 17aT 0 1154 0
saSE4m. 0 EENE 14 1 1481 0O — —
ATTS1E. O EEl= 1o = 1TE4. O 1Tz, 0 1aeT. O
SSazzz. O o, = 1o = 1=57. 0 191, 0 —
1S3E5S5E. O S, 4 19 1 1EST. O — —
SZTTSTE. O 4.3 190 1 1589, 0 — —
arnaza. 0 EERE! 13 = 1=Ea. 0 1825 0 1an=s 0
SEEQSE. 0 a2 T 14 = 1493 0O 1132 0 —
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Type 5 Radar Waveform_11

Buoar=st Pal=e Chirp Homber of
DOff<et Width [ 3 Waidth FPFuolsex per |[PRT—1 (u=s) (PRELT—2 (u=s) |[PRT-—3 C(a=s)
(a=s) * = (AMHx) Bur=st
1451970 TZ. 3 15 = 1004, 0 1555. 0 -
SIE3ETE. O Sd. 3 15 =] 115&. 0 19az. 0 14140
SOa5S95. 0 S5Z2.6 15 1 14035, 0 - -
BEE5535. 0 Q3.9 15 = 155=. 0 1101. 0 15620
10754 0 TO. 3 15 = 1550, 0 1555. 0 -
S0oz4e1.0 59,4 15 1 19250 - -
ASIZTS. 0O TS, B 15 = 1570, 0 1205, 0 -
BESTIS. O B5.9 15 1 1451. 0 - -
aE5e4. 0O S0, 4 15 = 1527T. 0 1z=1.0 -
=2Ta5345. 0 ST, 4 15 =] 1509, 0 1667T. 0 10050
40999, 0 T1.3 15 = 1501, 0 1=z07.0 -
B43Z6S. 0 o255 15 1 1554, 0 - -
TSQ9S. 0O Qz. 5 15 = 1950, 0 191&. 0 13550
ZETSE5. 0 BZ. 6 15 1 1855, 0 - -
45ETSS. 0O S1.5 15 = 1z09. 0 1469. 0 -
B1955s5. 0 51,2 15 = 1z242. 0 197T1.0 -
Type 5 Radar Waveform_12
Borst Paol=e Chirp Homber of
Dffzet Width ¥ Width Puls=es per |[FRET—1 (o=]) |[PRET—2 (o=l |[PET—3F (o=l
ax) * = (MH=) Bor=+t
SOSSE. O S5, 9 17T =] 11540 195=. 0 1TES. 0
Zz1110.0 T1. 5 17T = 1464 0 15035 0 -
S9=Z411. 0 55. 5 17T 1 1660 0 - -
SEZO8Z. 0 TS. 5 17T = 13510 17410 -
29545 . O (=1~ = 17T =] 143550 1TTa. 0 1625, 0
Z00045. O Q7. 5 17T =] 10150 14730 10z9. 0
STli641 . 0 B5S. 35 17T 1 115=. 0 - -
S3539635. 0 59, 4 17T =] 19410 1567TS. 0O 1339, 0
STZE6. O TO. S 17T = 1540 0 186250 -
17T3a1=7T.0 B7T. 0 17T = 154=. 0 14540 -
SS0435T. 0 55 6 17T 1 14560 - -
SE20305. 0 S51. 6 17T = 14700 13050 -
BS907T4. 0 S5, 1 17T =] 1TeZ.0 17T7To. 0 1035=. 0
155%11. 0 B30 17T 1 1861350 - -
SIZ2TAZE. 0 Qo. 2 17T 3 15z1.0 1447T. 0 1z4=. 0
495622 0 953 5 17T =] 12150 10700 1445, 0
BTO9SS. 0O Bz =2 17T 1 1560 0 - -
Type 5 Radar Waveform_13
Buor=t Paulse Chirp Homber of
Dff=et Width 3 WHidth Fulses per |[PRT-1 (us) |[PRT—2 (us) |PRT-3 (ax)
(a=s) * = (MH=z) Bur=st
1TaEs0. 0 g2.49 11 = 1345. 0 137T5.0 -
401301, 0 a4, 5 11 ] 1545, 0 1520.0 17TE7T.0
EZS2235. 0 59.5 11 3 1011.0 1454. 0 1515. 0
549155, 0 g2.49 11 = 14250 1417.0 -
152011.0 52,4 11 = 1540, 0 1TR0. 0 -
374466, 0 G5, B 11 3 1471. 0 17TS6. 0 17T14. 0
5991520 B4 2 11 1 1852. 0 - -
SZ293Z.0 BZ.T 11 1 1455, 0 - -
1z4620. 0 B3. 5 11 = 15617.0 1405, 0 -
S45461.0 53.3 11 1 1175. 0 - -
5T2111.0 BE. 3 11 1 1075, 0 - -
T9Z499. 0 aT. 1 11 3 19z4. 0 1659. 0 1233. 0
g9T185. 0 Ti.0O 11 = 12586. 0 1252. 0 -
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Type 5 Radar Waveform_14

Burst Pulse Ehirp Humber of
Dff=et Ridth (as) ¥idth Pulses per |PRI-1 [(u=)] |PRI-Z (us)] (FRI-3 (us)
(us) (MHz) Burst
S520895.0 85. 1 5 3 102z, 0 1235.0 1372.0
884143.0 827 5 2 1419.0 1649.0 -
1247709, 0 TT7.4 5 2 1079.0 1375.0 -
113406. 0 55.5 5 1 1300, 0 - -
476151.0 52. 4 5 2 15879.0 1577.0 -
539031.0 91.6 5 3 1061.0 1254.0 1422.0
1200954, 0 95. & 5 3 1a11.0 1665, O 13534.0
B5599. 0 T 1 5 2 1309, 0 1127.0 -
Type 5 Radar Waveform_15
BEEIL. [ETATR o [EG [FHIIC 25 [rera co [rRre o [rmro o
150836 0 a8 o 13 = 1347 0 1eTEs. 0 tazz_ o
e e s - T B -
RN o i oo e -
S e s - R e e
e o Jer e o - oo oo e
e Jeea o - o e =
e e s - e o FETN
e Jsaa o i e S —
Type 5 Radar Waveform_16
Bur=st Pulse Eyirp Homber of
Dffset ¥idth (as) Width Fulses per (PRT-1 (us) |[FRI-2 (us) |[PRI-3 (us)
(us) (MHz) Burst
13400240 91 B ] 3 18589.0 1331.0 1975.0
2082258.0 B0 ] 1 1796.0 - -
STOS05. 0 BT 2 ] 2 186T.0 1987.0 -
9336210 945 ] 3 14920 1206.0 1230.0
1296422 0 93.0 ] 3 1036.0 1376, 0 15660
1B3285.0 92 4 ] 3 1mna1.0 12450 11581.0
S25839.0 935 ] 3 1262.0 1955.0 1400.0
Ga9455. 0 gl.9 ] 2 1847.0 1196.0 -
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Type 5 Radar Waveform_17

Buorst Pul=e Chirp Homber of
DEfsat ¥idth (us) Waidth Pul=ze=z per [FEIT-1 (u=) |[FRI-2 (u=) ([PRI-3 (ua=)
(as) 1 . (MH=z] Burst
910415, 0 TR, 0O 9 2 1325.10 1456. 0 -
SE360. 0 53T =) 1 1014.0 - -
350093, 0 80.5 =l 2 1614. 0 1266. 0 -
B13945. 0 g0.7 =) 2 16T1.0 1256. 0 -
8TE333.0 95. 6B =l 3 1510.0 174Z2. 0 1216. 0
53606 0 95. 3 9 3 1565. 0 1393.0 1651.0
31T317.0 91.1 =) 3 1352.0 1089. 0 13391.0
551194. 0 37.0 9 3 1182. 10 1140.0 1096, 0
545950, 0 Ta. 2 =) 2 11035.0 1005. 0 -
21z05.0 TO. 4 9 2 1zz0.0 1599. 0 -
2850035, 0 =1 ] =) 2 1205. 0 1966. 0 -

Type 5 Radar Waveform_18
Buar=st Pal Chirp Homber of
Offset S (as) |Width Puolzes per |[PET—1 (ux) |FEIT—2Z (ux) [PRI-3 (ua=)
(=] * = (MH=z) Burxt
484971, 0 59.0 11 1 1522.0 - -
ESE4TS. 0 85. 3 11 <] 17T32.0 1064, 0 1406, 0
J115TE. 0 B3, 4 11 1 1934. 0 - -
213544, 0 B4. 5 11 1 1912.0 - -
43035, 0 §9. 6 11 <] 1335.0 19135.0 1z2z29.0
BSSSTI. 0 g6, 1 11 <] 1333. 0 1951. 0 1121.0
SEZa61. 0 B9. 2 11 b= 1116.0 1960. 0 -
156242, 0 B9.5 11 b= 1259.0 10635, 0 -
409307, 0 T4 T 11 b= 1147.0 17T31.0 -
BE3IZETL. 0 TS, 2 11 b= 1316.0 1255.0 -
S5TO3S. 0 B4 5 11 1 1397.0 - -
155415. 0 55. 6 11 <] 167T4. 0 141350 10590
3524590 5T.2 11 1 1329.0 - -

Type 5 Radar Waveform_19
Bor=st Pul=e Eyirp Homber of
%Eiﬁet Width (o=l 1;;;?. g:izts per (FPRERT—1 C(as]) |[FREI—2 (u=s])] |[PRT—3 f(a=s]
SZ4149. 0 TT.32 14 = 15730 119=. 0 -
TiS545=. 0 55.3 14 1 17T11.0 - -
113865. 0 56.9 14 1 1057, 0 - -
3I0TST4.0 551 14 1 1215. 0 - -
S00z237T. 0 TS. T 14 b 1533 0 1355, 0 -
BI3TSS5. 0 50,1 14 b 15835, 0 1050, O -
S9TT4. 0 TO. 1 14 = 1135, 0 1a17T.0 -
253005, 0 TO. 3 14 = 1691. 0 1506, 0 -
4TEZ215. 0 T3.9 14 = 13120 195z 0 -
BEIT1IS. O T1. 4 14 = 1354. 0 159=. 0 -
BEOOS. O T4. 5 14 = 157T1. 0 101z 0 -
ZESTTZ. 0 Q4.5 14 5 13584, 0 15=9. 0 1354, 0
451450, 0 Q99,4 14 =S 1951, 0 1351. 0 1625, 0
BE4S1TE. O F=1= T = 14 5 1154. 0 117T=. 0 15250
4z052. 0 a5, 6 14 =S 167TS. 0 1z27.0 157T9. 0
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Type 5 Radar Waveform_20

Buor=1i Pl = e Chirp Homber of
Offset Wwidrh b Waidith Folses per FPRT—1 Coa=] PRI —2 Coa=] FRT—3 Coa=]
(o= * == AaH=) Buar=t
1lasgz=. 0 S=2.3 17T = 1S6=.0 1630, 0 -
SSTTS0O. 0 55. 2 17T 1 15010 - -
S153541. 0 TZ.9 17T = 11080 144=_0 -
152510 a97T. T 17T ] 1559, 0 1157T. 0 145=. 0
1TeE1=2T. 0 T1. S 17T = 17O 0O 1T25.0 -
SI3TSES. 0 TS. S 17T = 1139=_ 0 1056, 0 -
49T4TS. 0 a95. 5 17T ] 15140 1390, 0 1007. 0
BSS011. 0 945, 1 17T ] 1173, 0 1155. 0 1754, 0
15635352, 0 == 17T = 15550 1497. 0 -
F1S517s. 0 51. =2 17T 1 153=Z7.0 - -
A4TSTSS. O TT. T 17T = 1=z291. 0 1054, 0O -
B4047T=S. O 55. 4 17T 1 1T7Tr. Q0 - -
156575, 0 Ta. S 1T = 1510, 0 1TES. O -
ZaTSE=. 0 TS 1T = 15410 1STS. O -
4SSz49. O TH. 5 1T = 1455, 0 1937T. 0 -
Bz1=500. 0O S56. T 1T 1 10570 - -
117TOS4. O B1. = 1T 1 1165, 0 - -
ZTTBEZG. O B5. 1 1T = 1598 0 1S5S, O -
Type 5 Radar Waveform_21
Bor =14+ Pol=a Chirp Homber oif
Offset Width C b} Waidtlh Polse=s per PFPRT—1 oax) PRYT 2 as) RT3 Ca=<
o= * = AN Bur=t
ASSTSO. 0O T3. 35 17T = 17T3aT. 0 1100, 0 -
BO1=Z=0. 0 52T 17T 1 125=.0 - -
QeTI=. 0 Qo. = 17T = 18z=1. 0 11190 18410
25TOST. O 55,35 17T =] 1TES. 0O 149390 15160
4175941, 0O g6, 0 17T =S 15=Z1. 0 1Tz 0 1zZ90. 0
S50T1IS. O 95,3 17T 1 1397T0O. 0 — —
TESTE. O o, = 17T = 1455 0 19730 15850
2355410 S0 35 17T 1 185Z. 0 - -
SFO9S040. O S, T 17T S 1TSS 0O 17TaS. 0 1095 0
SESEZE. O a5, = 17T = 1Z==. 0 1==57T.0 1405 0
ST39=. 0 B3.9 17T 1 171z 0 - -
Z1TSES. O S5, T 17T S 1=2==. 0 1555, 0 1994 0
FITI1l=1. 0 TO. = 17T =2 1=Z1=. 0 1T1i9. 0O —
S390535. 0 (=10 17T =] 1T5S5. 0 1157T.0 135T.0
STAzZ=.0 [=5= =1 17T S 1058&. O 11560 153740
l1agSzzs. 0 TO. & 17T = 18510 197T=. 0 —
355345, 0 ST.35 17T =] 12550 15550 17TSE. 0O
SZOSES. 0O B9, 4 17T = 135=. 0 13570 -
Type 5 Radar Waveform_22
Baur=st Pol=e Chirp Homber of
Dff=et Width 3 Width Ful=e=s per |[FRET—1 (o=} |PRT-Z (u=s) [FPRT—3 (a=s)
(as) * = (AH=z) Bur=1t
Z2TZ6B. 0 52 2 1= 1 1555. 0 - -
229859, 0 BT. 1 1z 2 1817. 0 1872, 0 -
437950, 0 B3, T 1=z 1 1145. 0 - -
B43TAG. 0 TE 4 1z = 1778 0 17010 -
S51T=0.0 5= 4 1= = 1184. 0 14=5. 0 -
SO4TES. 0 BO. 3 1z 1 1711 0 - -
4116360 TS. S 1= = 1159. 0 1494. 0 -
519599, 0 53. 5 1z 1 1676 0 - -
S2TTOG. O S0, 9 1z 1 1025, 0 - -
17E801. 0 LB 1z E 1985 0 1080, 0 -
S54TOT. O a0, 4 1= ] 199&. 0 19=27T.0 1585. 0
S9Z383.0 a5 1 1= = 1=3835. 0 1507. 0 12250
T99010.0 949. 1 1= 3 15=24. 0 1452. 0 1549. 0
153530, 0 B4, B 1z 1 1683. 0 - -
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Type 5 Radar Waveform_23

Buor=s+t Pal=e l:]_:lirp Huomber of
Offset Wedih C(u=) |Hadth Pul=e= per [PET—1 (u=) |[PRI-2 (u=) |[PRT—3 C(ua=)
(a=x) (MH=) Bur=st
S1SEET. 0 B3 S 15 1 1977.0 - -
AQETIE. 0 TE. 1 15 = 1295, 0 1205, 0 -
BTE141.0 TE. 1 15 = 1104. 0 12740 -
111576. 0 =3.9 15 = 1S16. 0 1SS0, 0 105=. 0
FQIETS. O S5. 5 15 1 1073, 0 - -
ATIAES. 0 Q4.0 15 = 1055, 0 1645, 0 1530, 0
BSS144. 0 BO. = 15 = 1250, 0 18583, 0 -
Sas=0. 0 Bl 5 15 1 1430. 0 - -
271195, 0 57T.5 1= 1 1359, 0 - -
451925, 0 T1.5 15 = 11750 1S6S. 0 -
ESES3E5. 0 S0. 1 15 = 1075, 0 1465, 0 -
BTZO0. 0 50,3 1= 1 1059, 0 - -
ZATELT. 0 g4 2 15 = 19470 1846, 0 1222 0
AFESI0. 0 g9.5 15 = 1925, 0 1575, 0 1459, 0
B10114. 0 S0.T 1= = 1594, 0 1736, O -
144705, 0 a7.5 15 = 1513, 0 1791. 0 1283 0
Type 5 Radar Waveform_24
Boar st Pal=e l:]_:li:rp Huomber of
ODOff=a+t Width Cos) Waidth Folses per FPRT—1 o= PRI —2 Com=12 PRT—3 Coa=]
(oa=s) AH= D Bar =+t
Zoll1ss. O Ssa.0 17T 1 1204, O - —
I6EZ61Z. 0 59,1 17T 1 1=Z57T. 0 - —
SZ1596. 0O S5, 6 17T = 117T&. 0 1505, O 1595, O
Z00z=4. 0 55,3 17T 1 1556, 0 - -
11399, 0 545 17 1 1300, 0 — —
ZFd4l=1Zz2. 0 b= N 17T = 1es7T. 0 12=1. 0 1409, O
SOzZTZ0. 0 (=5 T 8 17T 1 1=50. 0 - —
149, 0O 94,3 17T = 1az0. 0 1545, 0 152=. 0
1511355, 0 TO. 5 17T = 1545, 0 1za0. 0 -
SZESdE. 0O SOo. 0 17T = 1151. 0 11660 -
AZ4ZTS. 0 sa. s 17 1 1=85. 0 — —
B4=451 . 0O SZ2.1 17T = 1=9=. 0 195=. 0 —
114155, 0 5T. 3= 17T 1 17T1e. 0 - —
IO==S20. 0O B35 17T = 1515, 0 12150 —
45411 07T. O B0O. 0O 17T 1 1T7TOS. O - -
BZS115S. 0 S0, 6 17T 1 13954, O - -
1z1=1Zz. 0 SE. 1 17 = 1sa7.0 1071.0 18E66. O
ZEZ023. 0 9. = 17T = 1511 .0 12510 11310
Type 5 Radar Waveform_25
Burst Pulse Chirp Homber of
Offset Wid Width Fulses per [FRI-1 f(ux) (FRT-2 (usz) |[FRI-3 (us)
idth [(us)
(as) (MHz) Bur=st
BE9RET. 0 5.1 ] z 1045. 0 1160.0 -
12110250 94.5 ] 3 1081.0 106T.0 1268.0
F0E914.0 Bd.1 ] 1 171T7.0 - -
SEREEY. 0 B5.5 ] 1 167TT.0 - -
G49513.0 B2 2 ] 1 1T46. 0 - -
1170388, 0 934 ] 3 16690 1113.0 1663. 10
1a4190. 0 a0 ] 1 1249.0 - -
456100, 0 ar. T ] 3 1539. 0 1085. 0 1805. 0
G10053. 0 o9 A ] 1 1713.0 - -
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Type 5 Radar Waveform_26

Burst Pul Chirp Homber of
Offset ¥idih Cas) |Fidth Fulses per (PRI-1 f(ux) |[FEI-2 (us) ([PRI-3 f(us)
(as) 1 . (MHz ) Burst
24358, 0 az. 3 a 3 1187.0 1609, 0 1744. 0
101453, 0 a3, 4 a 3 1695. 0 1050, 0 1620, 0
JES3ET. 0 TZ. 1 a 2 127T5.0 1956, 0 -
B2az11.0 TG, 2 = 2 1389.0 1781.0 -
agzEea. 0 &893 a i 14230 10850 1099, 0
BO0EZ. 0 T3. 1 a 2 1841.0 1642, 0 -
333464 0 B35 =] 1 1304.0 - -
5aT432. 0 BZ. B = 1 1832.0 - -
SE033Z2. 0 g1,z a 2 1503. 0 1539, 0 -
ZEBZT. 0O BZ.5 a 1 1957.0 - -
Z00031.0 Q3. T a 3 1385.0 1150.0 19a1.0
Type 5 Radar Waveform_27
Borst Pul=e Chirp Huomber of
Dffzet Width 3 Width Ful=zex per |[PRT—1 (u=) |FRT—2 (u=s) (FRT—-3 (a=)
(o= * = (MH=z) Burst
4453535, 0 B0, 1 13 1 1472, 0 - -
BSOOTS. O Ba. 5 13 = 13320 1527T.0 -
2140 TL. T 1= = 1487T. 0 1018 0O -
210435320 512 13 = 1655, 0 1055, 0 -
415312, 0 B3.5 13 1 1z92. 0 - -
BZ4561. 0 TS, 4 13 = 1859. 0 15Z8. 0 -
S30555. 0 g54.5 13 3 1575. 0 1Z61.0 1445 0O
1544=z6. 0 85T. 2 13 ] 1999. 0 1177T.0 1794, 0
S9ZEST. O 5T. 2 13 1 15=1. 0 - -
S95365. 0 g59.1 13 3 1055, 0 1156. 0 1595. 0
SOT333. 0 51.4 13 1 19=29.0 - -
159=51. 0 TI. S 13 = 1589. 0 1T==. 0 -
S6E4TO. 0O T4 = 13 = 11z0.0 1950, 0 -
STZ472. 0 g54.9 13 ] 1ToO4. 0O 1505, 0 17T39.0
Type 5 Radar Waveform_28
Bor=s+it Pl = l:]_:l.:i.rp Hombexr oif
':E£§§Et Widri Coa= '.(;;};51 gi;ig e FRT—1 o= FPRT =2 Coa=s] RT3 o=
547251 . 0 54 4 =0 1 1370, 0 — —
=19, 0 S5, S =0 = 1110, 0O 1914 0O 1374, 0O
255541 . 0 TS. 3 =0 = 117T=. 0 1TS=. 0O —
SS51856=. 0 a5 5 =20 3 111=_ 101 1976. 0 1863 0
SEEST=. 0 a27.0 =0 = 1==4. 0 194 0O 1=Z=5. 0
TS4AS4. 0O a=. 3= =0 = 1=7T=. 0 1T==. 0O 150, 0O
209 0 55 =2 =20 1 1=30. 0 — —
SES130. 0 BE. S =0 = 1SS0S, 0O 14355 0O —
SOS4E=. 0 S5 =0 = 1S&1. 0 1S1=. 0O 1544, 0O
SS0oa=. 0 BEZ. 1 =0 1 1545, 0 — —
ZO0zZi140. 0O R=1= T =] =0 = 14a=. 0 17TT=. 0 1=7T7T. 0
SAS8SST. 0O Q5. 3= =0 = 1SS5. 0 1TEG. O 1=51. 0
49=Z12=. 0 S=3.7T =0 1 191=. 0 — —
40017 . 0O TOo. = =0 = 1190, 0 1984 0O —
155195, 0 Ss5.49 =0 1 1TS54, 0 — —
SZ=2s9s=4. 0 935, 5 =0 = 1=44. 0 l1468=. 0 1==1. 0
4T5=21 .0 55. 49 =0 1 1965 0 — —
Z=17T9.0 TS. 9 =0 = 1S5S, 0 1S=5. 0 —
1665355, O S5, 1 p={m] = 17T4=. 0O 1T49. 0O 1TSS 0
S11=47T. 0 a9=. 4 =0 = 1150 0 1T35. 0 1095 0
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Type 5 Radar Waveform_29

Bur=st Ful=e Eyirp Homber of
Dffset Width Cus) Width FPulsexs per (FRI—1 (us) [PRI-Z2 (uxs) [PRI—3 (uxs)
(u=) (MH=z) Burs=st
TE1479. 0 g9. 2 10 3 1692. 0 1026. 0 1521.0
TZ90. 0 556 10 1 1051.0 - -
249182, 0 T=. T 10 2 1155. 0 1435. 0 -
491023, 0 gz.9 10 2 1339.0 1317.0 -
TI3526. 0 E2.0 10 1 1859. 0 - -
ATIET3. 0 83. 8 10 ! 1204.0 1027.0 1402. 0
219724, 0 55,9 10 1 1045. 0 - -
451973, 0 E3. 0 10 1 1103. 0 - -
TOZZ03. 0 g20.5 10 2 1443, 0 11z4.0 -
944519. 0 ™. B 10 2 1925. 0 12730 -
1539351. 0 g0. 5 10 2 1673.0 2000, 0 -
431531. 0 B, 8 10 2 1343.0 1155.0 -
Type 5 Radar Waveform_30
Burst Fulse Eyirp Humber of
Dff=zet Width (as) |Fidth Pulses per (FRT-1 (ux) |[PRT-—2 (us) [PRT-3 (u=x)
(a=) (MH=) Bur=t
ETZ523. 0 aT. 9 10 ! 11z9.0 1214.0 1529.0
913350, 0 a1.3 10 ! 10z9. 0 1509. 0 1512. 0
159645, 0 T4.9 10 2 1531.0 1612.0 -
400371, 0 86. 9 10 ! 1636. 0 1142. 0 1610.0
E43135. 0 an. 3 10 ! 1009, 0 1086, 0 1225.0
885115, 0 B3.1 10 2 1135. 0 1537.0 -
129719. 0 g4. 3 10 ! 1549. 0 1945. 0 1212.0
3T1T24.0 T, 2 10 2 1107. 0 1949. 0 -
El1Z420. 0 85.5 10 ! 1401. 0 1905. 0 1525. 0
853451. 0 Q3. 4 10 ! 1531.0 1515.0 1535. 0
99535, 0 85.0 10 ! 1549. 0 1501.0 1955. 0
342491.0 Q.5 10 1 1452. 0 - -
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Radar Type 6 - Radar Statistical Performance

Trail #

1=Detection

0=No Detection

Trail #

1=Detection

0=No Detection

—_

1

16

1

1

17

1

18
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22

23

O | | N ||l W|DN

24

-
o

25

—_
—_

26

RN
N

27

—_
w

28

—
o

1

29

[N
O

1

30

Detection Percentage (%)

93.3%

Type 6 Radar Waveform_1

Fr e gwomexmw oy

Li==® (MM o * = = -

[n] 55TT [=1=T= =] S4a95 S=ET SEET
= s=58 sss5a sa== SSa0 55355
10 S=TS Ss058 sS==0 STi14 S
1= S510 sSe=s SSas Sa5S SSa0
=0 s=ss51 SEEE s=s1s SES0 SSas
== s=ss0 s==9 (S T=NE] SETE SAaABS
=0 S551 sS==0 (S0 S=TS [=S1=4=1n]
== SETE S=1a S=19 SS9 S5TS
ETaY [=f=1=1=1 Sa== S=7T1 SEO= sS5=S
as S5S350 SS=0 Sao SSE3 SESE
=0 ST11 [=1=1=T=] j=f=1= 1= SSaS [=i=h=k=]
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Type 6 Radar
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Type 6 Radar
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Type 6 Radar
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Report No.:2105TW0602-U5

Product

ACCESS POINT

Test Site

SR2

Test Engineer

Eric Lin

Test Date

2022/02/25

Test Item

Radar Statistical Performance Check (802.11ax-HE80+80 - 5530+5610MHz)

Radar Type 1 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHz) 0=No Detection
1 5492 1 16 5548 1
2 5521 1 17 5645 1
3 5541 1 18 5586 1
4 5514 1 19 5554 1
5 5520 1 20 5513 1
6 5639 1 21 5634 1
7 5596 1 22 5626 1
8 5580 1 23 5612 1
9 5608 1 24 5641 1
10 5623 1 25 5534 1
1 5530 0 26 5563 1
12 5542 1 27 5597 1
13 5546 1 28 5600 1
14 5641 1 29 5616 1
15 5570 1 30 5648 1

Detection Percentage (%)

96.7%
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Radar Type 2 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5570 1 16 5544 0
2 5524 0 17 5548 1
3 5543 0 18 5566 1
4 5508 0 19 5534 0
5 5587 1 20 5631 1
6 5607 1 21 5554 1
7 5516 1 22 5597 1
8 5569 0 23 5528 0
9 5645 1 24 5542 0
10 5588 1 25 5645 1
11 5604 1 26 5513 0
12 5523 0 27 5564 1
13 5572 1 28 5552 1
14 5561 1 29 5542 0
15 5492 1 30 5648 0
Detection Percentage (%) 60.0%
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Radar Type 3 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5648 1 16 5492 1
2 5577 1 17 5506 1
3 5614 1 18 5637 1
4 5647 1 19 5523 0
5 5596 1 20 5550 1
6 5545 1 21 5516 1
7 5635 1 22 5528 1
8 5638 1 23 5641 1
9 5616 1 24 5632 0
10 5566 1 25 5615 1
11 5577 1 26 5503 0
12 5494 1 27 5588 0
13 5615 1 28 5584 1
14 5569 1 29 5538 0
15 5570 1 30 5570 1
Detection Percentage (%) 83.3%
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Radar Type 4 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5570 1 16 5548 0
2 5494 1 17 5636 0
3 5526 0 18 5566 1
4 5546 1 19 5645 1
5 5498 1 20 5581 1
6 5557 1 21 5499 1
7 5520 1 22 5614 1
8 5504 1 23 5621 0
9 5493 1 24 5619 1
10 5524 1 25 5625 1
11 5600 1 26 5588 0
12 5492 1 27 5633 1
13 5607 1 28 5549 1
14 5548 1 29 5642 1
15 5563 1 30 5648 1
Detection Percentage (%) 83.3%

Note: In addition an average minimum percentage of successful detection across all four Short pulse radar test

P1+P2+P3+P4 _
4

waveforms is as follows: (96.7%+60.0%+83.3%+83.3%)/4 = 80.8% (>80%)
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Type 1 Radar Statistical Performance

5 Radar Loilem Aamber of |Heveform
Trial Id Tope tld;h FPRYT C(a=x) Pol == %::§th
- =

Downl o=d u] Twp= 1 1.0 To=s. 0 BT SEHAGE. O
Deownload 1 Type= 1 1.0 558, 0 as SZ010. 0
Downlo=ad = Txp= 1 1.0 TTS. O =5 Sz90d. O
Downleoad 3 Txp= 1 1.0 STS. 0 a1 S355S. 0
Download e Tzpe 1 1.0 ass. 0o ST SZ4a66. O
Deownleoad s Txp= 1 1.0 555. 0 =5 SZ196. 0
Download =) Type= 1 1.0 S595. 0 9 SSEZZ. 0
Deownload T Txp= 1 1.0 TS, 0 T= SZ136. 0
Deownload = Type= 1 1.0 STS. 0 az SZ1TE. O
Downlo=ad =] Twp= 1 1.0 B35, 0 53 SzgSa. 0
Deownload 10 Type= 1 1.0 [=3=1= ] a1 SIZaS. O
Download 11 Tzpe 1 1.0 s535. 0 a9 SEEE2. 0O
Downleoad 1z Txp= 1 1.0 BTS. 0 TS szsSd. O
Downlo=d 15 Tzpe 1 1.0 a1ls. 0 55 SEzd44. 0O
Deownleoad 14 Txp= 1 1.0 S535. 0 5] S=7a4. 0
Download 15 Type= 1 1.0 ZTSS. 0 19 SZETT. O
Downlo=ad 1e Twp= 1 1.0 TS9. 0 TO S=130. 0
Deownload 17 Type= 1 1.0 oG25. 0 19 SIETS. O
Downlo=ad 1= Txp= 1 1.0 aT=. 0 == SZ4a80. O
Downleoad 19 Txp= 1 1.0 1523.0 == SZEET. O
Download =0 Tzpe 1 1.0 aTo. O 55 S350, 0
Deownleoad =1 Txp= 1 1.0 TT=.0 [=5=] SEzES. O
Download == Type= 1 1.0 S0Sz. 0 15 S4356. O
Download == Txp= 1 1.0 =909, 0 12 sSs=T1.0
Deownload = Type= 1 1.0 =514, 0 =1 S453d. 0
Downlo=ad == Twp= 1 1.0 1135. 0 4T S3EAS. 0O
Downleoad =1=] Typ= 1 1.0 =182, 0 o5 S40S0. O
Download =T Tzpe 1 1.0 191=. 0 =5 SE536. 0
Downleoad == Txp= 1 1.0 TS5, 0 19 SZaTZ. 0
Download =9 Type= 1 1.0 ZESS. O =0 SS1680. 0

Type 2 Radar Statistical Performance

5 Radar e Humber of | Baveform
Trial T4 aete Midih PRT Cas) e Length
ws=
Download o Tsp= = =5 zz1.0 =5 SSz2s. 0
Download 1 Tsp= = 4.7 168. 0 =0 45T, O
Downlo=d = Tst= = 3.6 z30. 0 =7 Bz10. O
Download = Tspe = =. 0 19z 0 =5 4992 0
Download a Tsp= = 3.5 177. 0 =7 ATTE. O
Download s Tvp= = 2.3 zo8. 0 =5 Szoo. O
Downlo=d & Tst= = 1.6 171. 0 =3 4959, O
Download d Tsp= = 3.0 ZO07. 0 =5 S35z, 0
Download = Tsp= = 4.4 z10. 0 =5 Sss0. 0
Download 2 Tvp= = 4.0 186. 0 =5 Szos. O
Download 10 Type = 1.1 179. 0 =3 4117. 0O
Download 11 Type = 1.8 167. 0 =a a00s. O
Download 1= Tspe = 4.9 ze3. 0 =0 EAST. O
Download 1= Typ= = a.z z03. 0 =5 S=Ts. 0
Download 14 Tspe = BN 182, 0 =7 4914. O
Download 15 Type = 4.4 190. 0 =5 S3z0. 0
Download 15 Tspe = 1.0 193. 0 =3 aaFo. O
Downlo=d 1T Type = 3.7 163. 0 =7 4401, O
Download 1= Tspe = 1@ 157T. 0 =a sTES. O
Download 19 Type = =5 zo0. 0 =5 Sooo. O
Download =0 Tspe = 5.0 197. 0 =0 ST1=. 0
Downlo=d =1 Type = 4.9 z15. 0 =3 BESS. O
Download == Type = 1.5 199. 0 =3 ASTT. O
Download == Type = 1.6 153. 0 =0 AAZT. O
Download =4 Typ= = 2.2 165. 0 =5 41=5. O
Downlo=d =s Type = 2.3 zz6. 0 =5 sS850, 0
Download =& Type = =. 0 164. 0 =a SEEE. O
Download =7 Tspe = 5.0 zo1. 0 =0 Sszo. O
Download =5 Typ= = 2.0 z14.0 =4 S1365. 0
Download =a Tspe = 4.3 z25. 0 =5 &300. O
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Type 3 Radar Statistical Performance
Trial Xd ¥;::’ vt PRI C(a=) Pomber of :::;fl‘:r-
Cas) o=
Downdl cad () Trp= = T. B A4zZZ. 0 17T T17T-4. 0
Downlo=ad 1 Txpe = 9. T STS. 0O 15 BT14. 0
Downdl cad = Trp= = E= T = ZO&. O 17T S0O=Z. 0
Downlo=ad = Txpe = S. 0 =55, 0 17T 4545, 0
Downdl cad =1 Trp= = =5 =01. 0 17T S117T.0
Downlo=ad = Txpe = T.35 415, 0 15 B540. 0O
Downdl cad (=) Trp= = L= = 401 . 0 1= TEZ1=S.0
Downlo=ad T Txpe = S. 0 SSA. 0O 17T ST1=.0
Downdl cad = Trp= = L= A ZE87T. 0 1= S166. 0
Downlo=ad k=] Txpe = 9.0 S5ET. O 15 BEOG. O
Downdl cad 10 Trp= = .1 455, 0 18 TIEZSE. 0O
Downlo=ad 11 Txpe = [ = =] STO. O 15 S9zZ0. 0
Downdl cad 1= Trp= = L== ZEs. 0 1= 5154, 0
Downlo=ad 1= Txpe = E= = 4593, 0 17T TITS. O
Downl aad 1-1 Trpe= = E= . = =Z==1.0 17T =FgzT.0
Downlo=ad 15 Txpe = 9.4 457T. 0O 15 TSEG. O
Downl aad 16 Trpe= = (=] ==sT.0 16 El1Q9=. 0
Downlo=ad 17T Txpe = ST 454, 0 15 TS1=.0
Downl aad 1= Trpe= = E. 9 “Az4. 0 16 ETS4. 0
Downd cad 19 Txpe = T. 9 Z65. 0 17T 447T1. 0
Downl aad =Z0 Trpe= = 10,0 =51. 0 1= E4Q=. 0O
Downd cad =1 Txpe = 9.9 447T. 0 1= So45. O
Downl aad = Txpe= = E.S Z=g99.0 16 4TsS4. 0O
Downd cad =235 Txpe = 9.6 419. 0 1= TS4=2. 0
Downl aad = Txpe= = T. =2 =Z==z0. 0 16 ==z20.0
Downd cad =25 Tepe = T.3 =94, 0 17T BEQS. O
Downl aad ZE Txpe= = T.Q 47T=. 0 16 TESZ=. 0O
Downd cad =T Tepe = 10. 0 =252, 0 1= 4556, 0
Downl aad =5 Txpe= = T.Q Z1. 0 16 =455, 0O
Downd cad =9 Tepe = 9.3 SS4. 0 1= 591z 0
Type 4 Radar Statistical Performance
Trial Id ¥;::r S Evata PRL C(a=) oo O }'.ZZEE:E"
o= o=
Downl cad [m] Trxp= -1 11. & A4zZZ. 0 14 SQ0=. O
Download 1 Txpe - 19, = STS. 0O 158 S9aS. O
Downl cad = Trxp= -1 1. 9 ZO&. O 1= A440. O
Downl cad = Tepe -1 15. 5 =285, 0 14 SQQo0O. a
Downl aad =1 Txp= -1 156. 5 =01.0 15 451, 0
Downl cad 1= Tepe -1 1=. 5 415, 0 1= SE9S. 0
Download (=] Txpe = 191 401 0O 16 E4l16. O
Downdl cad T Trxp= -1 15 5 =36, 0 14 4704, O
Download (=] Txpe - 15. 6 =5T. 0 158 459=. 0
Downl cad (=] Trxp= -1 1T. B =EET. O 1= SS05. 0
Download 10 Txpe - 11. 5 455, 0 1= S496. O
Downl aad 11 Txp= -1 1=. 7T =To.a 1= 4440, O
Downl cad 1= Tepe -1 1. 7T =285, 0 15 4505, O
Downl aad 1= Tzxp= = 1.9 459, 0 14 ESEE. O
Downdl cad 14 Trxp= -1 1. = =Z=1. 0 1= =485, 0
Download 15 Txpe = 15 6 435370 16 [=h=1=t=da ]
Downl cad 1E Trxp= -1 11. 0 =ET.0 1= AEA44 . O
Download 17T Txpe - 1T. 1 454, 0 15 BS10. 0
Downl ao=ad 1= Trxp= -1 1=. 1 “Az4. 0 1= sS=1z=. 0
Downl cad = Tepe -1 14. 5 Z65. 0 1= S419. 0
Downl aad Z0 Txp= -1 Z0o.a =51. 0 15 STTEe. O
Downdl cad =1 Tep= -1 19 = 447T. 0 18 TiS=Z. O
Download == Txpe = 1= 1 =390 1= 3555 0
Downl cad =23 Trxp= -1 1.0 4193, 0O 18 ETO4. O
Download =4 Txpe - 1. 7T =Z=Z0. 0 15 =Se0. O
Downl cad =5 Trxp= -1 141. 0O =94, 0 1= S1zZ=Z.0
Downl cad =26 Txpe -1 1= = 47TZ. 0 1= Bl13536. 0
Downl aad =27 Txp= -1 19.9 =5=. 0 15 40==. 0
Downl cad =25 Tepe -1 1= = Z16. 0 1= Z50s. O
Download =Za Txpe = 15 4 =54 0O 16 Eld4d 0O
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Radar Type 5 - Radar Statistical Performance

Trail # Test Freq. 1=Detection Trail # Test Freq. 1=Detection
(MHz) 0=No Detection (MHZz) 0=No Detection
1 5570 1 16 5499.2 1
2 5570 1 17 5494 1
3 5570 0 18 5498 1
4 5570 1 19 5495.2 1
5 5570 1 20 5496.4 0
6 5570 1 21 5640 1
7 5570 1 22 5640 0
8 5570 1 23 5645.2 1
9 5570 1 24 5640.4 1
10 5570 1 25 5644.4 1
11 5494 1 26 5644 1
12 5495.2 1 27 5644.8 1
13 5500 1 28 5640 1
14 5497.2 1 29 5644.8 1
15 5498 1 30 5640.8 1
Detection Percentage (%) 90.0%

Type 5 Radar Waveform_1

Bur=t FPul=e [:l_lirp Humber of

Dff=et ¥idth C(as) Width Fulzex per ([FRT—-1 f(u=s) (FRT-2 f(us) |[FRTI—3 (us)
(a=) (MH=z) Burst

594573. 0 Ta. = 11 2 1T46. 0 1531. 0 -
S5168395. 0 95. 3 11 3 1914.0 1639.0 145350
1212960 g52. 5 11 2 14630 1351.0 -
3443553 0 T4. T 11 2 12T&. 0O 1519.0 -
SETZTS. 0 g0.5 11 2 1507.0 1665. 0 -
TI1EEZ. O E5. 9 11 1 190z 0 - -
93TZ1.0 94. 7T 11 3 1055. 0 1566. 0 1047. 0
31TOT4. 0 TS. 2 11 2 1035. 0 1517.0 -
53597T2.0 g91.49 11 3 1935. 0 14360 14730
TE1Z52. 0 86, T 11 3 1545. 0 1941.0 1901.0
EE39T. O 51,7 11 1 163T.0 - -
259502, 0 59.8 11 1 1832. 0 - -
511597T.0 aT.49 11 3 1EG4. 0 1289.0 1324.0
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Type 5 Radar Waveform_2

Bor =t Pol=e Chirp Homber of
Off=et Hideth (u=) |#idth Folse=x per |[PRT—1 (a=s) ([PRT—2 (m=) |[PRT—3F C(a=]
Cas) AH=) Buoar =1t
SOZ27TE. O TTr. 1 19 = 1TE=. 0O 1e9a. 0 -
zZES14. 0 5=, =2 13 = 1445, 0 1854. 0 —
1TS3EES. 0O 2= 5 19 b= 1&5=9. 0 19za. 0 1460, 0
1051, 0 =0, = 10 1 1991. 0 — —
4zzE01. 0O 53.93 13 = 1905, 0 lasz. 0 1257.0
TTBS. O Bl 5 19 1 1145. 0O — —
160155, O e 10 = 1801. 0 153T. 0 —
F1151=. 0 99. 5 13 = 1734, 0 15=1.0 1411.0
4B4Z05. 0O as. B 19 = 1155, 0O 1515 0 1=468. 0O
a1934z2. 0 SE. S 19 1 116a. 0 - -
140945, O 94,1 13 = 1ESE. O 1740. 0 1EEE. O
ZOdER=. 0O B5. 0O 19 1 1258, 0 — —
AABE2EE. O BE. S 19 = 1553. 0 1454. 0 —
BO0103F. O B=. 4 13 1 15s9=. 0 — —
1===TE. 0O Q9.1 19 = 1=66. O 1954 0 1805 0O
E2TSe0S. O 5z = 19 1 1S01. 0 - -
AZTOOZ. O an. s 19 =3 13685, 0O 1051. 0 13684, O
STSTES. O a5, = 19 = 1s01. 0 1=21.0 184z O
104055, O [S o =] 19 1 1559, 0 - -
Type 5 Radar Waveform_3
Buoar=+t Pal Chirp Homber of
Off=set '.df]‘: Ca=) |Wideh Pul=e=x per ([PRT—1 (as) |[PRT-2 (u=s) |[PRT—3F (u=s)
(s} * = (MH=) Buar=+t
S0Z99s. 0 [=4= e 15 =] 109, 0 1S54, 0 150z, 0
455TSZ. 0O BZ. 4 15 1 145=. 0 - -
BETOZ9. O BT.S 15 = 1005 0 15740 -
10105=. 0 TE. 3 15 = 1zs0.0 1997T. 0 -
2523993, 0 B4. 5 15 1 110z 0 - -
455955, 0 9.0 15 = 10z, 0 11550 -
B4E=47T. 0 B4. 4 15 1 111=. 0O - -
TSE4S. O a0, = 15 =] 1955. 0 105350 1566, 0
259455 . 0 S54. 5 15 3 15090 17250 11=21. 0
440579, 0O TS 15 = 19750 19560 -
BZ2Z019. 0 55, 4 15 = 15510 14550 -
S5E495. 0 BS. = 15 = 10350 15490 -
Z3TBO9. 0O T™S. 5 15 = 14560 156250 -
4197TEeT. 0 525 15 1 1=zZ01. 0 - -
BOOS21 .0 TZ. T 15 = 11e=z. 0 11700 -
S41035. 0 S4. B 15 =] 117T=. 0 156590 132=. 0
Type 5 Radar Waveform_4
Buor=t Pol=e Chirp Homber of
Dffset Hidth C(a=) Waidth Fuolses per |[PRT-1 (u=s) |[FPRT—2Z (us) |[FEL—3 f(u=s)
(a=) (MH=x) Bur=st
245317. 0 S4.T 1z = 1045. 0 1490. 0 1457T. 0
454147, 0 53. 5 1z 1 1533, 0 - -
BE1SZ21.0 B5. 5 1z 1 1T11.0 - -
13559. 0 B0, 1 1z 1 1899, 0 - -
221177T.0 B3.49 1z 1 1132. 0 - -
42T441. 0 B9, 3 1z = 1355, 0 1931.0 -
BIS406. O 9T. 4 1z = 1861. 0 1352. 0 1342 0
S4217TE. 0O T1.7T 1z = 1T36. 0O 119z2. 0 -
194596, 0 85. 5 1z 3 1405, 0 18691.0 1135.0
401602, 0 S5, 5 1z 3 1T14.0 1T21.0 1120.0
Bl10zZ549. 0 s9.T 1z 1 1910, 0 - -
S1T3I683. 0O B3.T 1z 1 1824. 0 - -
17013 0 53 4 1z 1 1227.0 - -
STEISE. O a5. T 1z = 1z228. 0 1z225.0 15240

FCC ID: Q9DAPIN0655

Page Number: 161 of 184




1
AN\ A

/!
IVR I y Report No.:2105TW0602-U5

Type 5 Radar Waveform_5

Bor=st Pul=e Chirp Homber of
Off=et Width O 3 Width Ful=e= per [FET—1 f(u=x) |[FET—Z2 (ua=) |[FELI—3 (a=)
(=] * i (MH=) Bor=*%t
S45045. O B30 14 1 1330 - -
T3E259. 0 51.1 14 1 15=27T.0 - -
134=327.0 855,41 14 =S 1619. 0 1055, 0 1320, 0
SFETSZE. O Q91. 0 14 =S 1550, 0 1056, 0 1026, 0
SZ1509. 0 TO. B 14 = 1090, 0 1275, 0 -
Ti307T=. 0 85.5 14 =S 12730 1505, 0 16935 0
110350, 0 59. 8 14 1 1855. 0 - -
304545 0 59.49 14 1 1547T. 0 - -
4g9T236. 0 Tr. T 14 = 1z215. 0 1365, 0 -
B31425. 0 S51.4 14 b 10z5. 0 100=. 0 -
SB94T. 0 Ba. 5 14 = 1191. 0 120=. 0 -
Z5017TT. 0 TL. T 14 = 1137T.0 1585, 0 -
4TEZS56. 0 S54.5 14 5 1z80. 0 1555. 0 1175. 0
BEE4TS. O TB. T 14 = 1545. 0 1509, 0 -
B3105. 0 S0.1 14 = 1585, 0 1034, 0 -
Type 5 Radar Waveform_6
Buar=st Pual Chirp Haomber of
Dff=et o (as) |Hidth Pulses per |[PREI-1 C(us) ([PRT-2 (o=) [PRI-—3 (u=x)
(n=) (MHz) Burst
2203460 a8, 3 10 3 1021.0 1961.0 1125. 0
SEZ2453. 0 B3 2 10 = 1342 0 1141. 0 -
SO0SETI. 0O B2 4 10 1 13020 - -
49047, 0 93. 2 10 ] 1316. 0 1144 0 1253. 0
290543, 0 TT. 8 10 = 1632.0 1604 0O -
533591, 0 Ed. 3 10 1 13TZ2.0 - -
TTSQ01. 0 55. 7T 10 1 1230.0 - -
13317. 0 T5.3 10 2 137TT.0 1TZ2.0 -
ZEOTEBS. 0 55. 2 10 3 1591.0 1622.0 1173.0
S0zZ053. 0 a5. 9 10 3 16&51.0 1387T.0 1183.0
T44496. 0 E9.9 10 2 1543, 0 1T&83.0 -
9ETIRZ. 0 ES. 0 10 1 15BT. 0 - -
Type 5 Radar Waveform_7
Bar =t e Chirp Homber of oy cas? a3
Offse o Width Puolsex per |PRT—1 (o= PRT—2 C(u= PRT—3F C(u=
(s * Width Ca=) (.H;) Bor=st *
1asa5s. O as. = 19 = 1104, 0 1538 . 0 19682, 0
ZaTEBS. O 55,5 19 5 1239, 0 1970, 0O 1147. 0
4S007TE. O TS, = 19 = 1422, 0 1275, 0 —
BO4433. O EERE] 19 1 17vza. 0 - —
1ZTEET. O s0. 68 19 1 17TEE 0 - -
ETSEST. O S8, T 19 = 17a7T. 0 1Z08. 0 1507, 0O
AZ0S3E1. 0 =9, 1 19 = 1724, 0 13ET. 0 1947, 0
SESE64. 0 sa. T 19 1 1BTS 0O - -
108300, O BT. 3 19 = 1340, 0 1B6T. 0O —
ZE1004. O Ta. 19 = 1095, 0 1zaT. 0 —
411a7Z 0 4. a 19 = 1074 0 1944 0O 1855 0
SES5313. 0 2.0 19 = 1774, 0 1602, 0 —
SgEEE. 0 =2, = 19 = 1=93. 0 1zE9. 0 17a9. 0
Fa1@i14a 0 TS0 19 = 1319 0 1zm4a. 0 —
S94394. O T4. 8 19 = 15689, 0 1478, 0 —
S4AB189. O TS, = 19 = 1210, 0 Zooo. 0 —
TOSS1. 0 sS4 1 19 = 107E. 0 1a6T. 0 1BTE. O
2E2497. 0 a0, & 19 ] 1751, 0 17TE2. 0 1453, 0
STASZA. 0 az. = 19 = 1159, 0 1449, 0 17410
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Type 5 Radar Waveform_8

Baor=t Pol=e Chirp Hoamber of
Dffset Hidth C(a=) Width Fuolses per |PRT-1 (u=s) |[PRET-2 (us) |[FRT-—3 f(u=s)
(a=) * = MH=z) Buor=st
T16594. 0O S4. 5 1= = 1845 0 1073, 0 1450, 0
TOBRO9. O TO. T 1= = 1937.0 11z24.0 -
2TT3T3. 0 91. 6 13 3 1207.0 1195.0 1521.0
435540, 0 S0.5 13 1 1921.0 - -
B31E661. 0 TO. 5 1= = 15679, 0 1543. 0 -
45009, A 9T. 3 1= = 1152. 0 1513. 0 1TOT. 0O
ZEZ1T1.0 TO. & 1= = 1531.0 1Za0. 0 -
45957TE. 0 5. 7T 1= = 1071.0 1817.0 -
BEEESO. O 51.3 13 = 1542. 0 1077T.0 -
19515. 0 S4. 3 13 1 1362. 0 - -
22364, 0 5.9 1= = 1519. 0 100z, 0 -
4347TT4. 0 50. =2 1= 1 1285. 0 - -
B404z2 0 g4 1 1= = 1402, 0 1134. 0 1Z00. 0
S49TB4. 0 S50. 6 13 1 14351. 0 - -
Type 5 Radar Waveform_9
Boar =t Pal=a Chirp Homber oif
Offset Width Co=) Width Fulses per (FET—1 (oa=s]) [FET—Z (as) |[FET—3F (as)
[ ] (MH) Bor=st
156154, 0 TO. 4 15 = 17Taz. 0 159, 0 -
S1sOaTo. 0 B35 15 1 1405 0 - -
4TS119. 0 TG, 4 15 = 13=0. 0 157TE. O -
540ZTE. O =1.49 15 1 1911, 0 - -
1Z84=Z0. 0 T2, 1 15 = 1sss. 0 1554, 0 -
=gT7T490. 0O [=T= =] 15 = 1541. 0 14=9. 0 -
4STag95. 0 551 15 ] 10550 1565640 10==_0
B1S0z25. 0 95, 4 15 3 1107, 0 1=77T.0 1as7T. 0
1166120 B5. 9 15 = 1&S7T0o. 0 1=9a. 0 -
=TS0sT. 0 (== 15 1 19aa. 0 - -
4397950 553 15 1 1=14._ 0 - -
S95TTS. 0 S35 4 15 ] 11550 1045 0 16550
I5S61. 0 SO, S 15 = 1=739. 0 1665, 0 -
ESS3I66. 0 E=t S S ] 15 1 1514. 0 - -
419910, 0 s5=2.7 15 1 1=z==.0 - -
STSEIZ. 0 596 15 ] 15110 1050 0 1406 0
TTOT1. 0O S=2.9 15 = 1=z10. 0 15=9. 0 -
EIT1ISS. 0 1. = 15 I 1TTS. 0O 1654, 0 1S1S. 0
Type 5 Radar Waveform_10
Bor=t Pual=ea Chirp Homber of
Dffset Width 3 Width Folses per |[PRT—1 (o=s) |[FET—2 (o=]) |[PET—3 (a=s]
(a=s) * = (MH=) Bor=st
4z1214. 0 a7 B 16 ] 191=. 0 1540, 0 1445 0
S9443535. 0 545 16 1 1307, 0 - -
BO40=. O 551 16 ] 1505, 0 1T==. 0 18940
230355, 0 o944 16 ] 1359, 0 1959, 0 15160
A0=Z445. 0O 542 16 1 1415, 0 - -
ST1S59S. 0 S3.0 16 = 1499. 0 15641 . 0 -
SasTE. 0 55,2 16 1 1567T1.0 - -
210455 0 B2 0 16 1 1594, 0 - -
SISOs5STS. 0O S0 1 16 = 114=. 0 1TSS, 0 -
S5Z1=5.0 509 16 1 1575, 0 - -
15627, 0 S5T.T 16 1 1935, 0 - -
15951z 0 554 16 1 1355, 0 - -
355555, 0 91,5 16 ] 1059, 0 1945, 0 19=7T.0
SZ9T3IE. 0O TS, B 16 = 1994, 0 137T=. 0 -
[=3=T=1=1=F R a0, 5 16 ] 1s7T9. 0 16561, 0 12590
16S070. 0 S1.4 16 = 19935, 0 101=. 0 -
3355210 BT. S 16 = 14035, 0 1019, 0 -
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Type 5 Radar Waveform_11

Burst Pulse Chirp Humber of
Dff=et Ridth (as) ¥idth Fulses per |(FRI-1 (us) (PEI-2 (u=) |FRI-3 (u=)
(u=) (MHz) Burst
105849382, 0 Bl.2 9 1 17800 - -
1445554, 0 5. 4 9 3 1382.0 1484.0 15040
313300.0 T3.9 o 2 1586. 0 1111.0 -
BTT104.0 Bz2.0 o 1 1235.0 - -
1059465, 0 TLT o P 1631.0 1241.0 -
1404260, 0 aT. 2 o 1 1064, 0 - -
ZB323T.0 89,4 o 3 19%2.0 1286.0 1271.0
Ba2240.0 23T 5 1 1447.0 - -

Type 5 Radar Waveform_12
Buarst Pual Chirp Homber of
Dffset ¥idth (as) [Hidth Fulses per |PRI-1 (as) [PRI-2 (us) [PRI-3 (us)
(=) * = (MH=z) Bur=st
TIS1593. 0 TE. 8 b= 2 1773.0 14250 -
10252010 az. 2 a 3 1089, 0 1128.0 1221.0
178741, 0 aT. 2 a 3 12430 13800 1759.0
489070, 0 BE. 5 g 2 1744. 0 1T27.0 -
TEOTIZ. 0 BS. T g 1 1086, 0 - -
104394535, 0 TZ.d =3 2 1974.0 147T4.0 -
142904, 0 91.8 =3 3 197T6. 0 1952, 0 1395.0
4533556, 0 T1.4 =3 2 1539.0 1212.0 -
TZ20993. 0 =1 S b= i 1123.0 1TE6. 0 1290. 0
10153250 2. B b= 1 1573.0 - -

Type 5 Radar Waveform_13
g(%z;;:t EETEE e E(E}%E? EEEE? ;et_r FET—1 C(us) |[FEI—2Z (u=s) |[PRT—3 C(u=)
S54S5T. O SS9, S =0 = 141 . 0O 10585, 0O 14570
19917, 0 BES. S =0 1 1==4. 0 — —
S45159. 0 TE. O =0 = 1a00. O 1351 .0 —
4S9SS=. 0 SS9 B =0 1 104=. O — —
S5T=1.0 b= hc = =0 = 1154. 0O 1154. 0O 105=. 0
1s007sS. 0 95, T =0 = 1=01. 0 1545, 0O 1TE=. 0O
SZa0OT9. 0 [=1m B =20 1 1515 0 — —
ABES=S=. 0 SS5. S =0 = 19=5. 0O 1555, 0 1S17T. 0
17T9=1. 0 T4. 1 =0 = 1=Z05. 0O 1=a=. 0 —
15=115. 0 ST. B =0 = 1a=a. 0O 19a0=. 0O 1=z9=_ 0
=F0osao=T. 0 El. 5 =20 1 19s9a. 0 — —
A4S=Z=45. 0 TL. = =0 = 1475, 0O 1=70o. 0 —
T4, O TS. S =0 = 1S=5. 0 1015, 0O —
144505, 0O 4= B =0 = 1=Z=9. 0 19SS, 0 1g7T3a. O
Z8sS590. 0 949, = =0 = 1S6E5. O 1===. 0 1S&e0. 0
A4SS=ST. 0 ST. 0 =0 = 1495 0O 1=10. 0 17TST. 0O
STTST1. 0 91 . & =0 = 1S7TS. 0O 194=. 0O 1404 0O
1=Z6595. 0 a21. = =0 = 1015 0O 1950, 0O 159=. 0
Z2TESSE. 0 S99, 0 =0 1 1=Z=S65. 0 — —
417090 O T, 1 =0 = 100o. O 1=Z15. 0 —
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Type 5 Radar Waveform_14

Borst Pal=e Cyirp Homber of
DEf=at Width C(a=) Width Fulsexs per |[FRTI—1 (uxs) |[FRI—Z (uas) |[FRI—3F (u=s)
(a=) (MH=z) Bur=t
T49=201. 0 TS. 9 135 = 1TS7T. 0 15355. 0 -
145722, 0 aT. 4 13 e 1117.0 1050, 0 1099, 0
SESS93.0 a5, T 1= ] 135T.0 1=z95.0 1949, 0
5314260 0. G 13 3 1075. 0 1365, 0 1972, 0
TES106. 0 TS 4 13 =2 1647T. 0 1971.0 -
121559. 0 a0, & 13 3 1039. 0 1456. 0 1009, 0
315231, 0 BS.1 135 = 15z0. 0 1563, 0 -
SaTSs01.0 5. = 135 3 18390, 0 150=. 0 147T1. 0
TOISZ0. 0 [~ K S 1= 1 1114. 0 - -
95014, 0 S50 13 3 1315. 0 17330 1110. 0
Z9z139. 0 [=1= ] 13 1 1127.0 - -
453789, 0 S4.0 13 3 1660. 0 159z 0 1z64. 0
BTIS46. 0 S6.T 13 1 1z40. 0 - -
T4S=0. 0 TE. 9 135 = 1359.0 15935, 0 -
ZES115. 0 =12 1= 1 1597T.0 - -
Type 5 Radar Waveform_15
Buorct Pul=e Cyirp Humber of
Off=et Wodal C(m=) |Hidth Pul=ze=s per |[PET—1 (u=) |[PRT-—2 (us) [PRT-3 Cu=)
(a=s) (MH=) Bur=st
4F3Z997T. 0 BS. 5 15 1 15150 - -
511359, 0 Q1.3 15 = 1ae=. 0 17Oz 0O 1534, 0
47T4TT. O 51.6 15 1 1=z45. 0 - -
Z290s0. 0 54.5 15 1 1z91. 0 - -
4094=7T. 0 Tr. =2 15 = 1635, 0 157TS. 0 -
S919s1 .0 51.93 15 1 1a07T. 0 - -
Z50%4. 0 S=.0 15 = 1T1iT. 0O 11aT.0 -
ZOG1356. 0 G5, =2 15 = 155=. 0 1T=Z6.0 -
SI5S0Z9. 0 51.5 15 1 1TT=. 0 - -
SETTIG. O Q=35 15 =] 111=. 0 167S. 0 1=z99.0
27390 5T.5 15 1 ia7T4. 0 - -
154=45. 0 B35, 4 15 1 1505, O - -
SE4589. 0 94, 7T 15 S i1017T. 0 1611. 0O 1409, 0
S4EEZ1. 0 BT.T 15 = 1051, 0 141=. 0 -
TZTT14. 0 TS. T 15 = 1o0=7T.0 156490 -
1515520 S1.4 15 = 1a9s. 0 147TT. 0O -
Type 5 Radar Waveform_16
Bar=t Al Chirp Hombexr ok
Dffset Width Ca=) Width Polses per FRYT 1 tos FRIT 2 L ] RT3 LG |
(o= (AH=} Bor st
IOS3z2S. 0 S0 5 1= 1 1251. 0 - -
ASEZ23. 0 B2 4 1= 1 1945, 0 - -
BES126. 0 55 5 15 1 1=17. 0 - -
1237450 TG, S 15 = 1354, 0 1615. 0 -
254075, 0 g9z 2 15 ] 1735, 0 16354, 0 10510
445632, 0 [S1= I =] 1s = 11=a. 0 15=25. 0 -
BOSSSES. O S5 5 1s b= 1094, 0 1=19. 0 1T1i=. 0
10Z3TEaZ. 0O S 5 S | 1s b= 1054, 0 1=z42. 0 1544, 0
Zes312. 0 526 1= 1 1=s90. 0 - -
AZS59sT. 0O TS, & 1= = 1==1. 0 14z==. 0 -
S8S316. 0 (=% S =] 15 1 12740 - -
S4035. 0 T4 35 15 = 1720, 0 165T. 0 -
244404 0 S5 1 15 ] 1=91. 0 17TTrT. 0 15510
405240, O Tl1. & 1s = 1097, 0 1516. 0 -
SEE554. O TT. S 1s = 1561=. 0 1T13. 0 -
B4S5T. O 5. & 1s 1 1551. 0 - -
ZEsssa. 0 =135 1= 1 1900, 0 - -
IESEZ2T. 0O 1.3 1= = 1=z57T.0 14==. 0 1z=4. 0
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Type 5 Radar Waveform_17

Burst Pulse Chirp Huomber of
Offset Width (as) ¥idth Fulzes per (FRI-1 (us) |FRI-Z (ux) [FRI-3 (u=)
(us) ' 255 (MHz) Burst
1233855.0 g3.3 2 P 1505.0 1850. 0 -
100125.0 95, 2 2 3 1551.0 1426. 0 1396.0
4BZ2BT3. 0 0.0 2 3 1T05.0 15440 1T32.0
825344, 0 a6, 4 2 3 1873.0 1926.0 1024.0
1159457.0 g1.49 2 z 162T.0 1333.0 -
25488, 0 .2 2 2 1973.0 1218.0 -
417377, 0 9z2.9 2 3 1595.0 1574. 0 1929.0
TE25T3.0 B4, 2 2 1 1129.0 - -
Type 5 Radar Waveform_18
g:‘;::t Edl=s 51:.11:1’; 1'53222 ;efr PREI—1 f(u=) |[PERT—2 (us) |[PRT—3 C(a=s)
(=) Width (a=) | gey.) Bur=t
STOlaa. O Q3.3 15 = 1485, 0 1554 0 101a. 0
SE65. 0 95, 3 15 =] 1554, 0 115T.0 15=7T.0
15545, 0 BT.S 15 = 1z99. 0 1509, 0 -
SFETS1T. 0O Tr. 4 15 = 193=. 0 147TE._ 0O -
S4g9z44. 0 TI. 4 15 = 1455, 0 1032, 0 -
TIO1=ZZ2. 0 T™r. 5 15 = 1=70. 0 15560 -
1541400 G5. 5 15 S 1171. 0 12353T.0 100a. 0
FI45320. 0 [=1= = 15 1 1014. 0 - -
SZ2TSGE. 0 B5. 4 15 1 116=. 0 - -
TOS425. 0 T1. 6B 15 = 1079, 0 12020 -
14=145. 0O 51.1 15 1 1TSE&. O - -
SI23TEG. 0O 50,1 15 1 1425 0 - -
S05S=295. 0 59.1 15 1 1457T. 0 - -
BS4305. 0 aa. 1 15 = 1Tsa. 0 12330 119s. 0
1197940 SE. 3 15 1 1Ts=. 0 - -
SO0ESE. 0 BT. 4 15 = 1Sz, 0 1=99. 0 -
Type 5 Radar Waveform_19
Buorst Pol=e Chirp Homber of
Offzet Width (u=) Width Fulses per [FRI-1 (u=) (FEIT-Z (uxs) |FRETI-3 (u=)
(as=) (MHz) Burst
TOZE1Z2. 0 52,1 g 1 1562. 0 - -
gE4016. O 93. 6 =] 3 1870, 0 1530.0 1733.0
1415681. 0 8T.1 =] 3 1303, 0 1352.0 1252.0
4053560 55. 6 =] 1 18620 - -
BERES33. 0 aT. 1 =] 3 1557T. 0 1200, 0 1129.0
933397.0 a0, 2 =] 2 1397.0 1416. 0 -
109295, 0 B4, T =] 1 1837.0 - -
3TZ356.0 935.0 =] 3 1655, 0 1923.0 1355.0
B3ITTI. 0O Bl1.5 =] 1 1435. 0 - -
qozies. 0 53.3 =] 1 1270.0 - -
TES4E. O G4, 4 =] 3 1980, 0 1392.0 14960
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Type 5 Radar Waveform_20

Buar=st Pul=e Chirp Homber of
Dffset Width C(u=) Width Pul=e=s per ([PRT-1 (u=s) [PRT-2 (u=s) [PRT3F (u=s)
(ax) (MH=z) Bur=t
287TTT5.0 853. 5 11 3 1560.0 11420 1004. 0
510154. 0 91. 5 11 <] 1165. 0 18650 1Ta1.0
T35154.0 B4, = 11 1 19200 - -
IT3TO.0 50.5 11 2 1Ta&. 0O 11090 -
ZBO0335. 0 TS, 4 11 2 1a7T.0 1427.0 -
452520. 0 S4.0 11 3 1149.0 150350 1640. 0
TOTO3S. 0O TS, 0O 11 = 1419.0 1277T.0 -
9ET5. 0 T5.4Q 11 = 1156. 0 1307. 0 -
2325838T.0 a7T. 2 11 3 1295. 0 1155. 0 1054. 0
458312, 0 EE. 4 11 1 1504. 0 - -
BET3181.0 TS. 3 11 2 12585. 0 1925. 0 -
Q043=590. 0 55.1 11 1 10355. 0 - -
205144, 0 5T. 1 11 3 1555. 0 186360 1535. 0
Type 5 Radar Waveform_21
Bar =t TPl mo Chirp Hoamber ot
%£§§et EEEESE  GeeT 1;;:? g:i::s per [FRT—1 (u=) |[FRET—F (u=) |[FPET—3F C(a=)
FTTI0OZ. O EEl =0 = 1SES. O 19=4. 0O 1S5S4, 0
dZzEss. O To. s =0 = 1S=5. 0 1=ES. O —
SESTES. 0O sE = =n 1 1ma9. 0 — —
115755, 0O == =0 1 1E=E. 0O — —
ZEOTTZ. O S a =0 1 1984, O — —
A0EZ01. O s1.7 =0 1 1=47. 0O — —
Sq40466. O Sz 1 =0 = 1459, 0 1958, 0O —
avaaT. 0 a7 = =n = 1753 0 1=58. 0 1=16. 0O
FaZzaE. O Bl =0 = 1=19. 0 1051, 0 1===. 0
SETS4A0. O T = =0 = 1545, 0O 1zs0. 0 —
SSozZEd. O EEN= =0 = 18435, 0 1552, 0 1529, 0
Taasa. 0 Bl =n = 1==a. 0 10700 —
FEZ40TE. O an. = =0 = 1EST. O 17910 1oms. 0
SESSE0. O EE= =0 = 1S=5. 0 1z04. 0O 1=1=. 0
S14266. O BT, 1 =0 = 1552, 0 1130, 0 —
BEEeA . 0 BI T =n 1 10568 0 — —
FOBZOS. O EEls =0 = 1T4S. O 1882, 0O 1O0ST. 0
SS1a64. O Ta. @ =0 = 1165, 0 1=z, 0O —
497TE4S. O BS. = =0 1 1Ss00. 0 — —
aaz0s. 0 o0 =n = 17T=a. 0 1063 0 —
Type 5 Radar Waveform_22
Bar=t Pl Chirp Hamber of
?ﬁ:iet S 1;:;? ;:1::5 per |[FRT—1 (u=) |PRT—F C(o=> ([PRT-—ZF Ca=d
1SS0eT. O EERE =0 = 1975, 0 1985, 0 1945, O
IHASSS. O s=. = =0 1 1957, 0 — —
4Tasa1. 0 B5. 1 =0 1 1544, O — —
ZE410. 0 1.1 =0 1 1736, O — —
1TOBRSE. O @1 1 =n = 17v1@. N0 1626 N0 1355 0
S1S5az6. 0 = =n = 1935 0 1055 0 —
AB1S=S1. 0 BE. 1 =0 1 19E0. 0 — —
S513. 0 S1.1 =0 = 1495, O 1900, 0 —
1SS2ESE. O To. 1 =0 = 17TE@. O 1445, 0 —
Zasiiz. 0 sa. = =0 = 1=49. 0 17300 —
ad4azas 0O =1 0 =n 1 1174 0 — —
SaTaz6. 0 B o =n = 1655 0 107= N —
1ES251. 0 EERE =0 = 1511, 0 1118, 0 1850, 0
ETa0=s. O EERE =0 = 1905, O 1731, 0 1951, 0
AzdSSE. O To. 1 =0 = 185z, O 1Ss7T. O —
STOszz. O BET. & =0 = 11500 1011. 0 —
117735, 0O TS, 4 =0 = 1085, O 1455, O —
PERIPSE. 0 S5 o =n 1 1135 0 — —
40TSZ1. 0 Ta. S =0 = 1Ss=z=. 0 1335, 0 —
SSso0T0. 0 EERE =0 1 1559, 0 — —
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Type 5 Radar Waveform_23

Burst Pulse Chirp Huomber of
Off=et Width (as) Width Fulses per [FRI-1 f(uxs) (FRT-2 (usz) |[FRI-3 (us)
(ns) (MHz) Burst
2223T8.0 T1.3 T z2 1739. 0 1349.0 -
244269, 0 aT7. 2 T 3 10a1.0 1835.0 1983.0
SET145.0 94,7 T 3 1209.0 1105.0 1525.0
1190087, 0 B3.9 T z 15845.0 14420 -
182T32.0 0.0 T z2 1444 0 10356, 0 -
o04323.0 a7. 3 T 3 1855.0 1871.0 1852.0
S26699.0 88,3 T 3 1542.0 1621.0 1857.0
1149723, 0 99. 5 T 3 11869.0 1595. 0 1254. 0
143093, 0 B0. 49 T 1 1371.0 - -
Type 5 Radar Waveform_24
Buorst Pol=e C]_lirp Homber of
ZZ04=0. O (=== 13 1 17To9. O - -
SIT3SsB=. 0 L0 i = 19 1 10=7. 0 - -
S5=4111 .0 915 19 = 1575 0O 1as0o. O 1=94. 0O
43Ege. O [=4= . = 13 1 111=. 0 - -
ZO00BE=S. O =S5 =2 19 = 15=1. 0 1=00. O 1=Z95. 0
S5Z504. 0 94 4 19 = 15450 1594 0O 1iTBES. O
SoOSooz. O SE. 4 13 = 1454 0O 15280 1=7T4. 0
=00osga. 0O [ =T C 19 1 1151. 0 - -
1S=7Ts7T. 0 55.0 19 1 1544 0O - -
SI3ISSSS. 0 B4, 9 13 1 1T1S. 0O - -
ASEOTA. O 90, T 19 = 15==. 0 10=7. 0 1340, 0
1117s. O S5 6 19 = 1497T. 0O 1154 0O 153590
154114, 0 So.9 13 1 1194 0 - -
Flells. O BT. 1 13 = 1ze7T. 0 1es9. 0
4551==._ 0 59 6B 19 = 167T=_0 1594 0O
BZOZ4=. 0O T1. 5 13 = 1915. 0 1545, 0O -
145=15. 0 5T. 3= 13 1 104%. 0O - -
ZOEG1S. O 0. 0O 19 = 154=. 0 1197. 0 14=7T. 0
449ql==. 0O Q0. & 13 = 10z93. 0 12320 1635 0
Type 5 Radar Waveform_25
Burst Fulse Chirp Homber of
Offset Width (us) Width Fulsexz per |[FEI-1 (us) |[FRI-Z2 (u=s) |[FRI-3 (uxs)
(=) * s (MH=z) Bur=st
1044150, 0 B4, 1 ] 1 1049.0 - -
Z21TaBs. 0 99. & 9 3 1353.0 1489.0 1435, 0
451417T.0 89. 8 ] 3 12060 1254.0 1995. 0
T46155. 0 T4, T 9 2 1434.0 1231.0 -
1007815, 0 a5, 4 ] 3 17TOS. 0 1410.0 1996. 0
158024, 0 E5. 9 =] 1 12368.0 - -
445524, 0 5. 3 ] 3 1953.0 1185.0 16300
TizO074. 0 g95.9 =] 3 1643, 0 1421.0 1995. 0
9TETS4. 0 5T.5 9 1 13Z6.0 - -
152955. 0 a6, 2 ] 3 16TT.0 1304. 0 1896. 0
41TZ20.0 Ti. 1 9 = 12T2.0 1350.0 -
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Type 5 Radar Waveform_26

Buorst Ful Chirp Hamber of
Off=et '.df; (as) |Hidth Fulszex per [PRI-1 f(us) |[FRI-2 (u=) ([PET-3 C(us)
(a=] * — (MHz) Bur=t
BER4F1. 0 93, G 10 3 1959, 0 1656 0O 1859. 0
SE4559. 0 g4.5 10 3 1825. 0 1450.0 1151.0
110832, 0 BE. 4 10 1 1211.0 - -
F5PEAT. O TO. 2 10 = 1092. 0 1317.0 -
594932, 0 5T.9 10 1 1841.0 - -
37395, 0 B5.5 10 1 1357.0 - -
S0956. 0 59.5 10 1 1312.0 - -
FEE405. 0 BT. 4 10 = 1549.0 1909. 0 -
SES5EG. O 55. 2 10 1 1040. 0 - -
S07TS59T. 0 55. 2 10 1 1347.0 - -
S0095. 0 83T 10 3 1855, 0 1205. 0 1255. 0
95172, 0 55,2 10 1 1965, 0 - -
Type 5 Radar Waveform_27
Borst Ful Chirp Homber of
Dff=et = ¥idth Polze=z per |([PRI-1 (us) |[PRI-Z (u=s) [PFRI-3 (u=])
Width (us) I
(n=]) 1 M (MHz) Buor=t
583322, 0 BS. 9 g 1856. 0 1336. 0 -
545975, 0 93. 9 g 3 1108. 0 1700.0 1867.0
Z3195. 0 g8.9 g 3 1494. 0 1565. 0 1105. 0
Z8TZ13.0 T4, 3 8 z 1462. 0 1005. 0 -
5505355, 0 TO. 3 8 z 1325.0 1812.0 -
14709, 0 g0. 1 8 z 1244. 0 15847.0 -
10T8EST. O 5.0 8 z 1513.0 1459.0 -
ZE4Z2E. 0 a7. 5 8 3 1341.0 1830.0 1306.0
5158535, 0 TET 5 z 1625.0 1133.0 -
TE3380. 0 5T. 2 g 1 1466 0 - -
1045055, 0 aT7. & g 3 1806 0 1401.0 1076. 0
Type 5 Radar Waveform_28
= Euilss Erran Heeoer =2 FPRT—1 f(a=x) |[PRAT—2 (ua=x) |[PRT—3F C(u=)
Eus?e Widethh o=k (;Hz) Bur:ES L= - = - o= - =
121495, 0 S5. 5 =0 = 16T&. O 13=5. 0 1sS0z. 0
ZETISE. O El1. 4 =20 1 14=0. 0 — —
411115 0O TE . 4 =20 = 1S57T7T. 0 1905 O —
SSsa0l1s. 0O TS. 3 =0 = 1848 O 1S90, O —
10=S493. O b=1 = =0 = 11==. 0 114, O 17T, O
=Z49z==4. O 5= 5 =20 1 1556 0 — —
S99==2354. 0 S5, 4 =0 = | 17Ts.0a 15790 1735, 0
S3a9ST. O E=T= = =0 = 1935, 0 135=. 0O 1S=4. 0
Se1T1. 0 TS, S =0 = 117T=. 0 1954, O —
=Z31=00. 0 [=T= = =0 = 1101 . O 1534=. O —
ST4395 . 0O =s=.93a =20 = 108z 0 12220 151=. 0
S20174. O T1. 1 =20 = 1747, 0O 1704, O —
BES4TS. O Se. 1 =0 1 198z 0 — —
=Z13534355. 0 [=3=1 =0 = 1190, 0 101=. O —
=FST9s0. O =s0. = =20 = 1=S=s0. 0 10=9. 0 —
S04114 0O 5Qa. = =20 1 13590 — —
So0ae=0. O S4. 0 =0 1 17TS0O. O — —
195905, O E1.9 =0 1 11958. 0 — —
=FE3QzZ=35. 0 (=]n ) =20 = 1145. 0 15=1. 0 1455, 0O
454955 0 1.7 =20 = 1605 0 13270 —
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Type 5 Radar Waveform_29

Baorst Pol=e Chirp Haomber of
Dffzet Width (as) Width Fulses per |[FRTI-1 (u=) |[FEI-2 (us) (FEI-3 (ux)
(o=) (MHz) Bur=st
E9E52. 0 853 g 1153.0 1126. 0 10z20.0
3234120 S0, 4 g 2 1415.0 1612.0 -
S5EZ52. 0 b= (= g 3 1z80.0 1655. 0 1924.0
851850, 0 TO. 9 g 2 1015.0 1314. 0 -
27072.0 g0.49 g 2 137TE. 0 1440. 0 -
2915450 56,5 g 1 1412.0 - -
ES4B2T. 0O 21,7 g 2 17T15.0 14520 -
S157T11.0 5. 5 g 2 1119.0 17TBE. 0 -
1053915, 0 BS. 5 g 1 1555. 0 - -
2522850 82,5 g 2 1795, 0 1TET. O -
521554, 0 95. 5 g 3 1400. 0 1745, 0 1345.0
Type 5 Radar Waveform_30
Buar=t el Chi-p Haomber of
?igiet Ei R e 1;;;? Pul=ex per |PRI-1 (a=) |[PRT—2 C(a=3 |PRT—ZF Cua=2
ATS01T. O as. 5 15 = =000, O 17TE5. 0 1556, 0
EIST4AS. O 6. & 15 = 1sz0. 0 1193. 0 1533, 0
1ETESS. O =6, 5 1= = 1m00. 0 1044, 0 1z=z. 0
ZaST49. O =0, 5 15 = 1917. 0 1150. 0 -
450590, O s5. 8 15 1 1TT3. 0 - -
E1000S. O 5. 5 1= = 1@z, 0 17oz. 0 1805, 0
11TETE. O S8, T 15 = 1493, 0 1515. 0 1755, 0
=7T9446. O B3. 5 15 1 1826, 0 - -
440801. O B3.8 14 1 1510, 0 - -
BEO1Z4Z 0 T1 8 158 = 1E3T. 0 1256 0 -
SESET. 0 SE. T 15 1 1506, O - -
zSaesa. O s4.9 15 1 1Ssa. 0 - -
4i191za. 0 =5, 1 1= = 1ZEZ. 0O 18a7. 0 1553, 0
STas1s. O =5. 0 15 = 1131. 0 17TE0. 0 151z. 0
TEzE1. 0 T=. T 15 = 1595, 0 1514. 0 -
z@azoa. O =z 5 1= = 1041. 0 1825, 0 -
401073, O 55, 1 15 1 1651. 0 - -
SEOZTE. O 9.5 15 = 1030, 0 1470. 0 1616. 0
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Radar Type 6 - Radar Statistical Performance

Trail #

1=Detection

0=No Detection

Trail #

1=Detection

0=No Detection

—_

1

16

1

1

17

1

18

19

20

21

22

23

O | | N |BdlW|DN

24

-
o

25

—_
—_

26

—_
N

27

-
w

28

—
o

1

29

—_
(¢,

1

30

Detection Percentage (%)

100%

Type 6 Radar Waveform_1

F o e g e e e e

T :—n T [0} h = = 3

[n ] S=T= S==s SE5= =3E=AaT SEES
= [==d = S=Za1 SSa= S4a5E Sa=1
A == =1 S==9 S=Ta S5539 ST1
15 ST1= SasS0 SEl1= S=51 Sa55
=1 = mi=] SSaa SEEE S535T S551=
=0 S54549 =1=1=lrg S=T5 SE=T1 S5E95
=1 ] S53T= 5541 SE55 S59T S4a0=
== SeZ2S SS9 SETa S-eg =505
o] SSES0 SEaS SE40 S55S =Sl
L 3= SS0a SSE2ES SESE SETT SESE
=0 =TS S=Z59 [==d = S=ET SEST
=4 = SSa0 Sae=1 S35 SS2 ==1=
50 [=pei=11 S=T1 SEST S5E1 =S54
[ =1 = [ e === ] SESa ==00 S=Ta
T =3ag S=ETE STaT =450 SS59
= SEIS=E =S4T SZF3T =T=0 STO1
i S36S (=1 =1m ] S=14 S=S5= S=S55
85 =ss59 S=aS SSaT S55= SETE
L=1n | === S=S=1 S=Z351 S5 SEa1
k= =] S511 S55TS S5=5T STOS SE55S
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Type 6 Radar Waveform_2

it tmney |© 2 = = =+

(8 ] 5527 S5S5656T SZ5S S50S SSSS
= SES5S SaE1 S&a1S SS5S= Sa=5
A0 SadE S&E03= =1 = = S=Ta SZ50
1= STOas S50O07T =sST1S SESE5 SES0
=l b | S==0 S4=5= =To SsSS=9 S4SS
== S=47T SS4a5 =S=TS S5 =414
=0 5315 S=25= =471 == R=1=1 S=9=
=55 S54= SE== = A= =1 =h=1 Y S545
=Rk SSTS S405 S541 SESE SE0OE
L 3= S57T17T S350 S5 5535 S416
=i S=10 =544 SSSS SaSa S=T=
E= =4 5511 =S40= ST == = S=Z16
(=1m ] SBES5S S515 S=55 5554 S=55
[ = 1= S=T= S4a4=0 S4=9 S==1 S53T5E
s 555 = = = I=1==d =] (=== 1= S4=0
= S53TT === =T14 SB=- S5=593
E=m ] S=50 SS== =s=59 S=0T SZ51
=5 5545 sSTES S5 S5 SETS
=1 n | SETS =sSeg SE05 SESS SEEE
b= L= S=a9 S&EEQO SES SESE S=TS

Type 6 Radar Waveform_3

rize tmnzy |O 2 = = =

(m ] S=07T S==1 =1 =1=1=] = =1 =] Sa=T
= =474 (=1 =S [=1 == b =1=1=1=4 =380
A0 S45s9 =1=1=1 =] =1="hr 3 S5=51 5516
15 Ss=59 =ST=1 ==T1 ==aT SE=S
=i =1 =1=1=] =1 =t A= == =] Sqa5= S5E13=
== S=9S S555= S5TE SaAGE S4556
= S4156 S5=T= S456T SE=5 S54=1
== S4=1 S4=5S S=00 S55= == ]
L 1n ] ===t =] =E516 L= 3 ] S40= S47T3=
1= S544 sSBS9 SE35S SSE=29 =41
=i sSSa= S=551 SS=0 =411 S4=5
== =151 SSs=9 S=EE5 ==51 Sa5
(=18 ] s==1 [==4 =0 § == S S535 SETE
[ =1 = 5555 STaT S405 S630 53=1
T S==4 SS=0 S4TE S40= S40=
= Sa=T =1 =] =T1s == Y =1 =1 =
=50 S5=49 S5455 S0 SZa0 SE2ESS
{5 L= S458= SB=4 S=549 SBTT SB1=
=1 n | =sS4ag SE51 ==515 =554 SE51S
b= L= SETS S=4= === SSEE =g == |

Type 6 Radar Waveform_4

I:oe tmizy |O 2 = = B

(8 ] E=E 11 = =1=argn | SE== S=Es SE4T
= 55156 SEOS S=95 5555 SE6
A0 S=Z51 S=TS =1 =1=hr SET=E S=0=
1= E=E Im R (= = =S=40 S=19 == =i=]
=2 5555 SEGS 5556 S510 5451
== E=t=m i § S=50 ==10 SE=0 =SSono
=0 S495 S30s SToO4 SSSS =SS9T
== ST15 S4TS S==93 L= m =] =S50
=Lk ==T1 = =] S&511 =151 [="hr g ]
L 1= S400 sS40z S5=4 SE=gT =411
=i Sal1l5 S=41= S&193 S=TS S549
== =a9= = =1 A= S=== =TOs SES1
510 5595 S35 S6== S405 SE56
[ = 1= S Sa45= =sS9l1 SS5= ===
T =aTa SEBE== S=T= L= RN Y S=a44=
= S350 SBE6439 S55=93 S4a=-9g SE561
t=1m ] SS=0 SSO=S S=5T SS4as SEES
=5 SE5EE= = =g =1 =551 S==1 S=25=
S S5=55 S=T= 5551 S=9390 =711
b= L= Sa=T = = 1= S=01 Sa= Sa455
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Type 6 Radar Waveform_5

rice tmnzy |O 2 = = =

(] ST=0 === ==T1 S419 S4=3
= ===t S&E=0 S=E6S S54a5 S=956
A E ] SEET =S54 sSZE= S=9= S===
1= Sa4a= 55135 sS4z SS5 Sa40=
=21 ST== 5559 SE=4 =1=h=1=] S404
=5 S=ga= S&T4 =pc {m =] S4=T S53=T
= S=a1 Sa51 = =g ==t A= S4=93
== SE1= S==0 =1 L= STa= S===
L 1n ] S=0= I=1=1=11 =R S =] [=hci= SToa
L 3= S50 =519 S454 SES1 5544
=i S453 S485 STaS S55= S556=
=5 Sa4aT STOS S=E5T SSS1 =ST=E=
(=1 ] SEBEES SSE= =1 =1m L= =1 =1 m L= S===
[ == [= == Sa4== =] S [=4=4 =1 =1 S=a0
T 5579 S4a451 S354 S40= SSE0
= 5557 S47T= S44= SBSa S5=54
t=1m ] = S =544 S545 ST== SaES=
8= == = SSET =1= N =] S=g9= Sa495
L= 18| =331 S=EE S0 S4z=7T SEeas
L= L= SO0 S355 SSs9a SEISES S=Zoa

Type 6 Radar Waveform_6

rioe tmnzy |O 2 = = =

(m ] (=1=1m|m| SST= =1="m b (=1=t={m]| =g m =]
= Se00 === = sS4z L= = = Se0=
A0 5595 5551 SS04 5557 5544
15 S455S SS4a= =409 === 1=1 sS=5S
=i Sa== SSES SEd1 S=TT SESDS
== 5525 ST1G S413= =471 SaeTa
= SB15 5540 S5=5 S=59 S=TE
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6. CONCLUSION

The data collected relate only the item(s) tested and show that the device is in compliance with FCC

Rules.

The End
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Appendix A - Test Setup Photograph

Refer to “2105TW0602-Test setup photo” file.
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Appendix B-EUT Photograph
Refer to “2105TW0602-EUT photo” file.
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